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cky fodkl vkSj f'k{kk'kkL=   |   1

v/;k;
1

1. fodkl ,d ------------ izfØ;k gS ftldh 'kq#vkr 
------------ ds le; gksrh gSA

  (A) thou Hkj pyus okyh_ xHkZèkkj.k

  (B) thou Hkj pyus okyh_ tUe

  (C) cpiu ds nkSjku gksus okyh_ xHkZèkkj.k

  (D) cpiu ds nkSju gksus okyh_ tUe
CTET (6-8) 30-01-2023

2. fodkl dh çfØ;k dh D;k fo'ks"krk,¡ gSa\

  (i) ;g çfØ;k cpiu rd lhfer gSA

  (ii) ;g thou Hkj pyus okyh çfØ;k gSA

  (iii) bldh 'kq#vkr tUe ds le; gksrh gSA

  (iv) bldh 'kq#vkr xHkZèkkj.k ds le; gksrh 
gSA

  lgh fodYi pqusaµ
  (A) (i), (iii) (B) (i), (iv)

  (C) (ii), (iii) (D) (ii), (iv)

CTET (6-8) 28-01-2023

3. fodkl dh ^laosnu'khy vofèk* ls D;k rkRi;Z 
gS \

  (A) og le; vofèk tc cPps vfèkxe ds dqN 
çdkjksa ds çfr rRij gSaA

  (B) og le; vofèk tc cPps cgqr Hkkoqd 
gksrs gSaA

  (C) xHkZèkkj.k ls tUe rd dh le; vofèkA

  (D) 'kS'kokoLFkk ls fd'kksjkoLFkk rd dh le; 
vofèkA

CTET (6-8) 28-01-2023

4. N% ls X;kjg o"kZ rd ds dky dks D;k dgk 
tkrk gS \

  (A) 'kS'kokoLFkk

  (B) çkjafHkd ckY;koLFkk

  (C) ekè;fed ckY;koLFkk

  (D) iwoZ lafØ;kRed
CTET (6-8) 20-01-2023

5. fdl mez esa cPpksa ds fØ;kdyki izeq[kr% cM+h 
ek¡lisf'k;ksa ds LFkwy xfr ds iz;ksx dj dsfUær 
gksrs gSa ctk, lw{e xfr dk;Z ds\

  (A) 'kS'kokoLFkk 

  (B) izkjfEHkd ckY;koLFkk

  (C) fd'kksjkoLFkk

  (D) ekè;fed ckY;koLFkk
CTET (6-8) 13-01-2023

6. dFku (A) : cPpksa o cpiu dh ladYiuk 

lkoZHkkSfed ugha gks ldrhA

  rdZ (R) : cPpksa o cpiu dh le> esa 
muds lkekftd lkaLÏfrd 

ifjos'k dh dksbZ Hkwfedk ugha 

gSA

  lgh fodYi pqusaA

  (A) (A) vkSj (R) nksuksa lgh gaS vkSj (R) lgh 
O;k[;k djrk gS (A) dhA

  (B) (A) vkSj (R) nksuksa lgh gSa] ysfdu (R) 

lgh O;k[;k ugha gS (A) dhA

  (C) (A) lgh gS] ysfdu (R) xyr gSA

  (D) (A) vkSj (R) nksuksa xyr gSaA
[CTET (VI to VIII) 08-01-2022]

7. cPpksa ds fodkl ds lanHkZ esa dkSu&lk dFku 

lgh gS \

  (A) fodkl iw.kZ :i ls vkuqoaf'kdrk ls fuèkkZfjr 

gksrk gSA

  (B) fodkl iw.kZ :i ls i;kZoj.k }kjk fuèkkZfjr 

gksrk gSA

  (C) fodkl esa nksuksa vkuqoaf'kdrk o i;kZoj.k 

dh vU;ksU; fØ;kRed Hkwfedk gSA

  (D) rhu&pkSFkkbZ y{k.k tUetkr gksrs gSa rFkk 

ckdh i;kZoj.k }kjk fuèkkZfjr gksrs gSaA
[CTET (VI to VIII) 08-01-2022]

8. ckY;koLFkk ls D;k vfHkçk; gS \

  (A) ;g ,d lkekftd lajpuk gSA

  (B) ;g ,d 'kkjhfjd lajpuk gSA

  (C) ;g cPps ds tUe ls ysdj mlds fo|ky; 

tkuk 'kq: djus rd dh vofèk dks 

vfHkyf{kr djus okyk pj.k gSA

  (D) ;g fodkl dh og vofèk gS] ftlesa flQZ 

ek=kRed ifjorZu gksrs gSaA
[CTET (VI to VIII) 06-01-2022]

9. cky fodkl ds ledkyhu ifjçs{; %

  (A) cPps dks ,d tSfod çoxZ ds :i esa ns[krs 
gSaA

  (B) cPps dks ,d nSfgd lRo ds :i esa ns[krs 
gSaA

  (C) ckY;koLFkk dks fof'k"V pj.kksa esa foHkkftr 
ekurs gSaA

  (D) ckY;koLFkk dks ,d fof'k"V lkaLÏfrd ,oa 
lkekftd lajpuk ekurs gSaA

[CTET (VI to VIII) 06-01-2022]

10. fuEufyf[kr okD;ksa esa dkSu&lk fodkl ds fo"k; 
esa lgh ugha gS \

  (A) fodkl cgqvk;keh ,oa cgqeq[kh gksrk gSA

  (B) lkaLÏfrd ifjorZu ls fodkl çHkkfor 
ugha gksrkA

  (C) fodkl thou i;ZUr ifjorZu dh çfØ;k 
gSA

  (D) fodkl lqfuf'pr iwoZ fuèkkZfjr jhfr ls 
gksrk gSA

[CTET (VI to VIII) 24-12-2021]

11. vfèkxe ds lanHkZ esa fuEufyf[kr esa ls dkSu&lk 
dFku lgh gS \

  (A) Nk= lcls vPNk rc lh[krs gSa] tc os 
lkaLÏfrd :i ls vçklafxd xfrfofèk;ksa 
esa Hkkx ysrs gSaA

  (B) lkFkZd xfrfofèk;ksa esa Hkkx ysus ij Nk= 
lcls vPNk lh[krs gSaA

  (C) Nk= lcls de rc lh[krs gSa] tc os 
lkaLÏfrd :i ls çklafxd xfrfofèk;ksa 
esa Hkkx ysrs gSaA

  (D) fo|kFkhZ lcls de lh[krs gSa] tc os  
lkFkZd xfrfofèk;ksa esa Hkkx ysrs gSaA

[CTET (VI to VIII) 04-01-2022]

12. fodkl ds fdl pj.k esa cgqr ls gkeksZu lacaèkh 
ifjorZu gksrs gSa rFkk viuh igpku dh lfØ; 
[kkst ij cy gksrk gS \

  (A) fd'kksjkoLFkk

  (B) 'kS'kokoLFkk

  (C) çkjfEHkd ckY;koLFkk

  (D) ekè;fed ckY;koLFkk
[CTET (VI to VIII) 30-12-2021]

13. dFku (A) : Hkk"kk fodkl dsoy 'kS'k-okoLFkk ds 
nkSjku gksrk gS vkSj blfy, dsoy 'kS'kokoLFkk 
rd gh mi;qä míhiu çnku djuk pkfg,

  rdZ (R) : 'kq#vkrh o"kks± ds nkSjku vuqHko fd, 
x, udkjkRed okrkoj.k dk nh?kZdkfyd çHkko 
ugha gksrkA

fodkl dh vo/kkj.kk ,oa mldk vf/kxe ls lEcU/k
(Concept of Development and Its 

Relation to Learning)
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  lgh fodYi pqusa

  (A) (A) vkSj (R) nksuksa lgh gaS vkSj (R) lgh 
O;k[;k djrk gS (A) dhA

  (B) (A) vkSj (R) nksuksa lgh gSa] ysfdu (R) 

lgh O;k[;k ugha gS (A) dhA

  (C) (A) lgh gS] ysfdu (R) xyr gSA

  (D) (A) vkSj (R) nksuksa xyr gSaA
[CTET (VI to VIII) 30-12-2021]

14. fdl vofèk ds nkSjku fopkj vewrZ vkSj 
vkn'kZoknh gks tkrk gS \

  (A) 'kS'kokoLFkk (B) çkjfEHkd cpiu

  (C) eè; cpiu (D) fd'kksjkoLFkk
[CTET (VI to VIII) 01-01-2022]

15. fodkl dh ml vofèk dks D;k dgrs gSa] tc 
vkRelkr ekudksa ij ç'u mBk;k tkrk gS vkSj 
vDlj ifjokj dh rqyuk esa lkfFk;ksa dh jk; 
cgqr egRoiw.kZ gks tkrh gS \

  (A) 'kS'kokoLFkk

  (B) vkjfEHkd ckY;koLFkk

  (C) eè; ckY;koLFkk

  (D) fd'kksjkoLFkk
[CTET (VI to VIII) 31-12-2021]

16. fodkl dh dkSu&lh voLFkk esa fuEu y{k.k 
lekfgr gSa \ ^Lora=rk dh LFkkiuk*] vfLerk 
dk fodkl vkSj vewrZ fparu

  (A) eè; ckY;koLFkk (B) mÙkj ckY;koLFkk

  (C) fd'kksjkoLFkk (D) iwoZ o;LdkoLFkk
[CTET (VI to VIII) 31-12-2021]

17. fodkl dh fn'kk vkSj Øe gj cPps ds fy, 
leku gksrk gS] ysfdu gj cPpk viuh xfr ls 
fodflr gksrk gSA ;g ckyfodkl ds fuEufyf[kr 
esa ls fdl fl¼kar dks n'kkZrk gS \

  (A) vfujarjrk (B) jSf[kdrk

  (C) ,d:irk (D) i`Fkdrk
[CTET (VI to VIII) 21-12-2021]

18. cPpksa dk@ds 'kkjhfjd fodkl------------------- -

  (A) esa dsoy ek=kRed ifjorZu gksrs gSaA

  (B) esa dsoy xq.kkRed ifjorZu gksrs gSaA

  (C) dh lVhdrk ls fodklkRed çfrekuksa ls 
rqyuk djds Hkfo";ok.kh dh tk ldrh 
gSA

  (D) ,d O;ofLFkr vkSj vuqØfed rjhds ls 
gksrk gS] ysfdu vyx&vyx cPpksa ds 
fodkl dh nj vyx&vyx gksrh gSA

[CTET (VI to VIII) 10-01-2022]

19. dFku (A) :  cPps lgh <ax ls ugha lh[k 
ikrs vxj og vLoLFk ;k 
vYiiksf"kr gSaA

  rdZ (R) : fodkl ds lHkh vk;ke 
ijLij :i ls tqM+ s gq, 
g S a & ' k kj h fjd fodkl] 
laKkukRed fodkl dk s 
çHkkfor djrk gSA

  lgh fodYi pqusa

  (A) (A) vkSj (R) nksuksa lgh gSa vkSj (R) lgh 
O;k[;k djrk gS (A) dhA

  (B) (A) vkSj (R) nksuksa lgh gSa] ysfdu (R) 

lgh O;k[;k ugha gS (A) dhA

  (C) (A) lgh gS] ysfdu (R) xyr gSA

  (D) (A) vkSj (R) nksuksa xyr gSa
[CTET (VI to VIII) 05-01-2022]

20. dFku (A) : cPpksa dks vkjafHkd ckY;k-
oLFkk e s a  fodkl vk Sj 
vfèkxe gsrq I;kj] ns[kHkky 
vkSj cgqr ls volj çnku 
djus pkfg,A

  rdZ (R) : xaHkhj :i ls oafpr ckY;koLFkk 
ds ifj.kkeksa dks ckn ds o"kks± esa 
cnyuk cgqr vklku gksrk gSA

  lgh fodYi pqusa %

  (A) (A) vkSj (R) nksuksa lgh gSa vkSj (R) lgh 
O;k[;k djrk gS (A) dhA

  (B) (A) vkSj (R) nksuksa lgh gSa] ysfdu (R) 

lgh O;k[;k ugha gS (A) dhA

  (C) (A) lgh gS] ysfdu (R) xyr gSA

  (D) (A) vkSj (R) nksuksa xyr gSaA
[CTET (VI to VIII) 29-12-2021]

21. vfèkxe dk og :i ftlesa cPps nwljksa dh udy 
djds lh[krs gSa] D;k dgykrk gS \

  (A) lkekftd vfèkxe

  (B) O;ogkjoknh vfèkxe

  (C) vUos"k.k vfèkxe

  (D) ekuorkoknh vfèkxe
[CTET (VI to VIII) 29-12-2021]

22. cky fodkl esa ------------ ls ------------- rd gksus 
okyh o`f¼ o cnyko dk vè;;u fd;k tkrk gSA

  (A) tUe; ekè;fed ckY;koLFkk

  (B) tUe; fd'kksjkoLFkk

  (C) xHkZèkkj.k; ekè;fed ckY;koLFkk

  (D) xHkZèkkj.k; fd'kksjkoLFkk
[CTET (VI to VIII) 12-01-2022]

23. dFku (A) : cPpksa ds fodkl ds ekxZ 
o çxfr dk lVhdrk ls 
iwokZuqeku ugha yxk;k tk 
ldrkA

  rdZ (R) : vkuqoaf'kdrk o i;kZoj.kh; 
dkjdksa ds vuwBs la;kstu 
cPpk s a  e s a  vyx&vyx 
cnyko ds ekxZ r; djrs gSaA

  lgh fodYi pqusa %

  (A) (A) vkSj (R) nksuksa lgh gSa vkSj (R) lgh 
O;k[;k djrk gS (A) dhA

  (B) (A) vkSj (R) nksuksa lgh gSa] ysfdu (R) 

lgh O;k[;k ugha gS (A) dhA

  (C) (A) lgh gS] ysfdu (R) xyr gSA

  (D) (A) vkSj (R) nksuksa xyr gSaA
[CTET (VI to VIII) 12-01-2022]

24. vfHkdFku (A) dqN laLÏfr;ks a ea s fd'kksj 
yM+fd;ksa eas ekfld èkeZ dh 'kq#vkr dk t'u 
euk;k tkrk gS] tcfd vU; laLÏfr;ksa esa bls 
xqIr j[kk tkrk gSA

  dkj.k (R) fofHkUu lkaLÏfrd lUnHkks± eas iyus 
okys cPpksa ds fy, cpiu ds vuqHko fHkUu gksrs 
gSaA

  lgh fodYi pqusa %

  (A) (A) vkSj (R) nksuksa lgh gSa vkSj (R) lgh 
O;k[;k djrk gS (A) dhA

  (B) (A) vkSj (R) nksuksa lgh gSa ysfdu (R) lgh 
O;k[;k ugha gS (A) dhA

  (C) (A) lgh gS ysfdu (R) xry gSA

  (D) (A) vkSj (R) nksuksa xyr gSaA
[CTET (VI to VIII) 07-01-2022]

25. fodkl ds izR;sd pj.k ds fy, lkekftd vis{kk 
dks D;k dgk tkrk gS\

  (A) fodklkRed dk;Z 

  (B) fodklkRed vko';drk,¡ 

  (C) fodklkRed ckèkk,¡ 

  (D) fodklkRed {ks= 

[CTET (VI to VIII) 03-01-2022]

26. fodkl---------------

  (A) 'kjhj ds eè; ls ckgj dh fn'kk esa gksrk 
gSA 

  (B) uhps ls mGij dh vksj gksrk gSA

  (C) ,d vk;keh gSA 

  (D) okrkoj.kh; dkjdksa ls izHkkfor ugha gksrk 
gSA 

[CTET (VI to VIII) 03-01-2022]

27. ledkyhu fl¼kUr ^cpiu* dks-----ekurs gSaA

  (A) ,d lkekftd lajpuk

  (B) lHkh laÏfr;ksa esa ifo= dky 

  (C) cgqr vfèkd ruko vkSj fpark dky 

  (D) fd'kksjkoLFkk rd dk fodkl dky
[CTET (VI to VIII) 23-12-2021]
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28. fuEufyf[kr esa ls eè; ckY;koLFkk dh vofèk 
dk eq[; izek.k fpÊ dkSu&lk gS \

  (A) is'kh; dkS'ky vkSj lexz 'kkjhfjd o`f¼  
 dk rst+h ls fodklA

  (B) oSKkfud rdZ vkSj vewrZ :i ls lkspus  
 dh {kerk dk fodklA

  (C) izrhdkRed&[ksy dk mHkjukA

  (D) rdZlaxr fopkjks a dk fodkl tks fd  
 izkÏfrd :i ls ewrZ gSaA

[CTET (VI-VIII) 31-01-2021]

29. ckY;koLFkk dh vofèk esa fodkl

  (A) esa dsoy ifjek.kkRed ifjorZu gksrs gSaA

  (B) vfu;fer vkSj vlEc¼ gksrk gSA

  (C) èkheh xfr ls gksrk gS ,oa mls ekik ugha  
 tk ldrkA

  (D) cgqLrjh; vkSj fefJr gksrk gSA
  [CTET (VI-VIII) 31-01-2021]

30. 'kjhj ds dsaæh; Hkkx ls ifjfèk;ksa ;k vxzkaxksa dh 
vksj dk fodkl n'kkZrk gS

  (A) eè;-cká fodkl ds fl¼karksa dks

  (B) lksikuh; fodkl ds fl¼karksa dks

  (C) fofdj.kh; fodkl ds fl¼karksa dks

  (D) fodsaæhÏr fodkl ds fl¼karksa dks
[CTET (VI-VIII) 09-12-2018]

31. ---------------- eghuksa dh vk;q ds chp vfèkdka'k 
cPps 'kCnksa dks feykdj NksVs-NksVs okD;ksa esa 
cksyuk 'kq: dj nsrs gSaA

  (A) 24 ls 30 (B) 30 ls 36

  (C) 12 ls 18 (D) 18 ls 24

[CTET (VI-VIII) 09-12-2018]

32. eè;&cpiu vofèk gS

  (A) 2 o"kZ ls 6 o"kZ (B) 6 o"kZ ls 11 o"kZ

  (C) 10 o"kZ ds ckn (D) tUe ls 2 o"kZ
[CTET (VI-VIII) Feb., 2016]

33. fuEufyf[kr esa ls dkSu&lk dFku fodkl 
vkSj vfèkxe ds chp lacaèk dks loZJs"B :i 
ls tksM+rk gS\

  (A) vfèkxe vkSj fodkl ,d tfVy rjhds  

 ls var% lacafèkr gSA

   (B) fodkl vfèkxe ls Lora= gSaA

  (C) vfèkxe fodkl ds ihNs jgrk gSaA

  (D) vfèkxe vk Sj fodkl lekukF k Zd 
 ifjHkkf"kd 'kCn gSaA

CTET (VI-VIII) Sept., 2015

34. buesa ls dkSu&lk fodkl dk ,d fl¼kar 

ugha gS \

  (A) fodkl oa'kkuqØe vkSj i;kZoj.k nksuksa ls  

 izHkkfor gksrk gSA

   (B) fodkl la'kksèku;ksX; gksrk gSA

  (C) fodkl dsoy laLÏfr ls 'kkflr vkSj  

 fuèkkZfjr gksrk gSA

  (D) fodkl thoui;±r gksrk gSA
[CTET (VI-VIII) Sept., 2015]

35. fNih gqbZ oLrq,¡ <w¡<+ fudkyuk bl ckr dk ladsr 

gS fd f'k'kq fuEufyf[kr esa ls fdl laKkukRed 

dk;Z esa n{krk izkIr djus yxk gS\

  (A) lkfHkizk; O;ogkj (B) oLrq&LFkkf;Ro

  (C) leL;k&lekèkku (D) iz;ksx djuk
[CTET (VI-VIII) 21.09.2014]

36. fuEu esa ls fdldk feyku mfpr gS\

  (A) laKkukRed fodkl µ ifjiDork

  (B) lkekftd fodkl  µ okrkoj.k

  (C) laosxkRed fodkl  µ ifjiDork

  (D) 'kkjhfjd fodkl   µ okrkoj.k
[CTET (VI-VIII) 28-07-2013]

37. fefJr vk;q&oxZ okys fo|kfFkZ;ksa dh d{kk ls 

O;ogkj j[kus okys f'k{kd osG fy, ------------- dk 
Kku lokZfèkd egRoiw.kZ gSA

  (A) muosG vfHkHkkodksa dk O;olk; 

  (B) lkekftd&vkfFkZd i`"BHkwfe

   (C) lkaLÏfrd i`"BHkwfe 

  (D) fodklkRed voLFkkvksa
[CTET (VI-VIII) 18-11-2012]

38. fodkl 'kq: gksrk gS

  (A) mÙkj&ckY;koLFkk ls

  (B) izloiwoZ (Pre-natal) voLFkk ls

  (C) 'kS'kokLFkk (Infancy) ls

  (D) iwoZ&ckY;koLFkk ls
[CTET (VI-VIII) 29-01-2012]

39. voèkkj.kkvksa dk fodkl eq[; :i ls  dk 
fgLlk gSA

  (A) 'kkjhfjd fodkl 

  (B) lkekftd fodkl

  (C) laosxkRed fodkl

  (D) ckSf¼d fodkl
[CTET (VI-VIII) 26-06-2011]

40. O;fÙkGxr f'k{kkFkhZ ,d&nwljs ls _____ esa 
fHk= gksrs gSaA

  (A) fodkl&Øe

  (B) fodkl dh lkekU; {kerk  

  (C) o`f¼ ,oa fodkl osG fl¼kar

  (D) fodkl dh nj
[CTET (VI-VIII) 26-06-2011]

41. ekuo fodkl oqGN fo'ks"k fl¼karksa ij vkèkkfjr 
gSA fuEufyf[kr esa ls dkSu&lk ekuo fodkl 
dk fl¼kar ugha gS\

  (A) lkekU; ls fof'k"V (B) izfrorhZ

  (C) fujarjrk (D) vkuqØfdrk
[CTET (VI-VIII) 26-06-2011]

mÙkjekyk

1. (A) 2. (D) 3. (A) 4. (C) 5. (A)

6. (C) 7. (C) 8. (A) 9. (D) 10. (B)

11. (B) 12. (A) 13. (D) 14. (D) 15. (D)

16. (C) 17. (D) 18. (D) 19. (A) 20. (C)

21. (A) 22. (D) 23. (A) 24. (A) 25. (A)

26. (A) 27. (A) 28. (D) 29. (D) 30. (A)

31. (D) 32. (B) 33. (A) 34. (C) 35. (B)

36. (B) 37. (D) 38. (B) 39. (D) 40. (D)

41. (B)

qq
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1. ,d 6 vadksa okyh la[;k 75y077, la[;k 11 ls 
foHkkT; gSA rc] (2y + 3) dk eku gSµ

  (A) 13 (B) 15

  (C) 19 (D) 21

[CTET (6-8 (28-01-2023)]

2. ,d fuf'pr la[;k esa oLrqvksa dks 126 fnu esa 
fufeZr djus ds fy,] ,d QSDVªh dks 84 e'khuksa 
dh vko';drk iM+rh gSA oLrqvksa dh mruh gh 
la[;k dks 108 fnu esa fufeZr djus ds fy,] ml 
QSDVªh dks fdruh vkSj vf/kd ;k de e'khuksa 
dh vko';drk iM+sxh \

  (A) 98 vf/kd (B) 98 de

  (C) 14 vf/kd (D) 14 de
[CTET (6-8 (28-01-2023)]

3. 3 75 × 109 og ugha gS] tks
  (A) (3 75) × 9 + (3 75) × 100 gS

  (B) (3 75) × 9 + 100 gS

  (C) (3 75) × (100 + 9) gS

  (D) (3 70 3 5) × 109 gS
[CTET (6-8 (20-01-2023)]

4. m vkSj n nks 2-vadh; la[;k,¡ ,slh gSa fd ,d 
le la[;k gS rFkk nwljh la[;k fo"ke gSA ;fn 
mn = 180 gS] rks m vkSj n dk y?kqre lkoZ 
xq.kt gSµ

  (A) 36 (B) 60

  (C) 90 (D) 180

[CTET (6-8 (20-01-2023)]

5. fuEu esa ls dkSu&lk dFku lR; gS \ 

  
(A) ;fn a ,d /kukRed iw.kk±d gS] rks a

  
 ,d ifjes; la[;k gSA 

  (B) fdlh vHkkT; la[;k dk oxZewy ,d  
 ifjes; la[;k ugha gksrk gSA 

  (C) ,slh dksbZ ?ku la[;k ugha gS ftldk bdkbZ  
 dk vad 4 gSA 

  
(D)

  
P xq x

p

q=
 
gSA

[CTET (6-8 (29-12-2023)]

6. ;fn 4003250 = 4 × 10x + 3 × 10y + 2 × 10z 

+ 5 × 10w, gS] rks x + y + z + w cjkcj gSµ
  (A) 16 (B) 14

  (C) 12 (D) 10

[C-TET 6-8 (29-12-2021)]

7. pkj vadksa dh ,d la[;k 4ba5, la[;k 55 ls 
foHkkT; gSA rc] (a 3 b) dk eku gSµ

  (A) 3 (B) 2

  (C) 1 (D) 0

[C-TET 6-8 (21-12-2021)]

8. ;fn A, B vkSj  C vad gSa rFkk]
   3 A B

      +  A B 1

   C 1 8

  gS] rks C dk eku gSµ

  (A) 6 (B) 7

  (C) 8 (D) 9

[C-TET 6-8 (06-01-2022)]

9. vadksa 0, 2, 5 vkSj 6 ds mi;ksx ls] fcuk vadksa 
dh iqujko`fÙk ds] rhu vadksa dh cukbZ tk ldus 
okyh lcls cM+h vkSj lcls NksVh la[;kvksa dk 
varj D;k gksxk\

  (A) 446 (B) 537

  (C) 447 (D) 400

[C-TET 6-8 (03-01-2022)]

10. fuEufyf[kr eas ls dkSu&lh la[;k 11 ls foHkkT; 
ugha gS \

  (A) 222222 (B) 333333

  (C) 10111013 (D) 10011013

[C-TET 6-8 (07-01-2022)]

11. ;fn A, B vkSj C vad gSa rFkk
    AB

    ×3

    CAB

  gSa rks A vkSj C ds eku gSaA

  (A) A = 2, C = 1 (B) A = 3, C = 1

  (C) A = 4, C = 1 (D) A = 5, C = 1

[C-TET 6-8 (07-01-2022)]

12. A, B vkSj C fofHkUu vadksa dks bl izdkj O;Dr 
djrs gSa fd B ,d vHkkT; la[;k ugha gSA ;fn

  (A) 7 (B) 5

  (C) 3 (D) 2

[C-TET 6-8 (23-12-2021)]

13. ml dFku dh igpku dhft,] tks lR; ugha gaS

  (A) nks ifjes; la[;kvkas ds chp ea vifjfer 
:i ls vusd ifjes; la[;k,¡ gksrh gSa

  (B) ,d èkukRed ifjes; la[;k rFkk ,d 
½.kkRed ifjes; la[;k ds chp esa lnSo 
,d iw.kZ la[;k gksrh gS

  (C) izR;sd 'kwU;srj ifjes; la[;k dk ,d 
xq.kukRed izfrykse gksrk gS

  (D) ,slh nks ifjes; la[;kvksa ds ,d ;qXe dk 
vfLrRo gS ftuds chp esa dsoy ,d gh 
ifjes; la[;k gksrh gS

[C-TET 6-8 (23-12-2022)]

14. fuEu eas ls dkSu&lh la[;k 6 ls foHkkftr gS\
  (A) 536

  (B) 46356

  (C) 46358

  (D) 43538

[C-TET 6-8 (23-12-2021)]

15. ;fn 8-vadh; la[;k 179x 091y, 88 ls foHkkT; 
gS] rks (x — y) dk D;k eku gS \

  (A) 3 (B) 4

  (C) 1 (D) 2

CTET 31-01-2021 (VI-VIII)

16. ;fn 52272 = p2 × q3 × r4,

  tgk¡ p, q vkSj r vHkkT; la[;k,¡ gSa] rks  
(2p + q — r) dk eku gSµ

  (A) 22 (B) 23

  (C) 29 (D) 21

CTET 07-07-2019 (VI-VIII)

17. ge fdlh la[;k dks lEiw.kZ la[;k dgrs gSa ;fn 
;g la[;k blds lHkh /kukRed xq.ku[k.Mksaa ds 
(la[;k dks NksM+dj) ;ksx ds cjkcj gksA 

  mnkgj.kr;k 28 ,d lEiw.kZ la[;k gS] D;ksafd
  28 = 1 + 2 + 4 + 7 + 14 gSA 

  fuEu esa ls dkSu&lh la[;k lEiw.kZ la[;k gS\

  (A) 13 (B) 10

  (C) 9 (D) 6

CTET 15-02-2014 (VI-VIII)

18. 210 — 1 fuEu ls foHkkT; gSµ

  (A) 3 (B) 4

  (C) 10 (D) 2

CTET 18-11-2012 (VI-VIII)

mÙkjekyk
 1. (D) 2. (A) 3. (B) 4. (B) 5. (B)

 6. (C) 7. (C) 8. (C) 9. (C) 10. (D)

 11. (D) 12. (A) 13. (D) 14. (B) 15. (D)

 16. (B) 17. (D) 18. (A)

qq

la[;k i¼fr
(Number System)
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1. vfHkdFku % gfjr iÙkksa ds vykok vU; iÙkksa 
esa Hkh i.kZgfjr gksrk gSA

 dkj.k  % bu iÙkksa esa Hkh çdk'k la'ys"k.k 
çfØ;k laiUu gksrh gSA

  fuEufyf[kr esa ls dkSu&lk fodYi lgh  
gS\

  (A) vfHkdFku lR; gS] dkj.k vlR; gS

  (B) dkj.k lR; gS_ vfHkdFku vlR; gS

  (C) dkj.k vkSj vfHkdFku nksuksa lR; gSa

  (D) dkj.k vkSj vfHkdFku nksuksa vlR; gSa

CTET (6-8) 20-01-2023

2. ,d eNqvkjk lehi ds ,d tyk'k; ij eNyh 
Hksnus tkrk gSA fuEufyf[kr esa ls mls fdl ij 
fopkj djuk pkfg, \

  (A) mls eNyh dh vkHkklh fLFkfr ls Åij 
 cjNh ekjuh pkfg,A 

  (B) mls eNyh dh vkHkklh fLFkfr ls uhps 
 cjNh ekjuh pkfg,A 

  (C) mls eNyh dh lVhd vkHkklh fLFkfr ij 
 cjNh ekjuh pkfg,A 

  (D) mls viuh fLFkfr ls ledks.k ij cjNh 
 ekjuh pkfg,A 

CTET (6-8) 29-12-2022

3. vehck] LVkjfQ'k (rkjkehu)] phaVh vkSj edM+h 
esa D;k lekurk,¡ gSa \ 

  (A) os lHkh jh<+ dh gìh jfgr gSa 

  (B) mu lcds 'kjhj ij Ldsy ('kYd) gksrs gSa 

  (C) os çtuu ds fy, vaMs nsrs gSa 

  (D) os ty esa jgrs gSa

CTET (6-8) 29-12-2022

4. fuEu esa ls dkSu-ls y{k.k /kzqoh; {ks=ksa esa /kqzoh; 
Hkkyw ds vuqdwyu esa lgk;rk djrs gSa\

  (a) 'osr yksepeZ

  (b) yEcs xksy rh[ks iats

  (c) tkyikn

  (A) dsoy (a)

  (B) (a) vkSj (c)

  (C) (a) vkSj (b)

  (D) (a), (b) vkSj (c)

[CTET (VI to VIII) 24-12-2021]

5. uhps fn;s x;s dFku dks i<+sa vkSj lgh fodYi 
dk p;u djsa

  vfHkdFku (A) : fgj.k pkjksa rjQ [krjs dks ns[k 
ldrs gSa

  dkj.k (R) : fgj.k dh vk¡[ksa mlds flj ds nksuksa 
vksj gksrh gSa

  (A)  (A) vkSj (R) nksuksa lgh gSa vkSj (R), (A) 

dh lgh O;k[;k djrk gS

  (B) (A) vkSj (R) nksuksa lgh gSa] ysfdu (R), 

(A) dh lgh O;k[;k ugha djrk gS

  (C)  (A) lgh gS] ysfdu (R) lgh ugha gS

  (D) (A) vkSj (R) nksuksa xyr gSa
[CTET (VI to VIII) 24-12-2021]

6. fuEufyf[kr esa dkSu-ls dFku lgh gSa\

  (a) ladVkiUu iztkfr;ksa (Lih'kht) ds foyqIr 
gksus dk [krjk gS

  (b) lHkh fo'ks"k {ks=h; (LFkkfud) Lih'kht 
(iztkfr;k¡) ladVkiUu gks tkrh gaS

  (c) muds {ks= esa u, Lih'kht (iztkfr;ksa) 
ds yk;s tkus ls fo'ks"k {ks=h (LFkkfud) 
Lih'kht ds foyqIr gksus dk Hk; gks ldrk 
gS

  (d) ^gkWV LikWV* esa dbZ fo'ks"k {ks=h Lih'kht 
gksrs gSa

  (A) (a), (b), (c) (B) (b), (c), (d)

  (C)  (a), (b), (d) (D) (a), (c), (d)

[CTET (VI to VIII) 30-12-2021]

7. ikS/kksa esa 'olu ds lanHkZ esa dkSu-lk dFku lR; gS\

  (A) 'olu dsoy fnu ds le; gksrk gS

  (B) 'olu dsoy jkr ds le; gksrk gS

  (C) 'olu fnu vkSj jkr nksuksa le; gksrk gS

  (D) 'olu dsoy ml le; gksrk gS tc izdk'k 
la'ys"k.k ugha gks jgk gksrk

[CTET (VI to VIII) 27-12-2021]

8. uhps fn, x, dkSu-ls dFku lgh ugha gSa\

  (a) fdlh gkFkh esa dksf'kdkvksa dh la[;k fdlh 
canj dh dksf'kdkvksa dh la[;k dh rqyuk 
esa vf/kd gksrh gSa

  (b) gkFkh dh dksf'kdkvksa dk lkbt canj dh 
dksf'kdkvksa ds lkbt dh rqyuk esa cM+k 
gksrk gS

  (c) gkFkh dh dksf'kdkvksa dh vkÏfr canj dh 
dksf'kdkvksa dh vkÏfr ls fHkUu gksrh gSa

  (A) (a) vkSj (c) (B) (a) vkSj (b)

  (C) (b) vkSj (c) (D) (a), (b) vkSj (c)

[CTET (VI to VIII) 11-12-2021]

9. vf/kdka'k ikS/ks feêh ls ukbVªkstu fuEufyf[kr 
:i esa izkIr djrs gSaµ

  (A)  eqä ukbVªkstu

  (B)  ukbfVªd vEy

  (C)  veksfu;k

  (D)  ukbVªsV~l
[CTET (VI to VIII) 12-1-2022]

10. uhps fn, x, dFku if<+, vkSj lgh fodYi dk 
p;u dhft,A

  vfHkdFku (A) : ,dus=h thoksa dk n`'; {ks= 
f}us=h thoksa dh rqyuk esa vf/kd gksrk gSA

  dkj.k (R) : ,d us=h thoksa dh n`f"V esa n`'; 
{ks=ksa ds vfrO;kiu dh {kerk gksrh gSA

  (A) (A) vkSj (R) nksuksa lgh gSa] dkj.k (R) dh 
lgh O;k[;k gS

  (B) (A) vkSj (R) nksuksa lgh gSa] dkj.k (R) 

vfHkdFku (A) dh lgh O;k[;k ugha gS

  (C) (A) lgh gS ijUrq (R) xyr gS

  (D) (A) xyr gS ijUrqq (R) lgh gS

[CTET (VI to VIII) 28-12-2021]

11. fuEufyf[kr esa ls fdlds dkj.k ok"iksRltZu 
dh nj esa o`f¼ gksrh gS\

  (a) ifÙk;ksa dk {ks=Qy

  (b) o`{k dh Å¡pkbZ

  (c) gok (ok;q) ds osx esa o`f¼

  (A) (a) vkSj (b)

  (B) (a) vkSj (c)

  (C) (b) vkSj (c)

  (D) (a), (b) vkSj (c)

[CTET (VI to VIII) 28-12-2021]

12. fuEu esa ls dkSu-lk dFku ikS/kksa esa izdk'k 
la'ys"k.k rFkk 'olu ds lanHkZ esa lgh gS\

  (A) nksuksa fØ;k,¡ ikS/kksa esa fnu ds le; gksrh gSa

  (B) 'olu dh fØ;k jkr esa rFkk izdk'k 
la'ys"k.k fnu esa gksrk gS

  (C) 'olu jkr vkSj fnu esa gksrk gS] tcfd 
izdk'k la'ys"k.k dsoy fnu ds le; gksrk 
gS

  (D) nksuksa fØ;k,¡ jkr vkSj fnu esa gksrh gSa
[CTET (VI to VIII) 31-12-2021]

13. Å¡Vksa dks jsfxLrku dh ifjfLFkfr;ksa esa thfor 

jgus ds fy, fuEu esa ls dkSu-ls vuqdwyu 

enn djrs gSa\

v/;k;

1
thoksa dk oxhZdj.k] vuqdwyu] vkuqoaf'kdrk rFkk tSo fodkl

(Classiocation, Adaptation, Heredity and  
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  (A) mudh Vk¡xsa yach gksrh gSa

  (B) os cgqr ew=R;kx djrs gSa

  (C)  os cgqr ilhuk cgkrs gSa

  (D) mudh yhn vkæZ gS
[CTET (VI to VIII) 08-01-2022]

14. àsy] 'kkdZ] MkWfYQu vkSj eNyh lHkh tyh; 
tho gSaA fuEu esa ls dkSu-lk dFku muds 'olu 
ra= dk lgh izdkj ls o.kZu djrk gS\

  (A) ;s lHkh Dykse }kjk 'okl ysrs gSa

  (B) àsy vkSj eNyh Dykse }kjk 'okl ysrs gSa

  (C) 'kkdZ vkSj MkWfYQu Qq¶Qql ds }kjk 'okl 
ysrs gSa

  (D) àsy vkSj MkWfYQu Qq¶Ql ds }kjk 'okl 
ysrs gSa

[CTET (VI to VIII) 22-12-2021]

15. fuEufyf[kr esa ls dkSu-ls tarq dksf'kdk ds pkj 
la?kVd gSa\

  (A) dksf'kdk f>Yyh] dksf'kdk æO;] dsUæd] 
fjfädk

  (B) dksf'kdk f>Yyh] dksf'kdk fHkfä] dksf'kdk 
æO;] dsUæd

  (C) dkssf'kdk f>Yyh] gfjr yod] dksf'kdk 
æO;] dsUæd

  (D) dksf'kdk f>Yyh] dksf'kdk fHkfÙk] gfjr 
yod] fjfädk

[CTET (VI to VIII) 05-01-2022]

16. eNfy;ksa ds 'kjhj dh lrg dks lw{ethfo;ksa 
ls gksus okys {k; ls fdl pht dh mifLFkfr 
j{kk djrh gS\

  (A) 'kYd 

  (B) 'ys"e f>Yyh ;k ijr 

  (C) ehui{k 

  (D) pchZ 
[CTET (VI to VIII) 03-01-2022]

17. uhps fn, x, dFkuksa dks if<+, vkSj lgh fodYi 

dk p;u dhft,A

  vfHkdFku (A) : 'ksj ?kkl ugha [kkrkA

  dkj.k (R) : cgqr ls i'kq lsY;wykst dk ikpu 

ugha dj ikrs gSaA

  (A) A vkSj R nksuksa lgh gSa vkSj R, A dk lgh 

Li"Vhdj.k gS 

  (B) A vkSj R nksuksa lgh gSa vkSj R, A dk lgh 

Li"Vhdj.k ugha gS

  (C) A lgh gS ysfdu R xyr gS 

  (D) A xyr gS ysfdu R lgh gS 
[CTET (VI to VIII) 03-01-2022]

18. tSo&fofoèkrk ds lUnHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft,µ

  (a) ;g fdlh {ks= esa ikbZ tkus okyh fdlh 

fo'ks"k Lih'kht ds O;fDr;ksa dh dqy 
la[;k dk mYys[k djrh gS

  (b) ;g fdlh fn, x, {ks= ds dsoy iknitkr 

vkSj izkf.ktkr dh fdlh fo'ks"k Lih'kht 
dk mYys[k djrh gS

  (c) ;g fdlh fn, x, {ks= ds iknitkr vkSj 

izkf.ktkr dh fofHkUu (fofoèk) Lih'kht 

dk mYys[k djrh gS

  (d) ;g tkuojksa ds fy, Ïf=e :i ls cuk;k 

x;k ,d lajf{kr {ks= gS

  tSo&fofoèkrk ds lUnHkZ esa lgh dFku gS

  (A) dsoy c

  (B) a, b vkSj c

  (C) a, c vkSj d

  (D) a vkSj b
[CTET (VI-VIII) 22-02-2015]

19. tSoe.My vkj{k.k (vkjf{kr {ks=) ls lacafèkr 
lgh dFku pqfu,A 

  (A) ;s os lqjf{kr {ks= gSa tks dsoy fo'ks"k {ks=h 
Lih'kht ds laj{k.k ds fy, cuk, x, gSa

  (B) ;s os {ks= gSa tks dsoy ikni ,oa tUrqvksa 
ds laj{k.k ds fy, cuk, x, gSa

  (C) ;s os {ks= gSa tks {ks= dh tSo fofoèkrk vkSj 
laLÏfr dks cuk, j[kus esa lgk;d gksrs gSa

  (D) ;s os lqjf{kr {ks= gSa ftUgsa oU; thou ds 
eqDr vkokl vkSj izkÏfrd lEink ds 
mi;ksx ds fy, vkjf{kr fd;k x;k gS

[CTET (VI-VIII) 15-02-2014]

20. uhps fn, x, ;qxyksa esa ls dkSu&lk ;qxy  
y{k.kksa dh vkuqoaf'kdrk esa lacafèkr gS\

  (A) dksf'kdk f>Yyh rFkk dksf'kdk fHkfÙk

  (B) dksf'kdk f>Yyh rFkk DyksjksIykLV (gfjr 
yod)

  (C) Øksekslkse (xq.klw=) rFkk thu

  (D) Øksekslkse rFkk ekbVksdkWf.Mª;k
[CTET (VI-VIII) 28-07-2013]

21. dqN Mk;ulksjksa ds ij Fks] ;|fi os mM+ ugha 
ikrs Fks] ijUrq if{k;ksa ds ij gksrs gSa tks mM+us 
esa mudh lgk;rk djrs gSaA fodkl ds lanHkZ esa 
bldk vFkZ ;g gS fdµ

  (A) if{k;ksa dk fodkl ljhl`iksa ls gqvk gS

  (B) ljhl`iksa ,oa if{k;ksa ds chp dksbZ fodklh; 
lEcUèk ugha gS

  (C) nksuksa gh thoksa eas ij letkr vax gSa

  (D) ljhl`iksa dk fodkl if{k;ksa ls gqvk gS
[CTET (VI-VIII) 18-11-2012]
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Direction (Q. No. 1-8)

 Read the passage given below and answer 

the question that follow by choosing the most 

appropriate option from the given one. 

 1. Dhanpat Raj Srivastava or Munshi 

Premchand as he was better known was 

born on 31 July, 1880 in Lamahi near 

Varanasi in Uttar Pradesh. He ranks as one 

of the tallest icons in the oeld of modern 
Hindi and Urdu literature. He had to face 

tremendous struggles to make his ends 

meet due to his parents' early death. In 

1910, the District Magistrate in Jamirpur 

reprimanded him for his collection of short 

stories Soz-e-Watan, which was termed 

as seditious. Hereafter, he began to write 

under the pen name "Premchand".

 2. He wrote in Urdu under the name of 

Nawabrai. Credited with introducing 

realism to the world of Hindi literature, 

he responded to Mahatma Gandhi's call 

in 1921 and resigned from government 

service. On the personal front, he married 

twice. He used to write in the language of 

the common people and is credited with 

introducing issues like communalism, 

corruption, poverty and colonialism into 

Hindi and Urdu literature.

 3. In 1923, he established a publishing house 

'Saraswati Press'. In 1930, he came up with 

a political-weekly called 'Hans'. In 1931, 

he took a job of teacher in a Marwari 

College in Kanpur. In the same year he 

left the job and came back to Benaras 

and worked as an editor of the 'Maryada' 

magazine and as a headmaster in the Kashi 

Vidyapeeth. In 1931, he moved to Mumbai 

and worked as a script writer for Ajanta 

Cinetone, a production house. The script 

for olm Majboor was written by him. His 
last works were Kafan and Godaan.

 4. He lived a life of penury. Many of his 

works were later made into movies 

and television serials. The legendary 

Satyajit Ray made two movies based on 

Premchand's works-Sedgati and Shatranj 

Ke Khiladi. Premchand also wrote some 

plays. His works have been translated into 

many Indian and foreign languages. He 

passed away on October 8, 1936.

CTET (6-8) 30-01-2023

1. Which pseudonym did Munshi use for his 

works in Urdu ?

  (A) Dhanpat Raj (B) Saraswati

  (C) Nawabrai (D) Majboor 

2.  Why was Premchand reproached by the 

British oïcials ? 
  (A) He wrote both in Hindi and Urdu.

  (B) He wrote in the language of common 

people.

  (C) He participated in freedom struggle.

  (D) He wrote a collection of rebellious 

short-stories. 

3. Which style of writing was introduced by 

Premchand in Hindi literature ?

  (A) realism (B) romanticism

  (C) oction (D) horror 
4. According to the passage, which 

combination accurately describes diferent 
professions that Premchand took up in 

diferent phases of his life ?
  (A) publisher, actor, olmmaker, teacher
  (B) publisher, script-writer, headmaster, 

editor

  (C) publisher, teacher, script-writer, olm-
maker

  (D) publisher, script-writer, editor, olm-
maker 

5. Which of the following were the major 

themes in Premchand's writings ? Choose 

the appropriate combination.

  (1) Communalism 

  (2) Colonialism

  (3) Capitalism

  (4) Corruption

  (A) 1, 2, 4 (B) 2, 3, 4

  (C) 1, 3, 4 (D) 1, 2, 3  

6. Which of the following words is closest 

in meaning to the word, 'penury' as used 

in para 4 of the passage ?

  (A) bourgeois 

  (B) poverty

  (C) aöuence 
  (D) magniocence 

7.  Read the following statements : 

  (1) He resigned from government 

service in 1921.

  (2) He responded to Mahatma Gandhi's 

call and refused to marry.

  (A) Both (1) and (2) are true.

  (B) Both (1) and (2) are false.

  (C) (1) is true and (2) is false.

  (D) (1) is false and (2) is true. 

8.  Which part of speech is the underlined 

word in the sentence given below ? 

  "He wrote in Urdu too under the name....."

  (A) Adjective

  (B) Preposition

  (C) Conjunction

  (D) Adverb 

Direction (Q. No. 9-15)

 Read the passage given below and answer 

the question that follow by choosing the most 

appropriate option from the given one.

 1. The words-Invention and Innovation 

are closely linked, but they are not 

interchangeable. The inventor is a genius 

who uses his intellect, imagination, time 

and resources to create something that 

does not exist. But this invention may or 

may not be of utility to the masses. It is the 

enterprising innovator who uses various 

resources, skills and time to make the 

invention available for use. The innovator 

might use the invention as it is, modify it 

or even blend two or more inventions to 

make one marketable product.

 2. If an invention is the result of countless 

trials and errors, so can be the case 

with an innovation. Not every attempt 

to make an invention is successful. Not 

every innovation sees the light of the day. 

Benjamin Franklin had the belief that 

success doesn't come without challenge, 

mistake and in a few cases failure.

 3. One of the world's most famous 

innovators, Steve Jobs says, "Sometimes 

when you innovate, you make mistakes. 

It is best to admit them quickly and get on 

with improving your other innovations." 

Thus, inventors and innovators have to 

be intrepid enough to take risks: consider 

failures as stepping stones and not 

stumbling blocks.

 4. The inventor of Velcro was hiking in the 

words when he found burrs clinging to his 

clothes and his dog's fur. A few years later, 

he made and patented the strips of fabric 

that came to us as Velcro.

Comprehension : Section (A) Prose

Chapter

1
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 5. It is not easy, and at times almost 

impossible, for an inventor to be an 

innovator too. There are very few 

like Thomas Edison who graduated 

from being an incredible inventor to a 

successful manufacturer and businessman 

with brilliant marketing skills. While 

innovations that have helped to enhence 

the quality of life are laudable, equally 

laudable are the inventions that laid the 

foundation of the these very innovations.
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9.  The main idea of the author is to ............ 

in the given passage.

  (A) highlight the diïculties faced by 
innovators.

  (B) reveal the importance of inventors.

  (C) motivate readers to focus on 

becoming entrepreneurs.

  (D) Compare innovators to inventors.

10.  Velcro can be best described as ..........

  (A) the need of the hour

  (B) an accidental invention

  (C) the fruit of failure.

  (D) a highly planned and researched 

invention. 

11.  Which of the following statements from 

the passage clearly indicates failure ?

  (A) Invention is the result of countless 

trials and errors.

  (B) Inventors and innovators have to be 

intrepid enough to take risks.

  (C) Not every innovation sees the light 

of the day.

  (D) If innovations are laudable, equally 

laudable are the inventions. 

12.  Which of the following statements does 

NOT hold true in light of the passage ?

  (A) Inventors may not be Innovators.

  (B) Invention is the same as Innovation.

  (C) Invention may not necessarily be 

useful.

  (D) Innovators enhance the utility of 

inventions. 

13. Benjamin Franklin and Steve Jobs believe 

that ............... .

  (A) making a mistake before finding 

success is not unusual.

  (B) there is no place for mistakes in the 

process of making an innovation.

  (C) failure is a permanent stumbling 

block.

  (D) all innovators have to go through 

failure. 

14. Which of the following words can 

replace the word 'intrepid' in para 3 of 

the passage ? 

  (A) unworthy (B) daring

  (C) intellectual (D) rich 

15. Which part of speech is the underlined 

word in the sentence given below ? 

  "While innovations that have helped to 

enhance the quality of life ...."

  (A) Noun

  (B) Verb

  (C) Conjunction 

  (D) Pronoun 

Direction (Q. No. 16-23)

Read the following passage and answer the 

questions that follows :

1.  Tom Hamiltom liked his Aunt Providence. 

She taught at the university. Her full name 

was Dr. Providence Hamilton. When she 

came to Tom9s father9s farm in the Cawichn 

Valley on Vancouver island, which is part 

of the province of Britin Columbia, she 

always brought beautiful presents. Tom 

always waited eagerly for her arrival. How-

ever, he didn9t like her constant companion, 

a dog, Genevieve Truchert.

2. Tom Hamilton was fond of other dogs. 

He had a dog, a bull terrier called Rusty, 

a oghter from the word go. Rusty kept the 
pheasants out of the garden and earned 

his living. Tom thought that Genevieve 

was good for nothing. She never even 

looked like a dog. She was a great big soft 

wheezing lazy wagging monster, a great 

big useless lump.

3. Dog9s behavioural quirks, much like those 

of humans, aren9t mere products of genetics 

or pedigree; experiences are a crucial factor 

also. <Every dog is diferent=. And yes, 
breed is an undeniably powerful factor in 

a dog9s behaviour. Experts agree that dog 

behaviour is the product of a multitude of 

factors, among them, genes development, 

socialization and the environment in which 

they grow. The key ingredient in every 

recipe, though is always us, the people 

who fancy themselves the arbiters of what 

makes a dog, a dog.

4. At orst perhaps lopsided, the relationship 
soon became more mutually beneocial. 
People realized that dogs could enhance 

human9s ability to feed and protect their 

families and their sheep and cattle also. 

The animals would do this in exchange for 

food, shelter and may be some well-earned 

belly rubs.
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16. Where does Tom live with his father ?

  (A) in an apartment

  (B) in a big mansion

  (C) on a farm

  (D) in an outhouse

17. How did Rusty earn his living ?

  (A) He guarded Tom9s garden.

  (B) He worked as a therapy dog.

  (C) He chased away the bulls from his 

farmhouse.

  (D) He acted as a livestock guardian.

18. How does Tom feel about Genevieve ?

  (A) He admires her.

  (B) He is afraid of her.

  (C) He is very fond of her.

  (D) He thinks her to be a useless creature.

19. Read the following statements :

  (a)  Tom awaited eagerly for his aunt9s 

arrival because his dog Rusty liked 

to play with Genevieve Truchert.

  (b) Humans keep dogs as pets as they 

are good entertainers.

  (A) (a) is true and (b) is false.

  (B) (a) is false and (b) is true.

  (C) Both (a) and (b) are false.

  (D) Both (a) and (b) are true.

20. Which of the following does not describe 

Genevieve Truchert ?

  (A) a lazy monster

  (B) a companion to Dr. Hamilton

  (C) a oghter
  (D) a good for nothing dog

21. Which of the following factors play 

the most important part in a dog9s 

behaviour ?

  (A) The environment in which it grows.

  (B) The basic heredity factor.

  (C) The socialization experience with 

other animals.

  (D) The humans it interacts with.

22.  8Quirks9 in para 3 means the same as :

  (A) whims (B) etiquette

  (C) protocol (D) agreement

23. 8Island, in 8Vancouver island9 is used 

as a/an :

  (A) adverb (B) noun

  (C) adjective (D) verb

Direction (Q. No. 24-30)

Read the following passage and answer the 

questions that follow :

1.  Good writers know their way around a 

metaphor, where you make an analogy 

between two things to show how one re-

sembles the other in some way. A metaphor 

is a poetic device that deals with compar-

isons. It compares similar qualities of two 

dissimilar objects. With a simple metaphor, 

on object becomes the other; Love is a 

rose. Thus, metaphor can communicate so 



English  |   3

much about a particular image, that poets 

use them more than any other type of  

ogurative language. The reason for this is 
that poets compose their poetry to express 

what they are experiencing emotionally at 

that moment. Consequently, what the poet 

imagines love to be may or may not agree 

with our perception of love. Therefore, the 

poet9s job is to enable us to experience it, 

to feel it the same way the poet does. We 

should be able to nod in agreement and say, 

<Yes, that9s it! I understand precisely.=
2. Metaphors have been studied for a long time 

from diferent perspectives. Philosophers 
tend to consider language as literal, thinking 

metaphors to be aberrant, only to be used 

by poety congnitive linguistics view 

metaphors as important and not marginal at 

all, emphasizing the construal of meanings 

and our embodied understandings of the 

situation. Traditionally, a metaphor is 

treated as a part of ogurative language such 
as simile, an explicit comparison signalled 

by the word 8like9 or 8as9. It is viewed 

as a characteristics of language alone. 

Philosophers like language to be literal. 

Some scholars believe that a metaphor is 

simply a matter of bringing out similarity 

between one thing and another apparently 

diferent thing i.e., saying one thing in 

terms of something else. Robert Frost has 

said, <Poety provided the one Permissible 

way of saying one shift and meannig 

another : Words do have their literal 

meaning but they can also be used so that 

something other than the literal meaning is 

implied e.g., when we say <That man is a 

pig=. It is clear that literal meaning cannot 
be true.
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24.  Metaphors are often used by :

  (A) philosophers

  (B) poets

  (C) research Scholars

  (D) cognitive linguists

25.  Which of the following statements is 

NOT correct ?

  (A) Metaphors are examples given to 

help us understand a concept better.

  (B) Metaphor is a ogure of speech no 
longer in use.

  (C) Metaphors bring out similarities in 

dissimilar objects.

  (D) Philosophers believe that metaphors 

are used only by poets.

26. Cognitive linguists treat metaphors as 

equivalent to :

  (A) an analogy

  (B) modernism

  (C) a literal interpretation

  (D) naturalism

27.  Read the following sentences : 

  (a) metaphor is linking of two or more 

disparate elements, which can result 

in an unintentional efect.
  (b) In a metaphor, resemblance between 

two unlike entities is explicity indi-

cated by the words 8like9 or 8as9.

  (A) (a) is false but (b) is true

  (B) (a) is true but (b) is false

  (C) Both (a) and (b) are true

  (D) Both (a) and (b) are false

28.  In the sentence 8That man is a pig9 the 

word 8pig9 signioes that the man is :
  (A) abnormal

  (B) lazy

  (C) greedy

  (D) Both (B) and (C)

29. 8Aberrant9 in para 2 means the same as :

  (A) uncertainty (B) uncommon

  (C) regular (D) deviant

30.  8Construal9 in para 2 is used as a/an :

  (A) verb (B) adverb

  (C) noun (D) adjective

Direction (Q. No. 31-38)

Read the passage given below and answer 

that follow by selecting the correct/most 

appropriate option :

1.  I am often amazed by the questions children 

ask and the thought process they carry out 

to answers some of ours. Their questions 

and answer can be profound and thought-

provoking. At times they demonstrate 

what we call 8critical thinking9. Our 

responsibility as educators, is to ensure 

that the 8critical thinking9 capability of 

each student in our care nowers, rather than 
shrivels, as a result of their schooling.

2. My two boys aged 10 and 7 and I were 

toying around with a prism on the balcony 

of our house one night, looking at the 

steetlights through the prism to see light 

split up into diferent hues. There were a 
lot of questions. Why do we see so many 

colours through the prism ? Why are we 

unable to see the split colours without the 

prism ? Are the colours really there ? There 

was a lot of speculations as well. Without 

my giving them the 8right9 answers, we 

discussed the role of light on our ability to 

8see9 the world and all the colours in it. Just 

then there was power cut and everything 

was plunged into darkness. Suddenly, after 

a minute of silence, I heard my eldest9s 

voice. <The world is colourless!=
3. Children evidently have an innate ability to 

reason, to examine varied and complicated 

ideas and situations, and express them in 

simple terms and language. The explanation 

may not always be logical or scientiocally 

accurate, but they 8make sense9 and are not 

entirely 8wrong9 either. We expect students 

to respect us and each other also, but 

what do we mean by respect ? More often 

than not, we preach borrowed ideas and 

principles. An eighth grader put it across 

simply, <espect means understanding the 

concept behind someone else9s beliefs, 

not necessarily agreeing or following, but 

understanding and feeling compatibility=.
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31.  The word 8nowers9 in para 1 is a/an :
  (A) adjective (B) verb

  (C) noun (D) adverb

32. 8Without my giving them the right 

answers9. The underlined word in this 

sentence is a/an:

  (A) adjective (B) noun

  (C) verb (D) conjunction

33.  Which word in para 1 is the antonym of 

the word 8bloom9 ?

  (A) critical (B) profound

  (C) nowers (D) shrivels
34.  Which of the following words in para 3 

does not mean an 8idea9 ?

  (A) compatibility (B) concept

  (C) belief (D) explanation

35.  Read the following sentences :

  (a) Children can express diferent ideas 
in simple language

  (b) Children cannot examine complicated 

ideas

  (c) Children give inaccurate explanations

  (d) Children have innate reasoning 

ability. 

  (A) (a) is incorrect but (c) is correct

  (B) Both (c) and (d) are correct

  (C) Both (a) and (d) are correct

  (D) (b) is correct but (d) is incorrect

36. Why were the father and his sons toying 

with the prism ?

  (A) to answer a lot of questions

  (B) to play with the prism

  (C) to see light split in diferent colours
  (D) to look at the streetlights

37. What according to the eighth grader in the 

passage is NOT respectful ?

  (A) always disagreeing

  (B) feeling incompatibility

  (C) understanding others

  (D) believing someone else

38.  Read these statements carefully :

  (a) The writer is amazed by the questions 

asked by children

  (b) Children ask questions that do not 

require critical thinking capability

  (A) Both (a) and (b) are correct
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  (B) (a) is incorrect and (b) is correct

  (C) Both (a) and (b) are incorrect

  (D) (a) is correct and (b) is incorrect

Direction (Q. No. 39-45)

Read the passage given below and answer 

that follow by selecting the correct/most 

appropriate option :

1.  South Africa with a new tourism slogan-

Leave Ordinary Behind-is fast becoming 

a popular tourist destination. There are 

over 9,00,000 arrivals per month of which 

around one quarter are from outside the 

African continent. It generates between 

1-3 percent of the GDP. Among the main 

attractions are the diverse and picturesque 

game reservs and exotic animals.

2. For the thrill seekers who visit South Africa. 

the unique attractions are bungee jumping 

and white water rafting. The country boasts 

of the third highest commercial bungee 

jump in the world. Located on the border 

of the Eastern and Western Cape and at the 

height of 216 metres, it9s certainly not for 

the faint of heart. There is an ever-growing 

group of people who prefer the thrills 

and excitements of a rough and adrenalin 

paeked South Africa and water rafting trips 

on awesome torrential rivers. Such trips 

promise hours of enjoyable, exhilarating 

and challenging adventures where rafting 

enthusiasts can test their skills. The Orange 

River in the mountainous deserts and the 

vall river near the capital Johannesburg are 

some favourite destinations.

3. South Africa has 19 national parks on 

37,00,000 hectares of land, almost 3 

percent of the country9s total area. The 

Kruger National Park is the most popular 

among foreign tourists. It is cost efective 
and ofers a do-it-yourself safari which is 
functional and afordable. Free roaming 
wild animals, land based whale watching, 

diverse eco-zones, magnificent rock 

formations, rolling grasslands, crystal clear 

streams......... yes, South Africa has it all 

for those visitors who want to leave the 

ordinary behind!
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39. Which word in para 2 will be closest in 

meaning to the word 8excitement9 ?

  (A) favourite

  (B) thrill

  (C) unique

  (D) adrenalin

40.  Identify the word in para 3 which is the 

antonym of the word 8similar9 :

  (A) clear (B) functional

  (C) popular (D) diverse

41. 8There are over 9,00,000 arrivals per 

month9. The underlined word in this 

sentence stands for :

  (A) tourists (B) attractions

  (C) trips (D) destinations

42.  South Africa has ................ national parks 

which accounts for almost ................ 

percent of the country9s total area.

  (A) 3, 19 (B) 19, 9

  (C) 19, 3 (D) 91, 19

43.  Read the following statements :

  (a) Tourism generates 1-3 percent of 

South Africa9s GDP.

  (b) Out of 9,00,000 tourists that visit 

South Africa, three quarters of 

them are from outside the African 

Continent.

  (A) Both (a) and (b) are incorrect

  (B) Both (a) and (b) are correct

  (C) (a) is incorrect, (b) is correct

  (D) (a) is correct, (b) is incorrect

44.  The word 8enthusiasts9 in para 2 is a/an :

  (A) adverb (B) noun

  (C) adjective (D) verb

45. 8Such trips promise hours of ................ 

challenging adventures9. The underlined 

word in this sentence is a/an :

  (A) preposition (B) adjective

  (C) verb (D) noun

Direction (Q. No. 46-53)

Read the passage given below and answer 

the question that follow by choosing the most 

appropriate option from the choices given 

below. 

Watching is meditation. What you watch is 

irrelevant. You can watch the trees, you can 

watch the river, you can watch the clouds, you 

can watch children playing around. Watcing is 

meditation. What you watch is not the point; 

the object is not the point. The quality of 

observation, the quality of being aware and 

alert-that's what meditation is. Remember 

one thing; meditation means awareness. 

Whatsoever you do with awareness is 

meditation. Action is not of importance, but 

the quality that you bring to your action. 

Walking can be a meditation if you walk alert. 

Sitting can be a meditation if you sit alert. 

Listening to the birds can be a meditation if 

you listen with awareness. Just listening to the 

inner voice of your mind can be meditation 

if you remain alert and watchful. The whole 

point is, one should not move in sleep. Then 

whatsoever you do is meditation. 

The orst step in awareness is to be very 
watchful of your body. Slowly, one becomes 

alert about each gesture, each movement. 

And as you become aware, a miracle starts 

happening; many things that you used to do 

before simply disappear; your body becomes 

more relaxed, your body becomes more 

attuned. A deep peace starts prevailing even in 

your body, a subtle music pulsates in your body.

The same has to be done with thoughts. They 

are more subtle than the body and of course, 

more dangerous too. And when you become 

aware of your thoughts, you will be surprised 

what goes on inside you. If you write down 

whatsoever is going on at any moment, you are 

in for a great surprise. You will not believe that 

this is what is going on inside you. And after 

ten minutes read it, you will see a mad mind 

inside ! Because we are not aware, this whole 

madness goes on running like an undercurrent. 

It afects whatsoever you are doing, it afects 
everything. And the sum total of it is going 

to be your lif ! So this madness has to be 

changed. And the miracle of awareness is that 

you need not do anything except just become 

aware. The very phenomenon of watching it 

changes it. Slowly the madman disappears, 

slowly the thoughts start falling into a certain 

pattern; their chaos is no more, they become 

more of a cosmos. And then again, a deeper 

peace prevails. And when your body and your 

mind are at peace you will see that they are 

attuned to each other too. Now they are not 

running in diferent directions, they are not 
riding diferent horses. For the orst time, there 
is accord, and that accord helps immensely to 

work on the third step-that is becoming aware 

of your feelings, emotions, moods. That is the 

subtlest layer and the most diïcult, but if you 
can be aware of the thoughts, then it is just 

one step more. A little more intense awareness 

is needed and you start renecting your moods, 
your emotions, your feelings.

CTET (6-8) 29-12-2022

46. A mad mind may be discovered : 

  (A) only in abnormal people 

  (B) even in intelligent people

  (C) only in people who are meditating 

  (D)  in people who are aware of them 

selves

47. If you write down whatsoever is going 

on at any moment, you are in for a 

great surprise. Identify the clause in the 

underlined part of the sentence given 

above : 

         (A) Adverb clause of condition 

         (B) Adjective clause 

         (C) Noun clause

         (D) Adverb clause of time

48. After reading the passage, it can be 

inferred that ultimate awareness   

(A) can be achieved by practice 

  (B) is not doing but something happening 

 automatically 

  (C) can be taught only by a Guru 

  (D) can be achieved only through 

 truthfulness 
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49. Arrange the following steps in right  

order : 

  (1) awareness of moods 

  (2) awareness of thoughts 

  (3) awareness of peace between mind 

 and body 

  (4) awareness of the body 

  (A) (1), (2), (3), (4) 

  (B) (4), (2), (3), (1)

  (C) (4), (3), (2), (1)

  (D) (4), (3), (4), (2)

50. According to the passage, which of the 

following things must you do if your body 

is very tense ?

  (1) Run a mile 

  (2) Get involved in a vigorous exercise 

  (3) Just watch your body as a orst step 
  (4)  Just watch your mind 

  (A) (1)

  (B) (1) and (2)

  (C) (3)

  (D)  (3) and (4)

51. Read the following statements : 

  (1) A mad mind can be cured 

  (2) It is impossible to lead a meaningful

   life without being meditative 

  (A) (1) is true and (2) is false

  (B) (2) is true and (1) is false

  (C) Both (1) and (2) are false

  (D)  Both (1) and (2) are true

52. The phrase 8move in sleep' in para 1 

means : 

         (A) walk while asleep 

        (B)  being unaware 

  (C) being alert

  (D)  listening to your mind 

53. Which of the following words is opposite 

in meaning to 8subtle' as used in 8a subtle 

music pulsates in your body' (Para 2)?

  (A)  nice 

  (B) precise

  (C) one
  (D) crude

Direction (Q. No. 54-60)

Read the following passage and answer the 

question that follow by choosing the most 

appropriate option from the ones given. 

(1) It is frequently assumed that the mechani-

zation of work has a revolutionary 

efect on the lives of the people who 
operate the new machines and on the 

society into which the machines have 

been introduced. For example, it has 

been suggested that the employment of 

women in industry took them out of the 

household, their traditional sphere, and 

fundamentally altered their position in 

society. In the nineteenth century, when 

women began to enter factories, Jules 

Simon, a French politician, warned 

that by doing so, women would give 

up their femininity. Friedrich Engels, 

however, predicted that women would 

be liberated from the <social, legal, and 

economic subordination" of the family 

by technological developments that 

made possible the recruitment of <the 

whole female folk... into public industry." 

Observers thus difered concerning the 
social desirability of mechanization's 

efects, but they agreed that it would 
transform women's lives. 

(2) Historians, particularly those investi-

gating the history of women, now seriously 

question this assumption of transforming 

power. They conclude that such dramatic 

technological innovations as the spinn-

ing, jenny, the sewing machine, the 

typewriter, and the vaccum cleaner have 

not resulted in equally dramatic social 

changes in women's economic position or 

in the prevailing evaluation of women's 

work. The employment of young women 

in textile mills during the Industrial 

Revolution was largely an extension of 

an older pattern of employment of young, 

single women as domestics. It was not 

the change in oïce technology, but 
rather the separation of secretarial work. 

The increase in the number of married 

women employed outside the home in 

the twentieth century had less to do with 

the mechanization of housework and an 

increase in leisure time for these women 

than it did with their own economic 

necessity and with high marriage rate 

that shrank the available pool of single 

women workers, previously, in many 

cases, the only women employers would 

hire.

CTET (6-8) 29-12-2022

54. Before the Industrial Revolution, the 

majority of women's work was done in 

which of the following settings ?

  (A) Textile mills 

  (B) Private households 

  (C) Oïces
  (D)  Factories 

55. The author mentions all the following 

inventions as examples of dramatic 

technological innovations EXCEPT the 

  (A) sewing machine 

  (B) vaccum cleaner 

  (C) typewriter 

  (D) telephone 

56. According to the passage, before the 20th 

century many employers : 

  (A) did not employ women in factories. 

  (B) tended to employ single rather than 

 married women. 

  (C) employed women in only those jobs 

 that were related to women's 

 traditional household work. 

  (D) hired women only when qualioed 

 men were not available to oll the 

 open positions. 

57. The employment of young women 

in textile mills during the Industrial 

Revolution was largely an extension of 

an older pattern of employment. 

  Identify the clause in the underlined part 

of the sentence : 

  (A) Principal clause 

  (B) Noun clause 

  (C) Adverb clause 

  (D) Adjective clause 

58. Which of the following words is similar 

in meaning to 8innovation' as used in the 

passage ? (Para 2)

  (A) termination 

  (B) mechanization 

  (C) tradition 

  (D) stagnation 

59. Which of the following words is opposite 

in meaning to 8liberated' as used in the 

passage ? (Para 1)

  (A) released  (B) rescued 

  (C) cononed (D) saved 

60. Read the following sentences:  

  (1) Before the 20 th century, many 

 employers resented technological 

 innovations that would radically 

 change women's role in the family. 

  (2) Before Industrial Revolution, women 

 were employed only as domestics. 

(A) (1) is true and (2) is false 

  (B) (1) is false and (2) is true 

  (C) Both (1) and (2) are true 

  (D) Both (1) and (2) are false

Direction (Q. No. 61-67)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the appropriate options 

from the given ones. 

1. Celebrities advertising products is nothing 

new. In fact, it has been part of our lives 

for years. Even before the 20009s, you 

couldn9t sit through a commercial break 

without seeing the teen pop icon of that 

time, Britney Spears, endorsing a soft 

drink. The legacy was later continued by 

the most famous celebrity we know of, 
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Beyoncé. She was paid millions to promote 

the carbonated drink, which outraged 

health advocacy groups. Many concerned 

people questioned her ethics as to why she 

was supporting a drink that plays a major 

role in causing obesity.

2. With the growing importance of social 

media in a shopper9s purchase journey, 

companies are evolving and stepping up 

the endorsement game across diferent 
channels. With celebrities vouching for 

promoting their products, brands can 

increase awareness, trust and familiarity, 

which are important variables in the 

purchase decision making process.

3. Consumers feel more sympathetic towards 

a brand, if their products are promoted by 

a celebrity they admire or relate to. It9s  a 

simple psychological efect, people believe 
that purchasing a product that9s promoted 

by a celebrity they admire, will allow them 

to emulate the celebrity9s desired traits 

or attract similar people in to their lives. 

They will associate the celebrity9s success, 

beauty, athletic skills with a particular 

product.

4. Brands are taking advantage of that by 

increasingly utilising the social media 

communities of celebrities. Social media 

is a way for consumers, in particular, 

those of younger demographics, to engage 

and build intimate connections with the 

celebrities they admire and follow. 

61. Read the following statements : 

  (a) The trend of celebrities advertising 

products started in 2000. 

  (b) However, the trend is no longer so 

popular with the current generation. 

   (A) (a) is true and (b) is false. 

   (B) (a) is false and (b) is true. 

  (C) Both (a) and (b) are true

  (D) Both (a) and (b) are false. 

[CTET (6-8) (Lang. 2) 08/01/2022]

62. How can brands increase their sales?

  (A) By selling their products cheaper. 

  (B) By making people familiar with their 

products. 

  (C) By discouraging the endorsement 

game. 

  (D) By winning over the sympathy of 

health advocacy groups. 

[CTET (6-8) (Lang. 2) 08/01/2022]

63. Read the following statement :

  (a) Most soft drinks are carbonated 

drinks. 

  (b) They can make you fat, in a way that 

is not healthy. 

  (c) Celebrities become famous by pro-

moting soft drinks. 

   (A) (a) and (b) are true and (c) is false. 

   (B) (a) and (c) are true and (b) is false. 

   (C) (b) and (c) are true and (a) is false. 

  (D) Only (b) is true. 

[CTET (6-8) (Lang. 2) 08/01/2022]

64. Demography is the scientioc study of :
  (A) geographical disturbances in an area

  (B) wild animals

  (C) changing number of births and deaths 

in a community

  (D) marine life

[CTET (6-8) (Lang. 2) 08/01/2022]

65. 8Emulate9 in para 3 is used as a/an :

  (A) Noun (B) Adjective

  (C) Adverb (D) Verb

[CTET (6-8) (Lang. 2) 08/01/2022]

66. Which word in para 1 means the same   

as :

  A strong feeling of shock and anger9. 

  (A) obesity (B) Ethics

  (C) outrage (D) advocate

[CTET (6-8) (Lang. 2) 08/01/2022]

67. <which are important variables . . . . . =in 
para 2 is an example of :

  (A) adverb clause

  (B) noun clause

  (C) adjective clause

  (D) principal clause

[CTET (6-8) (Lang. 2) 08/01/2022]

Direction (Q. No. 68-75)

Read the passage given below and answer 

the questions complete the statement that 

follow by choosing the correct options from 

the given ones. 

Today9s youth want name, fame and aöuence 
without outing in required eforts. They run 
after jobs and expect high salaries. They are 

not willing to start a small business of their 

own. They can argue that it requires money. 

But banks are ready to fund their projects. The 

other argument can be that it require practical 

knowledge. But one can work part-time or as 

an intern to some orm in order to gain practical 
knowledge. Government also provides training 

to the entrepreneurs willing to start their own 

business. One9s own business can range from 

a grocery shop, a coaching centre , a computer 

institute, or so. Success of the venture very 

much depends on entrepreneur9s ability, hard 

work, dedication and grit. So, One should not 

wait for an ideal job, rather think of starting 

his/her own business. One has to climb the 

steps slowly and steadily to reach the apex. 

It may help them to load a stable and normal 

life and acquire a good carrier. We can also 

reduce unemployment by self-employment. 

The youth should be job creator rather than 

job seeker. Parents and teachers should jointly 

own responsibility of children. Parents should 

be aware of their children9s needs. They should 

gather information about the various areas that 

their children can venture into. Schools and 

colleges should invite the counsellors and 

professionals to guide the students. They can 

help them in choosing the right career. Future 

of the country lies in the hands of the youth. 

Their betterment would be tantamount to the 

betterment of the county as a whole. 

68. How can school/college help youth to 

choose the right career?

  (A) School/College may guide parents 

about their children9s needs. 

  (B) School/College should invite 

counsellors and professionals to 

guide the students. 

   (C) School/Colleges should provide 

information to students about 

various areas

  (D) School/College may encourage 

students to get computer literate

[CTET (6-8) (Lang. 2) 20/12/2021]

69. To start a small business one requires :

  (a) Money

  (b) Training & skills

  (c) Practical knowledge

  (d) Along time

  (A) (a) and (b) but not (c)

  (B) (b) and (c) but not (a)

  (C) (c) and (d) but not (b)

  (D) (a) and (b) but not (d)

[CTET (6-8) (Lang. 2) 20/12/2021]

70. A successful venture depends on :

  (a) Practical knowledge

  (b) Training and experience

  (c) Well paid works

  (d) Huge funds

  (A) (a) and (b) but not (c)

  (B) (b) and (c) but not (d)

   (C) (c) and (d) but not (a)

   (D) (d) and (a) but not (b)

[CTET (6-8) (Lang. 2) 20/12/2021]

71. Youth should choose entrepreneurship as 

career option because :

  (A) It gives name, fame and aöuence 
  (B) It may help them to lead a stable and 

normal life 

  (C) It is an easier career option

  (D) It can take them quickly to newer 

heights

[CTET (6-8) (Lang. 2) 20/12/2021]

72. 8The youth should be job creator rather 

than job seeker 8How can this approach 

work for the betterment of the country?

  (A) It would generate huge money

  (B) It would reduce unemployment by 

self-employment
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   (C) It would help youth to be business 

owners

  (D) It would boost up the youth9s morale

[CTET (6-8) (Lang. 2) 20/12/2021]

73. Youth is not willing to start small business 

of their own because :

  (a) The success growth is very slow

  (b) It requires fund and practical 

knowledge

  (c) Government discourages small 

businesses

  (d) It needs lots of dedications and grit 

  (A) (a) and (b) are correct

   (B) (b) and (c) are correct

   (C) (a) and (d) are correct

   (D) (b) and (d) are correct

[CTET (6-8) (Lang. 2) 20/12/2021]

74. 8Their betterment would be tantamount 

to the ..........

  The underlined word means the same as :

   (A) Tangible from (B) Tasteful for

   (C) Equivalent to (D) Diferent from
[CTET (6-8) (Lang. 2) 20/12/2021]

75. 8Today9s youth want name, fame, and 

aöuence ..........

  Choose the word which is opposite in 

meaning to the underlined word

  (A) Importance

  (B) Impoverishment

  (C) Property

  (D) Weakness

[CTET (6-8) (Lang. 2) 20/12/2021]

Direction (Q. No.76-83)

Read the passage given below and answer 

the questions that follow by choosing the 

correct/most appropriate options. 

The leopard in India is struggling for survival. 

In the last 20 years, the natural forests of India 

have sharply diminished because of illegal 

encroachment, and enormous amount of 

illegal mining and agricultural conversions. 

Millions of farm animals graze and degrade 

leopard habitat across this country and 

sharply reduce the availability of natural food. 

Blasted and battered in its natural habitat, the 

leopard has nowhere to go. Our nation has no 

vision or bureaucrats have seldom thought 

or implemented a land use policy that could 

have kept wildlife safe. With 1.3 billion people 

desperate for land and natural resources, the 

leopard has been cornered. Many patches of 

remnant forest have little food for the leopard 

to eat. He is then forced closer to human 

habitation, starting a vicious cycle of man-

leopard connict. Around human populations, 
the leopard, now hungry and desperate, lives 

on stray dogs and small cattle. In daytime 

the leopard onds a patch of trees or degraded 
waste land to shelter in. It can vanish in such a 

patch and remain invisible. As the sun sets, it 

moves towards human settlements encounters 

man, and if detected, is chased, battered with 

sticks and stones and badly injured or killed. 

To escape, it can race in to a village hut or 

someone9s house. Sometimes, a forest team 

arrives and tranquilises it to take it either to 

a nearby forest where it is released or to a zoo 

where it usually dies. Huge errors are made 

in releasing leopards into forests especially if 

they are non-killers or man eaters as in their 

struggling state they continue to attack man 

who in their cycle of memory, has become 

their predator. 

76. Natural forests in India are decreasing as 

a result of :

  (A) Mining has become diïcult. 
  (B) There is less land for agriculture. 

  (C) The leopard is fast losing its habitat. 

  (D) There is not enough grassland for the 

cattle. 

[CTET (6-8) (Lang. 2) 21/12/2021]

77. Leopard has nowhere to go because :

  (A) politicians and bureaucrats are anti-

wildlife. 

  (B) our increasing population has 

grabbed its habitat. 

  (C) its natural food has been blasted and 

battered. 

  (D) there are drought like conditions 

everywhere. 

[CTET (6-8) (Lang. 2) 21/12/2021]

78. When the forest cover decreases :

  (A) the leopard becomes hungry and 

desperate. 

  (B) the leopard has to live on the trees. 

  (C) the farmers lose their agricultural 

land. 

  (D) even the birds feel the heat. 

[CTET (6-8) (Lang. 2) 21/12/2021]

79. The leopard starts visiting the villages 

because :

  (A) the deer, is natural food has become 

clever. 

  (B) most of the wildlife has migrated to 

the villages. 

  (C) man hides in village huts. 

  (D) it can easily dogs, its  favourite food. 

[CTET (6-8) (Lang. 2) 21/12/2021]

80. At night when the leopard enters a village :

  (A) it is chased and beaten by the 

villagers. 

  (B) the dogs bark and announce its 

arrival. 

  (C) the villagers trap it and hand it over 

to a zoo. 

  (D) the police is called and they shoot it 

dead. 

[CTET (6-8) (Lang. 2) 21/12/2021]

81. What part of speech is the underlined 

word in the following expression? In the 

last 20 years .......... 

  (A) Adverb (B) Determiner

  (C) Pronoun (D) Verb

[CTET (6-8) (Lang. 2) 21/12/2021]

82. What part of speech is the underlined 

word in the following expression?This is 

when it ..........9

  (A) Adverb (B) Pronoun

  (C) Conjunction (D) Adjective

[CTET (6-8) (Lang. 2) 21/12/2021]

83. 8forest cover has sharply diminished9. 

  The underlined word in the above 

expression means the same as :

  (A) quickly (B) bluntly

  (C) lazily (D) dangerously

[CTET (6-8) (Lang. 2) 21/12/2021]

Direction (Q. No. 84-92)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the correct options from 

the given ones. 

A survey conducted by Antony Synott at 

Montreal9s Concordia University asked 

participants to comment on how important 

smell was to them in their lives. It became 

apparent that smell can evoke strong 

emotional responses. Ascent associated with a 

good experience can bring a rush of joy, while 

a foul odour or one associated with a bad 

memory may make us grimace with disgust. 

Respondents to the survey noted that many of 

their olfactory likes and dislikes were based 

on emotional associations. Such associations 

can be powerful enough so that odours that 

we would generally label unpleasant become 

agreeable, and those that we would generally 

consider fragrant become disagreeable for 

particular individuals. The perception of smell, 

therefore, consists not only of the sensation 

of odours themselves, but of the experiences 

and emotions associated with them. Odours 

are also essential cues in social bonding. 

One respondent to the survey believed that 

there is no true emotional bonding without 

touching and smelling a loved one. In fact, 

infants recognise the odours of their mothers 

soon after birth and adults can often identify 

their children or spouses by scent. In one 

well-known test, women and men were able 

to distinguish by smell alone clothing worn 

by their marriage-partners from similar 

clothing worn by other people. Most of the 

subjects would probably never have given 

much thought to odour a saclue for identifying 

family members before being involved in 

the test, but as the experiment revealed, even 

when not consciously considered, smells 

register. In spite of its importance to our 
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emotional and sensory lives, smell is probably 

the most undervalued sense in many cultures. 

It is true that the olfactory powers of humans 

are nothing like as one as those possessed 
by certain animals, they are still remarkably 

acute. 

84. The above research tries to establish the 

fact that

  (A) we are surrounded by odours all the 

time. 

   (B) a sense of smell is learnt. 

  (C) we make use of smell without 

realizing it. 

  (D) male and female sense of smell is 

diferent. 
[CTET (6-8) (Lang. 1) 24/12/2021]

85. The odours generally labelled as unplea-

sant may be considered fragrant for some 

individuals because of :

  (a) the cultural association with a 

particular fragrance

  (b) the emotional association with a 

particular fragrance

  (c) the physical association with a 

particular fragrance

  (d) the sensational association with a 

particular fragrance

  (A) (a) and (b) are both right

  (B) (b) and (c) are both right

  (C) (c) and (a) are both right

  (D) (d) and (b) are both right

[CTET (6-8) (Lang. 1) 24/12/2021]

86. Odour does not generally play any role  

in :

  (a) making marriage matches. 

  (b) identifying family members. 

  (c) creating a bond between infants and 

mothers. 

   (A) (a) is right and (b) is wrong

   (B) (b) is right and (c) is wrong

   (C) (c) is right and (a) is wrong

  (D) Both (a) and (b) are right

[CTET (6-8) (Lang. 1) 24/12/2021]

87. The experiment concluded that olfactory 

power of a human being is :

  (A) quite discerning

  (B) yet to be deoned
   (C) a physical reaction

  (D) almost damaged

[CTET (6-8) (Lang. 1) 24/12/2021]

88. Study the following statements :

  (a) Odour sometimes helps in creating 

social associations

  (b) A person9s cloths can also help us in 

identifying him

   (A) (a) is right and (b) is wrong

   (B) (b) is right and (a) is wrong

  (C) Both (a) and (b) are right

  (D) Both (a) and (b) are wrong

[CTET (6-8) (Lang. 1) 24/12/2021]

89. Which one of the following words is 

most opposite in meaning to the word 

8undervalued9 as used in the phrase :

  *the most undervalued sense ..........

  (A) glorioed (B) endeavoured
  (C) praised (D) prized

[CTET (6-8) (Lang. 1) 24/12/2021]

90. Which of the following words is most 

similar in meaning to the word9 grimace9 

as used in the phrases <may make us 

grimace with disgust=?
  (A) Pull a face (B) Beam

  (C) Grin (D) Smile

[CTET (6-8) (Lang. 1) 24/12/2021]

91. The perception of smell, therefore, 

consists not only of the sensation of 

odours themselves, but of the experiences 

and emotions associated with them. 

  The underlined word is a/an ..........

  (A) Preposition (B) Conjunction

  (C) Adverb (D) Noun

[CTET (6-8) (Lang. 1) 24/12/2021]

92. 8smell is probably the most undervalued 

sense in many cultures9. 

  The underlined word in the above 

expression is a/an ..........

   (A) Adjective (B) Verb

   (C) Interjection (D) Adverb

[CTET (6-8) (Lang. 1) 24/12/2021]

Direction (Q. No. 93-99)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the correct options out 

of the given ones. 

She was very inventive, I mean my mother, 

and was so often full of new ideas, and had 

a particular philosophy of life. Some of her 

ideas were particularly wild; others were so 

simple and sensible! While translating them 

into action, she was thoroughly autocratic, she 

believed that children should lead a simple 

life, no indulgence at all. Our dining table was 

unnecessarily austere. Porridge for breakfast 

salted, not sweet and milk to drink. Bread and 

butter, nothing delicious for breakfast. I tasted 

bacon for the orst time in my life at the age of 
nearly ten. It is true that twice a week, we had, at 

the end of breakfast, one piece of toast, spread 

with a thin layer of that dangerous luxury, jam. 

But of course, not butter too. Butter and jam on 

the same bit of bread would have been unheard 

of indulgence4a disgraceful orgy. The queer 

thing is that none of us like it to this very day. 

Old habits die hard. But these two glamorous 

jam-days have permanently coloured my 

conception of Sundays and Wednesdays 

which are both lovely darkred days. Of the 

two, however, Wednesday at school being also 

Drawing class Day, is much redder of the two. 

I can9t help but remember that the other day, 

Sunday9s jam colour has been considerably 

paled down by, of necessity, of going to the 

church. 

93. In the writer9s opinion, his mother was :

   (A) a wild genius. 

   (B) a dictator at the dining table. 

  (C) A simple but sensible woman. 

  (D) very good at cooking. 

[CTET (6-8) (Lang. 2) 24/12/2021]

94. For breakfast we got :

  (A) delicious food to eat. 

  (B) very simple food. 

  (C) tasty porridge. 

  (D) toast, egg and bacon. 

[CTET (6-8) (Lang. 2) 24/12/2021]

95. Study the following statements :

  (a) Twice a week children got buttered 

toast with jam

  (b) Mother was very indulgent in feeding 

her children

  (A) (a) is right and (b) is wrong

  (B) (b) is right and (a) is wrong

   (C) Both (a) and (b) are right

   (D) Both (a) and (b) are wrong

[CTET (6-8) (Lang. 2) 24/12/2021]

96. Study the following statements :

  (a) From what the family ate it seems 

that it was a well to-do family

  (b) The children could not develop the 

taste for buttered bread and jam

  (c) The writer did not enjoy going to the 

church on Sundays. 

  (A) (a) is right and (b) is wrong

  (B) (b) is right and (a) is wrong

  (C) (b) is right and (c) is wrong

  (D) (c) is right and (b) is wrong

[CTET (6-8) (Lang. 2) 24/12/2021]

97. 8these two glamorous jam days9

  The underlined word means the same as :

  (A) ordinary (B) exciting

  (C) glaring (D) medium

[CTET (6-8) (Lang. 2) 24/12/2021]

98. Our dining table was unnecessarily 

austere does not means that food was :

  (A) simple (B) self-denying

  (C) ample (D) meagre

[CTET (6-8) (Lang. 2) 24/12/2021]

99. 8I can9t help but remember9

  The underlined word is a :

   (A) Conjunction (B) Preposition

   (C) Interjection (D) Adverb

[CTET (6-8) (Lang. 2) 24/12/2021]
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Direction (Q. No.100-108)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the correct options from 

the given ones. 

Today we ond ourselves at the height of our 
civilization, our technological development, 

and our social and material complexity. These 

are all sign of progress. And yet, all is not as 

it seems and once in a while it occurs to us to 

look into the past to discover our future.

Dholavira is among the two most notable 

excavations of the Indus Valley Civilisation 

or Harappan Civilisation, which existed 

about 4500 years ago. Another site easier 

to reach is Lothal, but it has shown signs of 

a pale education. Dholavira gives you that 

opportunity to observe how while being 

surrounded by the great desert of Kutch in a 

severe environment, the Harappan civilisation 

displays a unique understanding of the mind 

: Here we can ond the earliest and the best 
in the world, a planned water conservation 

system. Dholavira, locally known as Kotda 

(meaning a large fort), is one of the islands 

in the great desert of Kutch. Located in the 

north western corner of the Khadir Island, 

the city is spread over 100 hectares of semi-

arid land. During the month when the rest of 

the desert is submerged by the monsoon, two 

water channels culvert near Dholavira. Mausar 

in the north and Manhar in the south. The 

journey to Dholavira is beautiful, taking you 

to the greatest desert salty plains, where you 

can ond wildlife like chinkara gazelle, nilgai 
(blue bull, Asia9s largest antelope), namingo 
and other bird life. 

100. Excavations made at Dholavira have 

established that Indus Valley civilisation :

  (A) had progressed more than what we 

have today. 

  (B) had progressed less than what we 

have today. 

  (C) had progressed as much as we have 

today. 

  (D) had made signiocant progress. 
[CTET (6-8) (Lang. 1) 27/12/2021]

101. When we look into our past we :

  (A) can plan a framework of our future 

development. 

  (B) feel proud of our achievements in the 

past. 

  (C) feel proud of what we have achieved 

today. 

  (D) can analyse various factors that are 

responsible for our progress. 

[CTET (6-8) (Lang. 1) 27/12/2021]

102. That Dholavira had enjoyed a planned 

water conservation system is :

   (A) a source of curiosity for us. 

  (B) shocking for us. 

   (C) a pleasant surprise for us. 

   (D) a kind of disbelief. 

[CTET (6-8) (Lang. 1) 27/12/2021]

103. Study the following statements : 

  (a) Arid surrounding can become an 

implement in the way of mental 

development. 

  (b) Lothal was not a seat of great 

learning. 

  (A) (a) is right and (b) is wrong. 

  (B) (b) is right and (a) is wrong. 

  (C) Both (a) and (b) are right. 

  (D) Both (a) and (b) are wrong. 

[CTET (6-8) (Lang. 1) 27/12/2021]

104. Study the following :

  (a) Dholavira is not lacking in nora and 
fauna. 

  (b) Mausar and Manhar are sources of 

water supply to Dholavira. 

  (c) Dholavira is part of Khadir island. 

  (A) (a) and (b) are right but not (c)

  (B) (b) and (c) are right but not (a)

  (C) (a) and (b) are wrong but not (c)

  (D) (b) and (c) are wrong but not (a)

[CTET (6-8) (Lang. 1) 27/12/2021]

105. In the phrase 8two water channels9, the 

word 8Channels9 means :

  (A) rivers (B) springs

  (C) streams (D) lakes

[CTET (6-8) (Lang. 1) 27/12/2021]

106. 8Antelope9 is a kind of a :

   (A) deer (B) cat

   (C) leopard (D) cow

[CTET (6-8) (Lang. 1) 27/12/2021]

107. We often think that all signs point to 

progress. 

  The underlined clause is :

  (A) Principal clause

  (B) Noun clause

  (C) Adjective clause

  (D) Adverb clause

[CTET (6-8) (Lang. 1) 27/12/2021]

108. 8all signs point to progress 8The underlined 

word is a/an ............ . 

   (A) Noun (B) Verb

   (C) Adverb (D) Preposition

[CTET (6-8) (Lang. 1) 27/12/2021]

Direction (Q. No. 109-115)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the correct options from 

the given ones. 

My next pet was a pigeon. He was still very 

young. He was the most revolting bird to 

look at, with his features pushing through the 

wrinkled scarlet skin mixed with the horrible 

yellow down that covers 8baby pigeons and 

makes them look as though they have been 

bleaching their hair. Owing to his repulsive 

and obese appearance Larry suggested we call 

him Quasimodo and, liking the name without 

realising that the word meant 8imperfectly 

moulded9, Iagreed. Owing to his unorthodox 

upbringing and the fact that he had no parents 

to teach him the facts of life, Quasimodo 

became convinced that he was not a bird 

at all, and refused to ny. Instead he walked 
everywhere. If he wanted to get on to a table, 

or a chair, he stood below it, ducking his 

head and cooing in a rich but soft voice until 

someone lifted him up. He was always eager to 

join us in anything we did, and would even try 

to come for walks with us. This, however, we 

had to stop, for either you carried him on your 

shoulder, which was risking an accident to 

your clothes, or else you let him walk behind. 

If you let him walk then you had to slow down 

your own pace to suit his, for should you get 

too far ahead you would hear the most frantic 

and imploring coos and turn round to ond 
Quasimodo running desperately after you, 

his chest pointed out with indignation at your 

cruelty. It was Larry who discovered that 

Quasimodo was a musical pigeon. Not only 

did he like music but he actually seemed to 

recognise diferent varieties of music. 
109. The writer :

  (A) Is a veterinary doctor

  (B) Enjoys a morning walk

  (C) owns a zoo

  (D) enjoys keeping pets

[CTET (6-8) (Lang. 2) 27/12/2021]

110. Quasimodo was :

  (A) very beautiful to look at. 

  (B) Not a pretty bird. 

   (C) a female pigeon. 

   (D) a naughty bird. 

[CTET (6-8) (Lang. 2) 27/12/2021]

111. Larry named him Quasimodo as :

  (A) he was not fully grown. 

  (B) the writer had suggested it. 

  (C) he did not like the bird. 

  (D) it was an exotic bird. 

[CTET (6-8) (Lang. 2) 27/12/2021]

112. Study the following statements :

  (a) Quasimodo was being looked after 

by the writer. 

  (b) Quasimodo believed that he was not 

a bird.

   (A) (a) is right and (b) is wrong. 

   (B) (b) is right and (a) is wrong. 

  (C) Both (a) and (b) are right. 

  (D) Both (a) and (b) are wrong. 

[CTET (6-8) (Lang. 2) 27/12/2021]
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113. Which of the following statements is 

correct?

  (A) The pigeon did not like to be touched. 

  (B) The writer loved to go for a walk 

with the pigeon on his shoulder. 

  (C) Quasimodo liked to walk alongside 

the writer. 

  (D) Beautiful soft one feathers covered 
his body. 

[CTET (6-8) (Lang. 2) 27/12/2021]

114. Which word of the following is Opposite 

in meaning to the word, 8Wrinkled9?

  (A) uneven (B) smooth

  (C) unironed (D) furrowed

[CTET (6-8) (Lang. 2) 27/12/2021]

115. 8or else you let him

  The underlined word is a/an :

   (A) Conjunction (B) Adverb

   (C) Preposition (D) Interjection

[CTET (6-8) (Lang. 2) 27/12/2021]

Direction (Q. No.116-123)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the appropriate options 

from the given ones. 

The miraculous success achieved by the 

Green Revolution during the late 1960s, by 

converting India from grain deocit to wheat and 
rice surplus producing country, was followed 

by another grand success in milk production. 

It has proved to be a boon to the nation, by 

helping not only in stabilising milk prices. To 

a large extent through increased production of 

milk, but also by ending India9s dependence 

on milk imports, apart from generating a 

regular source of income to the small dairy 

farmers and others. In 1973, the Gujarat 

Cooperative Milk Marketing. Federation was 

born to market the milk products produced by 

Cooperative Milk Unions. Anand Milk Union 

Limited is symbolic of India9s gloriously 

successful cooperative dairy industry. In 

1964, a new development took place in 

the oeld of dairy farming in the district of 
Kaira in Gujarat, when the number of small 

milk producers9 village societies crossed the 

number of one hundred as against only two 

in mid-1940s. In 1946, Sardar Patel took the 

initiative in forming a cooperative society of 

small milk producers. After collecting their 

surplus milk, the society pasteurised it and 

then sent it to Bombay (now Mumbai) market. 

To begin with, there were only two village 

societies with 150 milk producers. They grew 

slowly, and in the meanwhile, a crusader-Dr. 

Kurien, appeared on the scene, and injected 

a new dynamism to dairying in the Kaira 

district. The societies faced a situation of glut 

in milk production during the winter season, 

which was double or even triple in volume as 

compared to that of summer. Consequently, 

they were not able to sell the entire winter 

season9s production of milk. To overcome this 

problem, Dr. Kurien planned the establishment 

of a dairy plant to convert the surplus milk into 

milk powder to be used during the summer 

season for increasing the supply of milk. 

116. After Green Revolution, India stopped the 

import of ............ . 

  (A) Pulses (B) Rice

  (C) Oilseeds (D) Tea and cofee
[CTET (6-8) (Lang. 2) 29/12/2021]

117. Study the following statements :

  (a) Cooperative dairy industry has 

helped the common man to buy milk 

at a reasonable price. 

  (b) For a long time India had to import 

some of the milk products. 

   (A) (a) is right and (b) is wrong

   (B) (b) is right and (a) is wrong

  (C) Both (a) and (b) are right

  (D) Both (a) and (b) are wrong

[CTET (6-8) (Lang. 2) 29/12/2021]

118. Study the following statements :

  (a) In 1960s and 1970s India performed 

a few miracles. 

  (b) Increased production of rice and 

wheat led to an  increased production 

of milk. 

  (c) Gujarat state led the milk revolution 

in the country. 

   (A) (a) is right while (b) and (c) are 

wrong. 

   (B) (b) is right while (a) and (c) are 

wrong. 

   (C) (b) is wrong while (a) and (c) are 

right. 

   (D) (a) is wrong while (b) and (c) are 

right. 

[CTET (6-8) (Lang. 2) 29/12/2021]

119. Under the guidance of Sardar Patel, 

pasteurised milk was sent :

  (A) to Punjab (B) all over India

  (C) abroad (D) to Bombay

[CTET (6-8) (Lang. 2) 29/12/2021]

120. Dr. Kurien gave a new direction to :

  (A) village societies of milk producers. 

  (B) individual milk producers. 

  (C) traders of cattle that give milk. 

  (D) milk markets. 

[CTET (6-8) (Lang. 2) 29/12/2021]

121. The word opposite in meaning to 8surplus9 

(para 1) is :

  (A) least (B) deocit
  (C) loss (D) decline

[CTET (6-8) (Lang. 2) 29/12/2021]

122. <apart from generating a regular source 

............ 

  The underlined word means the same as :

  (A) increasing (B) saving

  (C) producing (D) nowing
[CTET (6-8) (Lang. 2) 29/12/2021]

123. 8A regular source of income . . . . . . . . 9

  The underlined word is a/an :

   (A) Noun (B) Verb

   (C) Adjective (D) Adverb

[CTET (6-8) (Lang. 2) 29/12/2021]

Drection (Q. No. 124-130)

Read the passage given below and answer 

the questions that follow by choosing the 

correct/most appropriate options. 

<Most of my time is spent in my room, French-

plaiting other girls 8hair9, said Rachel Buford 
of the England women9s rugby team. Burford 

and her braided friends then go out in the 

rugby pitch where, if you have watched any 

of the recent world cup matches, you have 

noticed that the women are just as fearless 

as their male counterparts. <It has got to the 

point now when I feel a bit weird if I don9t do 

someone9s hair before a game=, said Burford. 
<Some of the girls look really tough with their 

hair plaited, so it is also a psychological thing a 

victorious thing.= Sadly victory wasn9t tied up 
in those braids, the team lost to New Zealand 

in the September onal, but many of the players 
looked oerce like warrior women going into 
battle. Plaits are the earliest of hair styles 

because before hair cutting and hair dressing. 

people obviously had long hair and plaits were 

the simplest way of keeping it out of the way, 

<says a fashion historian.= <For that reason=, 
she says, <we associate plaits with both 

women and men, and particularly those who 

were involved in athletic pursuits, such as war. 

Think of Legolas in= <The Lord of the Rings= 
or the super strong Obelix in the 8Asterix9 

cartoons. For women, Boudicca or Valkyrie 

plaits seem to enhance their ferocity=, says 
cox. It was a practical hair style until we get to 

the 19th century when it began to be associated 

with female children. Even now, plaits on the 

whole have the meaning of the youthful school 

girl. Not an image you will associate with 

England9s victorious rugby team. 

124. Rachel Burford is a/an :

  (A) instructor (B) hairdresser

  (C) rugby player (D) fearless oghter
[CTET (6-8) (Lang. 2) 21/01/2022]

125. During the World Cup all her plaited 

friends :

  (A) played fearlessly. 

  (B) won the world cup. 

  (C) were well appreciated. 

  (D) were able to beat the male players. 

[CTET (6-8) (Lang. 2) 21/01/2022]
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126. In para 2 the phrase, a psychological thing 

8refers to :

   (A) winning the game

   (B) looking like warrior women

   (C) plaiting her friends hair

   (D) being fashionable

[CTET (6-8) (Lang. 2) 21/01/2022]

127. Complete the following statement : 

  In older days ............ used to plait their 

hair. 

  (A) only men

  (B) only women

  (C) both men and women

  (D) neither men nor women

[CTET (6-8) (Lang. 2) 21/01/2022]

128. Study the following statements : 

  (a) Obelix in the A strix cartoons sported 

plaited hair. 

  (b) Today, the girls look really tough 

with plated hair. 

  (A) (a) is right and (b) is wrong

  (B) (a) is wrong and (b) is right

  (C) Both (a) and (b) are right

  (D) Both (a) and (b) are wrong

[CTET (6-8) (Lang. 2) 21/01/2022]

129. What part of speech is the underlined 

word in the following expression?

  8with their hair plaited9

  (A) Noun (B) Adverb

  (C) Adjective (D) Pronoun

[CTET (6-8) (Lang. 2) 21/01/2022]

130. 8We associate plaits ............ 

  The underlined word in the above 

expression means the same as :

  (A) Assemble (B) Relegate 

  (C) Assert (D) Connect

[CTET (6-8) (Lang. 2) 21/01/2022]

Direction (Q. No.131-138)

Read the passage given below and answer 

the questions/complete the statements that 

follow by choosing the correct options out 

of the given ones. 

Initially the milk lake of Kaira district in Anand 

in Gujarat was still. The cooperative movement 

led by Tribhuvandas Patel, under the guidance 

of Sardar Patel began to stir that lake. In due 

course of time it overnowed and start spreading 
throughout the country. All this would not have 

been possible without the steady presence of 

Dr. Kurien. Incidentally, Dr Kurien orst came 
to work with the Dairy Research Institute in 

1949, which became an integral part of the 

stream of milk consciousness. He took over 

an already existing dairy cooperative, run 

by Tribhuvandas Patel and mobilised the 

Milk Producers9 cooperatives, after oïce 
hours. He totally transformed the concept of 

dairying, by making the entire programme as 

comprehensive as possible with innovative 

methods such as having a network of veterinary 

services and cattle breeding centres. India9s 

Dairy Development Programme started in an 

era of acute milk shortage, when milk powder 

and butter oil were gifted to India, by the 

World Food Organisation, which subsequently 

emerged as a tremendous success. Operation 

Flood9, a dairy cooperative system evolved 

by Dr. Kurien on a national scale, has steered 

the country from milk scarcity to surplus, for 

other milk products. Under the umbrella of the 

National Dairy Development Board, 6 million 

dairy owners in 75,000 villages and milk 

Producers9 cooperative societies have been 

producing and marketing milk to 500 cities 

and towns, throughout India. 

131. What did Tribhuvandas Patel do to the 

milk lake of Kaira?

  (A) He bought all the milk. 

  (B) He supplied the milk all over India. 

  (C) He turned it into milk powder. 

  (D) He started it to make butter. 

[CTET (6-8) (Lang. 2) 11/01/2022]

132. Study the following statements :

  (a) Both the Patels worked in the oeld 
to start the cooperative movement. 

  (b) Real help came from Dr. Kurien. 

  (c) There was a dairy cooperative even 

before Dr. Kurien agreed to help. 

   (A) (a) is right and (b) is wrong. 

   (B) (b) is right and (c) is wrong. 

   (C) (c) is right and (a) is wrong. 

  (D) Both (b) and (c) are wrong. 

[CTET (6-8) (Lang. 2) 11/01/2022]

133. Which of the following is a true statement?

  (A) Kaira is part of Anand in Gujarat. 

  (B) Dr. Kurien worked whole time of 

Dairy Research Institute. 

   (C) Sardar Patel inspired Tribhuvandas 

Patel to join politics. 

  (D) Dairy Research Institute mobilised 

the Milk Producers9Cooperatives. 

[CTET (6-8) (Lang. 2) 11/01/2022]

134. Dr. Kurien transformed the concept of 

dairying by :

  (A) paying proper prices for dairy 

products. 

  (B) ofering veterinary services network. 
  (C) helping the dairy farmers in getting 

better breeds of cows. 

  (D) Both (B) and (C) 

[CTET (6-8) (Lang. 2) 11/01/2022]

135. 8Operation Flood9 is signiocant as :
   (A) India has started producing surplus 

milk. 

   (B) it has helped millions of dairy 

owners. 

   (C) India has started exporting milk. 

   (D) Both (A) and (B) 

[CTET (6-8) (Lang. 2) 11/01/2022]

136. 8has steered the country from ............=
  The underlined word means :

  (A) reared (B) guided

  (C) restored (D) stopped

[CTET (6-8) (Lang. 2) 11/01/2022]

137. Which became an integral part of . . . . 

  The underlined word does NOT mean :

  (A) inbuilt (B) inherent

  (C) missing (D) connecteed

[CTET (6-8) (Lang. 2) 11/01/2022]

138. When milk powder and butter oil were 

gifted to India9

  The above expression is an example of a/

an ............ clause. 

  (A) Principal (B) Noun

  (C) Adjective (D) Adverb

[CTET (6-8) (Lang. 2) 11/01/2022]

Direction (Q. No. 139 to 147)

Read the passage given below and answer 

the questions that follow by selecting the 

correct/most appropriate options :

Learning a language under any circumstances 

require hard work and concentration. 

However, the circumstances can make a 

diference in both quality and quantity. 
Most foreign language students learn in a 

classroom, from a text-book. In a classroom, 

language learning can be  controlled so that 

all the necessary structure are taught. Highly 

motivated students can thus learn the language 

eïciently and quickly. Learning on the streets 
and in the markets from experience and need 

can be efective although the student learns 
only what he happens to need, in a haphazard 

way. Some language students ond this real-
life situation more meaningful because the 

student9s success in fulolling their needs 
depends on  their language ability. However, 

shop-keepers are more likely to be tolerant of 

incorrect grammar than classroom teachers, so 

mispronunciations and errors will not matter 

much. Nevertheless, the rewards are diferent 
for the type of language learning situations. 

They are immediate (goods, bought in a store) 

in the real-life but delayed until a quiz or oral 

recital for the classroom learner.

The kind of language learnt in each setting 

difers too. In the classroom, the student is 
more likely to learn the grammatical language 

of educated people. The language learnt out 

of necessity often lacks the one details of the 
classroom variety and might include informal 

expressions such as slang. The people learning 

on the street must be easily understood. 

Therefore, they might actually sound 

more like native speakers 4 although not 

necessarily educated people. So a combination 

of classroom instruction and the experience of 

using language in the street will result in the 

best language learning of all. 

CTET (Lang.-I) 8 Dec. 2019 (VI-VIII)
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139. Study the following statements :

  (a) At school one learns the language of 

educated people.

  (b) Language learnt on the street 

includes the use of.

  (A) (a) is wrong and (b) is right.

  (B) both (a) and (b) are right.

  (C) both (a) and (b) are wrong

  (D) (a) is right and (b) is wrong.

140. Which part of speech is the underlined 

word in the following sentence ?

  The kind of language learnt in each setting 

difers too.
  (A) Determiner 
  (B) Conjunction

  (C) Preposition 
  (D) Pronoun

141. Study the following phrase. Which part of 

speech is the underlined word ?

  8But delayed until a quiz ...........9

  (A) Determiner   

  (B) Conjunction

  (C) Preposition   

  (D) Pronoun

142. What does the word 8motivated9 mean in 

the following phrase ?

  8Highly motivated students can thus 

...............9

  (A) resourceful (B) muddled

  (C) interested (D) intelligent

143. 8...............in a haphazard way.9

  The word 8haphazard9 means :

  (A) unorganized (B) Safe

  (C) proper (D) dangerous

144. The best place to correctly and quickly 

learn a foreign language is :

  (A) only the market place

  (B) both the classroom and the market 

place

  (C) home

  (D) only the classroom.

145. A text-book :

  (A) motivates the students.

  (B) teachers what a student needs.

  (C) is an inexpensive tool of learning

  (D) controls language learning.

146. Language needs of real-life situations are 

fulolled by :
  (A) learning the language structures.

  (B) learning on the streets.

  (C) learning proper pronunciation.

  (D) studying text-books carefully.

147. Which of the following statements is 

not true ?

  (A) Real-life situations are more mean-

ingful for language learning.

  (B) Classroom learning can be tested in 

an oral recital.

  (C) Foreign students learn language 

mostly from text-books.

  (D) Shopkeepers are intolerant of  

incorrect pronunciation.

Direction (Q. No. 148 to 156)

Read the passage given below and answer 

the questions that follow by selecting the 

most appropriate options :

One of the unhealthiest emotions is anger. It 

destroys our ability to think clearly, properly 

and in totality. Anger also has adverse impact 

on health. If you ask a selection of people 

what triggers their anger, you would get a 

wide range of answers. However, whatever the 

cause, even a single word spoken in anger can 

leave a lasting impression on person9s heart 

and has the ability to ruin the sweetness of any 

relationship.

A sage once said, "How can there be peace on 

earth if the hearts of men are like volcanoes ?" 

We can live in harmony with others only when 

we overcome anger and make room for peace. 

So how can we set about creating that sense 

of peace within ourselves ? It starts with the 

realisation that we do have the choice to think 

and feel the way we want to. If we look at what 

it is that makes us angry, we might discover 

there is nothing that has the power to make us 

feel this way. We can only allow something to 

trigger our anger- the anger is a way in which 

we resond to an event or person. But because 

we are so used to reacting on impulse, we 

forget to choose how we want to feel, and end 

up reacting inappropriately, leaving ourselves 

with angry feelings.

Meditation helps us create personal space 

within ourselves so that we have the chance 

to look, weight the situation and respond 

accordingly, remaining in a state of self-

control. When we are angry, we have no self-

control. At that moment, we are in a state 

of internal chaos, and anger can be a very 

destructive force.

Stability that comes from practice of meditation 

can create a orm foundation, a kind of positive 
stubbornness. Others can say whatever they 

want, and it may also be true, but we don't lose 

our peace or happiness on account of that. This 

is to respect what is eternal within each of us.

We give ourselves the opportunity to maintain 

our own peace of mind, because let's face it, no 

one's going to turn up at our door with a box 

full of peace and say, "Here, I think you could 

do with some of this today!" There is a method 

which could be described as sublimation, or 

the changing of form. With daily practice 

and application of spiritual principles in our 

practical life, experience of inner peace can 

come naturally.

[CTET (6-8) (Lang.-I) Sep. 2015]

148. Why should we not get angry with a  

friend ?

  (A) It afects over health.
  (B) It ruins our relationship.

  (C) It damages our intellectual ability.

  (D) It may give us a heart attack.

149. The antonym for the word, 8triggers9 is : 

  (A) prolongs (B) deviates

  (C) controls (D) excites

150. The synonym for the word, 8adverse9 is : 

  (A) successful (B) unfavourable

  (C) similar (D) angry

151. Which part of speech is the underlined 

word ? 

  ............can leave a lasting impression on 

a............

  (A) Pronoun (B) Verb

  (C) Adjective (D) Noun

152. Meditation helps us create personal space.

  Voice in the above sentence has been 

correctly changed in : 

  (A) Personal space has been created by 

meditation.

  (B) We have been helped to create per-

sonal space.

  (C) Personal space is helped by medi-

tation.

  (D) We are helped by meditation to create 

personal space.

153. What is anger ? 

  (A) It is our reaction to an event or 

person.

  (B) It is release of our pent up emotions.

  (C) It is an efort to avenge ourselves.
  (D) It is loss of control over our temper.

154. Getting angry..............

  (A) gives us a feeling of superiority

  (B) makes us feel ashamed of ourselves

  (C) afects our digestive system
  (D) afects the clarity of our mind
155. How can we get peace of mind ? 

  (A) By accepting life as it comes

  (B) By enjoying good healthy

  (C) By overcoming anger

  (D) Through prolonged medication

156. To overcome anger, meditation helps us by 

  (A) giving us the choice to think.

  (B) remaining in a state of self-control.

  (C) ofering us a wide range of answers.
  (D) removing the trigger.

Direction (Q. No. 157 to 165)

Read the given passage and answer the 

questions that follow by selecting the most 

appropriate option.

The orst detailed description of plastic surgical 
procedures is found in the clinical text on 

Indian surgery, the Sushruta Samhita which 

incorporates details of surgical tools and 

operative techniques. Sushruta wrote, based on 

the lectures of his teacher, the famous surgeon 
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king, Devadas. He taught this pupils to try 

their knives orst on natural as well as artiocial 
objects resembling diseased parts of the body 

beofre undertaking the actual operations. It is 

interesting to note that modern surgery stresses 

so much upon simulation, models and cadaver 

training before actual performance to increase 

and improve patient safety. He stressed on 

both theoretical and practical training and had 

famously remarked once : <The physician who 

has only the book of knowledge (Sastras) but 

is unacquainted with the practical methods of 

treatment or who knows the practical details 

of the treatment but from self-conodence, does 
not study the books, is unot to practice his 
calling.= Sushruta considered surgery to be 

the most important branch of all the healing 

arts, and had performed and described in detail 

several complicated operations. This include 

operations for intestinal obstruction, hernia 

repairs, bladder stone, but more importantly, 

several plastic surgical operations, including 

those for cleft lip and nose reshaping, which 

are performed virtually unchanged even today 

from his descriptions about 3000 years ago !

[CTET (6-8) (Lang.-I) 21-9-2014]

157. The paragraph focuses on the4

  (A) evolution of medicine in India

  (B) life of Sushruta and his work

  (C) India9s contribution to medical 

science

  (D) methods of plastic surgery in India

158. Sushruta9s training consisted of4

  (A) acquiring complete theoretical 

knowledge

  (B) apprenticeship under a guru

  (C) practice on objects similar to human 

body parts

  (D) focusing on non-surgical procedures

159. The passage gives us details about4

  (A) how to perform certain types of 

surgery

  (B) how to become a good surgeon

  (C) how surgery can replace other 

treatments

  (D) how patients have to be treated after 

surgery

160. The closest meaning of the word 

8undertaking9 is4

  (A) experimenting on

  (B) taking up

  (C) trying out

  (D) venturing to

161. A word or phrase that can replace 

8virtually unchanged9 in the text is :

  (A) literally unknown

  (B) very well known

  (C) factually unaltered

  (D) slowly evolving

162. An antonym of the word 8complicated9 is :

  (A) facile (B) stressful

  (C) unknown (D) mysterious

163. The personal quality which Sushruta 

warns against is4

  (A) arrogance (B) cowardice

  (C) rudeness  (D) ignorance

164. According to Sushruta, .......... are above 

all healing arts.

  (A) observation and counselling

  (B) surgery and post-operative care

  (C) timely administration of medicine 

and counselling

  (D) study of patient9s condition

165. The writer9s objective here is to4

  (A) present a short history of ancient 

surgical practices

  (B) outline about India9s potential in the 

medical oeld
  (C) draw attention to Indian traditional 

knowledge

  (D) compare modern and ancient 

practices

Direction (Q. No. 166 to 172)

Read the passage given below and answer 

the questions that follow by selecting the 

correct/most appropriate options.

The strength of Indian democracy lies in its 

tradition, in the fusion of the ideas of democracy 

and national independence which was 

characteristic of the Indian national movement 

long before independence. Although the 

British retained supreme authority over 

India until 1947, the provincial elections of 

1937 provided real exercise in democratic 

practice before national independence. During 

the Pacioc War, India was not overrun or 
seriously invaded by the Japanese and after 

the War was over, the transfer of power to a 

government of the Indian Congress Party was 

a peaceful one as far as Britain was concerned. 

By 1947, Indianization9 had already gone far 

in the Indian Civil Service and army, so that 

the new government could start with efective 
instruments of central control.

After independence, however, India was 

faced with two vast problems, the orst, that 
of ethnic diversity and the aspirations of sub-

nationalities. The Congress leadership was 

more aware of the former problem than of 

the second; as a new political elite which had 

rebelled not only against the British Raj, but 

also against India9s social order; they were 

conscious of the need to initiate economic 

development and undertake social reforms, but 

as nationalists who had led a struggle against 

alien rule on behalf of all parts of India, they 

took the cohesion of the Indian nation too much 

for granted and underestimated the centrifugal 

forces of ethnic division, which were bound 

to be accentuated rather than diminished 

as the popular masses were more and more 

drawn into politics. The Congress Party was 

originally opposed to the idea of recognizing 

any division of India on a linguistic basis 

and preferred to retain the old provinces of 

British India which often cut across linguistic 

boundaries; it was only in response to strong 

pressures from below that the principle of 

linguistic States was conceded as the basis of 

a federal 8Indian Union9. The rights granted 

to the States created new problems for the 

Central Government. The idea of making 

Hindi the national language of a united India 

was thwarted by the recalcitrance of the 

speakers of other important Indian languages 

and the autonomy of the States rendered 

central economic planning extremely diïcult.
Land reforms remained under the control of the 

States and many large-scale economic projects 

required a degree of cooperation between 

the Central Government and one or more of 

the States which it was found impossible to 

achieve. Coordination of policies was diïcult 
even when the Congress Party was in power 

both in the States and at the Centre; when a 

Congress government in Delhi was confronted 

with non-Congress parties in oïce in the 
States, it became much harder.

[CTET (6-8) (Lang.-II) 9 Dec. 2018]

166. Choose the word which is most nearly the 

same in meaning as the word 8thwarted9 

as used in the passage.

  (A) Accepted 

  (B) Diverted

  (C) Opposed 

  (D) Implemented

167. Choose the word which is most opposite   

in   meaning   of   the   word 8conceded9 

as used in the passage.

  (A) Denounced 

  (B) Withdrawn

  (C) Criticized 

  (D) Rejected

168. Why was central economic planning 

found to be diïcult ?
  (A) Autonomy given to the States in 

certain matters

  (B) Lack of will in implementing land 

reforms

  (C) Multiplicity of States and Union 

Territories

  (D) Lack of coordination in different 

government departments

169. Which one of the following problems 

was India faced with after independence?

  (A) Improper coordination of various  

government policies

  (B) Increasing the production from a 

very low level
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  (C) Military attack from across the 

border

  (D) Lack of coordination between the 

Central and State Governments 

170. Which one of the following issues was 

not appropriately realized by the Central 

Government ?

  (A) Implementation of the formulated 

policies

  (B) Centre-State relations

  (C) Ethnic diversity of the people

  (D) A national language for the country

171. Which, according to the passage, can be     

cited as exercise in democratic practice   

in India before independence ?

  (A) The  Indianization  of the Indian Civil 

Service

  (B) Several democratic institutions 

created by the Indian National 

Congress

  (C) The handing over of the power by 

British to India

  (D) None of the above

172. Which one of the following statements 

is   not true in the context of the passage?

  (A) The political elite in India rebelled 

against the British Raj.

  (B) The Congress leadership was fully 

aware of the problems of ethnic 

diversity in India at the time of 

independence.

  (C) The Congress Party was originally 

opposed to the idea of division of 

States on linguistic basis.

  (D) Economic development and social 

reforms were initiated soon after 

independence.

Direction (Q. No. 173 to 181)

Read the both passage given below and 

answer the questions that follow by selecting 

the most appropriate option.

The nation is proud of its scientists and 

scholars, though, of course, many of them 

would reply that they doubt whether the nation 

cares for them at all. When asked why many 

of our best and brightest have gone abroad to 

make a living, they opine that this is because 

as a nation we have not cared for the talented 

and meritorious.

There is some truth in what they say. However, 

by and large, compared to the situation 

before independence, government assistance 

has provided a tremendous opportunity for 

higher education. If today Indian scientists, 

technologists and scholars in diferent oelds 
are respected worldwide, it is because of the 

education system we have built up.

Our excellence is evident within the conones 
of the limited opportunities which are 

available for research and development in 

the universities and the national R and D 

laboratories. We believe and appeal that 

scientists, researchers and scholars should shed 

their pessimism. There are many reasons for it. 

We know the problems they face, especially 

the younger ones and also those who are not 

in positions of power in these institutions, the 

so-called middle levels and the lower levels. 

We appeal to these people to think big, because 

they are the only ones who understand the 

forces of technological modernization and the 

new energies that can be unleashed through 

technologies. They also have the capability to 

absorb the knwoledge base which is growing 

at an explosive rate.

[CTET (6-8) (Lang.-II) 22-02-2015]

173. What is ironic about our pride in our 

scientists ?

  (A) They go abroad to make a living

  (B) They are talented and meritorious

  (C) They are held in high esteem

  (D) The nation cares for them 

174. What happens to our best scientists ?

  (A) They get government grants

  (B) They don9t get respectable jobs here

  (C) They start teaching in colleges

  (D) They start doing research 

175. After independence how has the situation 

changed in India ?

  (A) The government is sending scientists 

abroad

  (B) Our system of higher education has 

improved a lot

  (C) Foreign scholars are teaching in our 

universities

  (D) The scientists are given Padma 

awards 

176. Our scientists have proved to be excellent 

even if 

  (A) we have excellent research centres

  (B) we ofer them excellent opportunities
  (C) we pay them well

  (D) we ofer them limited opportunities
177. The writer wants our scientists to :

  (A) go abroad to make a living

  (B) be pessimistic in their approach

  (C) be optimistic in their attitude

  (D) become part of the scientioc 
community 

178. Which one of the following is true ?

  (A) Our scientists are respected all over 

the world

  (B) Our scientists are not talented

  (C) We have the best research facilities 

in India

  (D) We care for our scientists 

179. The writer makes an appeal to 

  (A) neither the middle nor lower level 

scientists

  (B) the lower level scientists only

  (C) the middle and lower level scientists

  (D) the middle level scientists only

180. The phrase, 8at an explosive rate9 means

  (A) at an abnormal speed

  (B) with the help of an explosion

  (C) at normal speed

  (D) at a great speed

181. The word opposite in meaning to 

8unleashed9 is

  (A) controlled (B) uncontrolled

  (C) unfastened (D) inexpensive

Answer Key
 1. (A) 2. (D) 3. (A) 4. (B) 5. (A)

 6. (B) 7. (C) 8. (D) 9. (D) 10. (B)

 11. (C) 12. (B) 13. (A) 14. (B) 15. (C) 

 16. (C) 17. (A) 18. (D) 19. (C) 20. (C)

 21. (D) 22. (A) 23. (B) 24. (B) 25. (B) 

 26. (A) 27. (B)  28. (D) 29. (D) 30. (C)

 31. (B) 32. (A) 33. (D) 34. (A) 35. (C)

 36. (C) 37. (B) 38. (D) 39. (B) 40. (D)

 41. (A) 42. (C) 43. (D) 44. (B) 45. (C)

 46. (D) 47. (A) 48. (A) 49. (B) 50. (C)

 51. (D) 52. (C)	53. (D) 54. (B) 55. (D) 

 56. (C) 57. (C) 58. (B) 59. (C) 60. (C)

 61. (D) 62. (B) 63. (A) 64. (C) 65. (D)

 66. (C) 67. (C) 68. (B) 69. (D) 70. (A) 

 71. (B) 72. (B) 73. (D) 74. (C) 75. (B)

 76. (C) 77. (C) 78. (A) 79. (C) 80. (A)

 81. (B) 82. (C) 83. (A) 84. (C) 85. (D)

 86. (C) 87. (A) 88. (C) 89. (D) 90. (A)

 91. (B) 92. (D) 93. (B) 94. (B) 95. (D)

 96. (B) 97. (B) 98. (C) 99. (B) 100. (D)

 101. (A) 102. (C) 103. (B) 104. (B) 105. (C)

 106. (A) 107. (B)108. (B) 109. (D) 110. (B)

 111. (C) 112. (C)113. (C) 114. (B) 115. (A)

 116. (B) 117. (C)118. (B) 119. (D) 120. (B) 

 121. (B) 122. (C)123. (C) 124. (C) 125. (A)

126. (B) 127. (C)128. (C) 129. (C) 130. (D)

 131. (B) 132. (D)133. (A) 134. (D) 135. (D)

136.  (B) 137. (C)138. (A) 139. (B) 140. (A)

 141. (B) 142. (C) 143. (A) 144. (D) 145. (D)

 146. (B) 147. (D) 148. (B) 149. (C) 150. (B)

 151. (C) 152. (D) 153. (A) 154. (D) 155. (C)

 156. (B) 157. (C) 158. (C) 159. (B) 160. (D)

 161. (C) 162. (A) 163. (A) 164. (B) 165. (C)

 166. (C) 167. (D) 168. (A) 169. (D) 170. (C) 

171.  (D) 172. (B) 173. (A) 174. (B) 175. (D) 

176.  (D) 177. (C) 178. (A) 179. (C) 180. (D) 

181.  (A)
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fgUnh Hkk"kk  |   1

 vifBr x|ka'k
v/;k;

1

funsZ'k (ç'u la[;k 1 ls 9 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFk iwNs x, iz'u 
ds fy, lcls mi;qDr fodYi dk p;u dhft,A

  Hkkjrh; lekt cgqHkkf"kd gSA bl lekt ds 
lHkh cPps cgqHkkf"kd gksrs gSa] ysfdu d{kkvksa 
esa lekt dh Hkkf"kd okLrfodrk dks ut+j 
vankt djds mu ij y{; Hkk"kk ds :i ykn 
fn, tkrs gSa blesa cPpksa dh l`tukRedrk rFkk 
le> ij udkjkRed izHkko iM+rk gSA d{kk esa 
cPpksa dh cgqHkkf"kd {kerkvksa dk mi;ksx djuk] 
lh[kus&fl[kkus dh cgqHkkf"kd n`f"V dk egRoiw.kZ 
igyw gSaA cgqHkkf"kd ,slh izfØ;k gS ftlesa ,d 
ls vf/kd Hkk"kkvksa ds mi;ksx dks Lohdkj fd;k 
tkrk gSA ,d gh le; esa ekr`Hkk"kk ds lkFk&lkFk 
{ks=h; Hkk"kk@Hkk"kkvksa rFkk vU; Hkk"kk dks lquus o 
le>us] cksyus o O;Dr djus] fy[kus rFkk i<+us 
dks egRo fn;k tkuk cgqHkkf"kdrk dk mís'; gSA 
Hkk"kkfonksa dk ekuuk gS fd dksbZ Hkh Hkk"kk vU; 
Hkk"kkvksa ls feydj fodflr gksrh gSA Hkk"kk ds 
fodkl dk eryc mlds 'kCn HkaMkj esa o`f¼ dk 
gksuk] mldh vfHkO;fDr dh fo/kkvksa dk foLrkj 
gksuk] mlesa Kku ds u, voljksa dh laHkkoukvksa 
dk [kqyuk vkfn gksrk gSA ,d ls vf/kd Hkk"kkvksa@
Hkkf"kd O;ogkj djus okyksa ds ikl fcac] foèkk 
'kCn&p;u] mnkgj.k vkfn dk HkaMkj ,d gh 
Hkk"kk tkuus okys dh rqyuk esa vf/kd gksrk gSA

1. lgh dFku dh igpku djsa%
  (A) Hkkjrh; lekt ,dyHkk"kh gSA
  (B) Hkk"kk,¡ ,d&nwljs ds fodkl dks vo#¼ 

djrh gSaA
  (C) lekt ds lHkh cPPks cgqHkkf"kd gksrs gSaA
  (D) cgqHkkf"kd {kerkvksa dk mi;ksx djuk 

vko';d ugha gSA
CTET (6-8) 30-01-2023

2. cgqHkkf"kdrk dk D;k mís'; gS \
  (A) fofHkUu Hkk"kkvksa dks cksyuk o muesa O;Dr 

dj ikuk
  (B) dsoy y{; Hkk"kk esa f'k{k.k vf/kxe djuk
  (C) ns'k dh dk;kZy;h Hkk"kk esa fy[kuk o i<+uk
  (D) fganh esa lkfgR; l`tu djuk

CTET (6-8) 30-01-2023

3. d{kk esa cPpksa dh cgqHkkf"kd {kerk dk mi;ksx  
D;ksa djuk pkfg, \ D;ksafd %

  (A) cPpksa dh l`tukRedrk ckf/kr gksrh gSA
  (B) cPps ,dy Hkk"kh gksrs gSaA
  (C) cPpksa esa le> cukus dh {kerk lhfer 

gksrh gSA
  (D) cPpksa dh le> dk foLrkj gksrk gSA

CTET (6-8) 30-01-2023

4. Hkk"kk ds fodkl ls D;k vfHkizk; gS \ 
  (A) 'kCn HkaMkj dk lhfer gksuk
  (B) vfHkO;fDr ds fy, vikj laHkkouk,¡ gksuk
  (C) lafo/kku dh lwph esa LFkku izkIr djuk
  (D) Hkk"kk laca/kh ikB~;Øeksa esa o`f¼ gksuk

CTET (6-8) 30-01-2023

5. ,dyHkk"kh fo|kFkhZ dh rqyuk esa cgqHkk"kh fo|kFkhZ 
ds ikl D;k&D;k vf/kd gksus dh laHkkouk, 
vf/kd gSa \

  (A) 'kCnp;u] vf/kdkj]fcac
  (B) Kku] lÙkk] mnkgj.kksa dk HkaMkj
  (C) 'kCn p;u] fcac] fo/kk,¡
  (D) iBu esa :fp] fcac o 'kCn HkaMkj

CTET (6-8) 30-01-2023

6. d{kkvksa esa cgqHkkf"kd fLFkfr dks utjvankt+ 
djus ls D;k vfHkizk; gS \

  (A) cPpksa dks fdlh Hkh Hkk"kk esa cksyus dh 
vuqefrA

  (B) cPpksa dks ekr`Hkk"kk o y{; Hkk"kk esa f'k{k.k 
vf/kxe djokukA

  (C) f=Hkk"kk lw= dk ikyu djukA
  (D) dsoy y{; Hkk"kk dk gh iz;ksx djukA

CTET (6-8) 30-01-2023

7. dkSu-lk 'kCn fHkUu gS \
  (A) cksyuk (B) lquuk
  (C) i<+uk (D) [kqyuk

CTET (6-8) 30-01-2023

8. fdl 'kCn esa ^rk* izR;; yxkdj u;k lkFkZd 
'kCn cuk;k tk ldrk gS \

  (A) {ks=h; (B) laHkkouk
  (C) izfØ;k (D) mís';

CTET (6-8) 30-01-2023

9. ^fcac* dk vFkZ D;k gS \
  (A) lw{e d.k 
  (B) xksy Vhdk
  (C) O;atuk 'kfDr ls fudyus okyk vFkZ
  (D) vR;ar lw{e xksy vkÏfr dk fpÊ

CTET (6-8) 30-01-2023

funsZ'k (ç'u la[;k 10 ls 18 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'u ds fy, lcls mi;qDr fodYi dk p;u 
dhft,A

fxtqHkkbZ dh f'k{kk i¼fr ds dsaæ esa fufoZokn :i ls 
ckyd Fkk] vkSj mudk lEiw.kZ fpUru o vk;kstu 
mlh ds bnZ&fxnZ jgk Fkk] ij os bl egRoiw.kZ rF; 
dks ugha Hkwys fd ckyd ds f'k{k.k ls iwoZ ekrk&firk 
dk f'k{k.k Hkh de vko';d ughaA 'kkyk,¡ ftl uhfr 
dks ysdj f'k{k.k&çfØ;k dk vk;kstu djrh gSa] 
ekrk&firk dks Hkh mldh tkudkjh gksuh t:jh gS] 
lkFk gh os ckyd ds lkFk O;ogkj esa ml yhd ls 
dgha vyx u pys tk,¡] tks 'kkykvksa us cky&fodkl 
vkSj cky&f'k{k.k ds fufer js[kkafdr dh gSA muds 
cky&f'k{k.k ds egRoiw.kZ i{k gSa% ckyd dh bPNk] 
mldk vkuUn] mldh vktknh] mldk drZO; vkSj 
fØ;k'khyrkA fxtqHkkbZ ?kj esa ckyd dh #fp;ksa dks 
egRo nsus] ml ij viuh bPNk,¡&vkKk,¡ u Fkksius] 
mls Lo;a dke djus nsus] mlds fodkl gsrq ?kj esa 
fofo/k l`tukRed ço`fÙk;k¡ miyC/k djkus vkfn ds 
lq>ko nsrs gq, vfHkHkkodksa ls fo'ks"k vis{kk,¡ O;Dr 
djrs gSa fd ckyd dks Lora=&psrk cukus dss fy, ?kj 
esa [kqysiu dk ekgkSy nsaA ckyd dks LorU=rk nsus 
ds i{k/kj fxtqHkkbZ ekrk&firk dks LorU=rk vkSj 
fujadq'krk dk lw{e vUrj Hkh le>krs gSaA

CTET (6-8) 28-01-2023

10. fxtqHkkbZ ds lEiw.kZ fpUru ,oa ys[ku ds dsUæ 
esa dkSu gS \

  (A) f'k{kk uhfrdkj (B) vfHkHkkod
  (C) cPps (D) ikB~;iqLrdsa

11. fxtqHkkbZ ds vuqlkj ekrk&firk dks fdl dh 
tkudkjh gksuh t:jh gS \

  (A) ikB'kkyk dh f'k{k.k uhfr
  (B) ikB'kkyk dk foÙk çca/ku
  (C) ikB'kkyk dk LFkkiuk fnol
  (D) ikB'kkyk dh çca/ku lfefr

12. fxtqHkkbZ us ckyd ds f'k{k.k ls iwoZ fdlds 
f'k{k.k dks vko';d ekuk \

  (A) fo|ky; ds vf/kdkfj;ksa dk
  (B) ckydksa ds ekrk&firk dk
  (C) ckydksa ds lgikfB;ksa dk
  (D) uhfrdkjksa dk
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13. çLrqr x|ka'k ds vuqlkj cky f'k{k.k dk 
egRoiw.kZ i{k dkSu&lk gS \

  (A) ikB~;iqLrdsa
  (B) cPpksa ds f[kykSus
  (C) cPpksa dh fØ;k'khyrk
  (D) cPpksa esa vuq'kklu

14. cPpksa dh f'k{kk ds lanHkZ esa fxtqHkkbZ vfHkHkkodksa 
dks D;k lq>ko nsrs gSa \

  (A) cPpksa ij iwjh rjg ls gkoh jguk pkfg,A
  (B) cPpksa dks vkns'k nsrs jguk pkfg,A
  (C) cPpksa dh {kerk ij fo'okl ugha djuk 

pkfg,A
  (D) cPpksa dks Lo;a dke djus nsuk pkfg,A

15. x|ka'k dh fo"k;oLrq ds vk/kkj ij dgk tk 
ldrk gS fd fxtqHkkbZµ

  (A) euksfpfdRld FksA 
  (B) f'k{kkfon~ FksA
  (C) ç'kklfud vf/kdkjh FksA
  (D) ç/kkuk/;kid FksA

16. ^fØ;k'khyrk* esa çR;; gSµ
  (A) r (B) y $ rk
  (C) rk (D) bZ

17. ^cky&f'k{k.k* dk lekl foxzg gSµ
  (A) ckyd dk f'k{k.k (B) ckyd vkSj f'k{k.k
  (C) ckyd esa f'k{k.k (D) ckyd ls f'k{k.k

18. fdl 'kCn esa ^rk* çR;; yxkdj u;k lkFkZd 
'kCn cusxk \

  (A) f'k{k.k (B) vkuUn
  (C) fodkl (D) Lora=

funsZ'k  (ç'u la[;k 12 ls 27 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'u ds fy, lcls mi;qDr fodYi dk p;u 
dhft,A

vxj ;qok vkcknh vf/kd gks rks mlls vkfFkZd fodkl 
nj dks rst djus esa enn feyrh gSA Hkkjr esa cqtqxks± ds 
eqdkcys dke djus yk;d yksxksa dh la[;k vfèkd gSA 
bls MseksxzkfQd fMohMsaM ;kuh tulkaf[;dh; ykHkka'k 
dgrs gSaA phu vkSj nf{k.k dksfj;k tSls iwohZ ,f'k;kbZ 
ns'kksa dh rjDdh dk vk/kkj blh dks ekuk tkrk gSA 
ysfdu dke djus yk;d vkcknh dk cM+k fgLlk 
csjkstxkj gks] rks bldk eryc gS fd MseksxzkfQd 
fMohMsaM dk Qk;nk ugha mBk;k tk jgk gSA Hkkjr ds 
lkFk ;gh gks jgk gSA blfy, gesa ;qokvksa ds fy, jkstxkj 
ds vf/kd ekSds cukus gksaxsA MseksxzkfQd fMohMsaM dh 
cnkSyr gh 1990 vkSj 2000 ds n'kd esa phu dh 
thMhih xzksFk yxkrkj 10 Qhlnh ds vklikl jghA 
vc phu esa cqtqxks± dh vkcknh c<+ jgh gSA ysfdu Hkkjr 
ds ikl yacs le; rd ;g ekSdk cuk jgus okyk gSA 
2021 esa Hkkjr dh djhc 64 Qhlnh vkcknh dkedkt 

ds yk;d FkhA vxys 10 lky esa ;g c<+dj yxHkx 
65 çfr'kr gks tk,xhA Hkkjr vHkh ;qok ns'k gSA vxj 
ge 15 ls 29 lky dh mez okyksa dks ukStoku ekusa] rks 
Hkkjr esa vkSlr mez 28 lky ds djhc gSA ;g 2026 

rd c<+dj 30 vkSj 2036 rd 35 lky gks tk,xhA 
oSls] Hkkjr esa Hkh VksVy QfVZfyVh jsV (;kuh ,d efgyk 
ds cPPkksa dh vkSlr la[;k) 2.1 ds fjIyslesaV jsV ls 
uhps gS] ysfdu {ks=h; Lrj ij blesa tks vlarqyu gS] 
og ,d pqukSrh gSA [kkldj] mÙkj çns'k] fcgkj] e/; 
çns'k tSls jkT;ksa esa tgk¡ VksVy QfVZfyVh jsV jk"Vªh; 
vkSlr ls T;knk gSA bl vlarqyu dks nwj djuk gksxkA 
;g dke efgykvksa dh f'k{kk esa lq/kkj ykdj vkSj mUgsa 
l'kDr dj fd;k tk ldrk gSA

CTET (6-8) 20-01-2023

19. fdlh Hkh ns'k dh ;qok vkcknh ls rkRi;Z gS  
-------------------A

  (A) csjkstxkj O;fDr;ksa dh la[;k
  (B) dke djus ;ksX; O;fDr;ksa dh la[;k
  (C) dke u djus ;ksX; O;fDr;ksa dh la[;k
  (D) cPpksa dh la[;k

20. fdlh Hkh ns'k esa ;qok tula[;k vf/kd gS] rks 
-------------------A

  (A) vkfFkZd mUufr /kheh xfr ls gksrh gSA
  (B) vkfFkZd mUufr dh xfr ij dksbZ çHkko 

ugha iM+rk gSA
  (C) vkfFkZd mUufr rst xfr ls gksrh gSA
  (D) vkfFkZd mUufr dh xfr lkekU; jgrh gSA

21. ÞHkkjr vHkh ;qok ns'k gSAß dk vFkZ gS ---------------A
  (A) Hkkjr vHkh u;k ns'k gSA
  (B) Hkkjr dks Lora= gq, cgqr vf/kd le; 

ugha gqvk gSA
  (C) Hkkjr esa ukStokuksa dh tula[;k vf/kd 

gSA
  (D) Hkkjr çkphu ns'k gSA

22. x|ka'k ds vuqlkj fdl lu~ eas Hkkjr dh yxHkx 
64% tula[;k dke djus yk;d Fkh \

  (A) lu~ 1921 (B) lu~ 2011

  (C) lu~ 2021 (D) lu~ 2022

23. x|ka'k ds vuqlkj tulkaf[;dh; ykHkka'k 
dk ykHk mBkus ds fy, Hkkjr dks djuk gksxk  
----------------A

  (A) tula[;k fu;a=.k
  (B) jkstxkj ds vf/kd volj tqVkuk
  (C) O;kikj esa o`f¼ djuk
  (D) fu;kZr esa o`f¼ djuk

24. ÞHkkjr esa cqtqxks± ds eqdkcys dke djus yk;d 
yksxksa dh la[;k vf/kd gSAß ls vk'k; gS%

  (A) o`¼ksa dh rqyuk esa cPpksa dh la[;k vf/kd 
gSA

  (B) o`¼kas dh rqyuk esa ukStokuksa dh la[;k 
vfèkd gSA

  (C) ukStokuksa dh rqyuk esa o`¼ksa dh la[;k 
vfèkd gSA

  (D) o`¼ksa vkSj ukStokuksa dh la[;k leku gSA

25. x|ka'k ds vuqlkj efgykvksa dks f'kf{kr djus 
ls ----------------A

  (A) tula[;k o`f¼ nj esa larqyu fd;k tk 
ldrk gSA

  (B) tula[;k o`f¼ nj dks lhfer fd;k tk 
ldrk gSA

  (C) tula[;k o`f¼ nj ij jksd yxkbZ tk 
ldrh gSA

  (D) tula[;k o`f¼ nj ij dksbZ çHkko ugha 
iM+sxkA

26. ^{ks=h;* esa ewy 'kCn o çR;; gS%
  (A) {ks $ =h; (B) {ks=h $ ;
  (C) {ks= $ bZ; (D) {ks= $ b;

27. lewg ls fHkUu 'kCn gS%
  (A) phu (B) Hkkjr
  (C) nf{k.k dksfj;k (D) Hkkjrh;

funsZ'k (iz'u la[;k 28 ls 36 rd)

uhps fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'u ds fy, lcls mi;qä fodYi dk p;u dhft,A

ftlds thou esa ftrus vf/kd nq%[k gksrs gSa og mruk 
gh lcy gksdj lq[k dh ;k=k ij fudyrk gS] D;ksafd 
nq%[k foijhr fLFkfr;ksa ls tw>us dh {kerk dk fodkl 
dj gekjh ÅtkZ dks txkrs gSa A dHkh&dHkh ekSle esa 
cM+h fo"kerk fn[kkbZ nsrh gSA xfeZ;ksa esa o"kkZ gks tkrh gS 
vkSj 'khry ok;q ekSle dks lqgkouk cuk nsrh gSA dbZ 
ckj cjlkr ds ekSle esa cknyksa dk ukeksfu'kku rd 
ugha jgrkA dHkh lnhZ ds ekSle esa BaM vkSj dksgjs ls 
futkr fey tkrh gSA gYds&QqYds diM+ksa esa vkjke 
ls ?kwe&fQj ldrs gSaA ekSle dh ;g çfrdwyrk gekjs 
vfgr esa ugha gksrhA ;gha ckr euq"; ds thou esa 
lq[k&nq%[k ds laca/k esa mruh gh lVhd gSA O;fä rFkk 
lekt nksuksa ds fodkl ds fy, ijLij fojks/kh Hkkoksa 
dk gksuk vfuok;Z gSA xzh"e gks ;k o"kkZ] ir>M+ gks ;k 
olar os ,d&nwljs ds fojks/kh ugha vfirq iwjd gSaA ,d 
ds vHkko esa nwljs esa vkuUn dgk¡ \ lq[k dh vuqHkwfr 
ds fy, nq%[k dh vuqHkwfr gksuh vko';d gSA blds 
}kjk gekjs vanj dh ÅtkZ tkxrh gSA

CTET (6-8) 29-12-2023

28. ftlds thou esa ftrus vf/kd nq%[k gksrs gSa] 
og mruk ghµ

  (A) dk;j gksrk gSA 
  (B) lq[kh gksrk gSA
  (C) lcy gksrk gSA
  (D) dkepksj gksrk gSA 
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29. ekSle dh fo"kerk ls vfHkçk; gSµ 
  (A)  ekSle dk lqgkoukiu 
  (B)  ekSle dh [kjkch 
  (C)  ekSle dh çkÏfrd foijhrrk  
  (D)  ekSle dh nq[knk;drk

30. nq%[k foijhr fLFkfr;ksa ls -------------- {kerk dk 
fodkl djrk gSA ( fjä LFkku dh iwfrZ dhft,)

  (A) Hkkxus dh
  (B) fNius dh 
  (C) gkjus dh 
  (D) tw>us dh

31. xzh"e gks ;k o"kkZ] ir>M+ gks ;k olar & os 
,d&nwljs ds -------------A 

  (A) fojks/kh gS (B) iwjd gaSA
  (C) lekukUrj gSa (D) foijhr gSa 

32. gekjs vanj dh ÅtkZ dSls tkxrh gS \ 
  (A) foijhr fLFkfr;ksa ls tw>us ls
  (B) ekSle cnyus ls 
  (C) lq[k dh vuqHkwfr ls 
  (D) nq%[k dh vuqHkwfr ls 

33. ftlds thou esa ftrus vf/kd nq%[k gksrs gSa og 
mruk gh lcy gksdj lq[k dh ;k=k ij fudyrk 
gS & okD; dk çdkj gSµ

  (A) ljy  (B) la;qä 
  (C) lk/kkj.k (D) feJ 

34. ßlq[k&nq%[kÞ esa lekl gksxkµ
  (A) }a} lekl
  (B) vO;;hHkko lekl 
  (C) deZ/kkj; lekl 
  (D) f}xq lekl 

35. ^futkr* dk vFkZ gksxk
  (A) NqVdkjk feyuk 
  (B) vuqHko gksuk 
  (C) ÅtkZ feyuk
  (D) jkLrk feyuk 

36. ßçfrdwyrkÞ esa çR;; gksxkµ 
  (A) ,rk (B) brk
  (C) rk (D) vrk

funsZ'k (iz'u la- 37 ls 46 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
iz'u ds fy, lcls mi;qDr fodYi dk p;u 
dhft,A

fr#oYyqoj rfey ds lar dfo FksA vius O;Lr thou 
esa le; fudkydj fr#oYyqoj dfork djrsA thou 
ds vuqHkoksa ij vk/kkfjr mUgksaus rsjg lkS ^dqjy* jpsA 
^dqjy* dk vFkZ gh NksVk vkSj ;s nks iafDr;ksa esa fleVk 
Nan gSA ̂ fr#Ddqjy* uked xzUFk esa buds lHkh ̂ dqjy* 
laxzghr gSa] tks rhu Hkkxksa esa c¡Vsa gSaA ln~xq.k] lEiUurk 
rFkk izseA ijUrq fr#oYyqoj ds dqjyksa esa lkekftd 
dqjhfr;ksa rFkk ekuo LoHkko dh vusd nqcZyrkvksa dk 

Hkh o.kZu vkrk gSA buds dkO; esa dksjh mins'kkRedrk 
vkSj fdlh /kkfeZd n`f"Vdks.k dks izLrqr djus dk Hkko 
rfud Hkh ugha gSA mlesa loZ= og O;kogkfjdrk vkSj 
lgtrk gS ftls yksdthou esa ljyrk ls viuk;k 
tk ldrk gSA ^fr#Ddqjy* dks rfey Hkk"kk dk ^osn* 
dgk tkrk gSA

CTET (6-8) 13-01-2023

37. ^dqjy* ls rkRi;Z gSa%
  (A) egkdkO;kRed xzUFk
  (B) nks iafDr;ksa dk NUn
  (C) rhu iafDr;ksa dk NUn
  (D) NksVk dkO;kRed xzUFk

38. fr#oYyqoj us fdrus ^dqjy* dh jpuk dh\
  (A) ckjg lkS chl (B) rsjg lkS rhl
  (C) ckjg lkS (D) rsjg lkS

39. ^fr#Ddqjy* D;k gS\
  (A) fr#oYyqoj dk miuke
  (B) ^dqjy* dk laxzg xzUFk
  (C) ^dqjy* dk vuqokn xzUFk
  (D) ln~xq.kksa dk laxzg

40. fr#oYyqoj ds ̂ dqjy* esa fdu fo"k;ksa dks 'kkfey 
fd;k x;k gS\

  (A) lkekftd dqjhfr;k¡ vkSj ekuo-nqcZyrk,¡
  (B) lkekftd dqjhfr;k¡ vkSj lgtrk
  (C) ekuo-nqcZyrk,¡ vkSj ljyrk
  (D) ljyrk vkSj mins'kkRedrk

41. ^fr#Ddqjy* esa --------------- 'kkfey ugha gSaA
  (A) lkekftd dqjhfr;k¡
  (B) /kkfeZd n`f"Vdks.k
  (C) yksd thou
  (D) ekuoh; nqcZyrk,¡

42. fr#oYyqoj dh dfork dk fo"k; ,oa mís'; gS%
  (A) /keks± dh LFkkiuk djuk
  (B) mins'kkRedrk dk izlkj
  (C) dqjhfr;ksa dks nwj djuk
  (D) /kkfeZd vuqHkoksa dks fl¼ djuk

43. fr#Ddqjy dks rfey Hkk"kk dk --------------- dgk 
tkrk gSA

  (A) NUn (B) osn
  (C) egkdkO; (D) dqjy

44. fr#oYyqoj dh dfork dh fo'ks"krk gS%
  (A) O;kogkfjdrk ,oa lgtrk
  (B) O;kogkfjdrk ,oa mins'kkRedrk
  (C) mins'kkRedrk ,oa lgtrk
  (D) lgtrk ,oa /kkfeZdrk

45. fdl 'kCn esa nks izR;;ksa dk iz;ksx ugha gqvk gS\
  (A) O;kogkfjdrk (B) mins'kkRedrk
  (C) lkekftdrk (D) lgtrk

46. fuEufyf[kr esa ls fdlds vk/kkj ij lEizs"k.k 
,d pØh; izfØ;k dgyk,xh\

  (A) izs"kd
  (B) xzg.k djus okyh@okyk
  (C) izfriqf"V

  (D) lans'k

funsZ'k (iz'u la[;k 47 ls 55 rd)

fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi pqfu,&

HkkSxksfyd n`f"V ls Hkkjr fofo/krkvksa dk ns'k gS] rFkk 
lkaLÏfrd :i ls ,d bdkbZ ds :i esa bldk vfLrRo 
çkphudky ls cuk gqvk gSA bl fo'kky ns'k esa mÙkj dk 
ioZrh; Hkw&Hkkx gS] ftldh lhek iwoZ esa czãiq= vkSj 
if'pe esa flU/kq ufn;ksa rd foLr`r gSA blds lkFk gh 
xaxk] ;equk] lryqt dh mitkÅ Ïf"kHkwfe] foa/; vkSj 
nf{k.k ds ouksa ls vkPNkfnr iBkjh Hkw&Hkkx] if'pe 
esa Fkkj dk jsfxLrku] nf{k.k dk rVh; çns'k rFkk iwoZ 
esa vle vkSj es?kky; dk vfro`f"V dk lqjE; {ks= 
lfEefyr gSA bl HkkSxksfyd fofHkUurk ds vfrfjä 
bl ns'k esa vkfFkZd vkSj lkekftd fHkUurk Hkh i;kZIr 
:i ls fo|eku gSA oLrqr% bu fHkUurkvksa ds dkj.k 
Hkkjr esa vusd lkaLÏfrd mi/kkjk,¡ fodflr gksdj 
iYyfor vkSj iqf"ir gqbZ gSaA laLÏfr dh ldkjkRedrk 
ns'k ds yksxksa dh fuiq.krk] usr`Ro] la;e mRdaBk ij 
fuHkZj djrh gSA ftl tuleqnk; esa vius ns'k dh 
leL;kvksa dks lqy>kus dh çcy bPNk gks] ml ns'k 
dh laLÏfr l`tukRed vo'; gksxhA

[CTET (6 to 8) (Lang. 1) 04.01.2022]

47. x|ka'k ds vuqlkj laLÏfr dh ldkjkRedrk 
ns'kokfl;ksa ds fdu xq.kksa ij fuHkZj djrh gS\

  (A) vkKkdkfjrk (B) fuiq.krk
  (C) lkStU;rk (D) ln`';rk

48. Hkkjr ds if'pe dk Hkw&Hkkx dSlk gS \ 
  (A) rVh;  (B) mitkÅ
  (C) jsrhyk (D) vfro`f"V okyk

49. ^HkkSxksfyd n`f"V ls Hkkjr fofo/krkvksa dk ns'k 
gSA* HkkSxksfyd fofo/krk ls rkRi;Z gS&

  (A) ifj/kku dh fofo/krk 
  (B) /keZ dh fofo/krk
  (C) Hkk"kk dh fofo/krk
  (D) tyok;q dh fofo/krk

50. mÙkj fn'kk ds ioZrh; Hkw&Hkkx dh lhek dgk¡ ls 
dgk¡ rd foLr`r gS \

  (A) iwoZ esa czãiq= vkSj if'pe esa flU/kq unh 
rd

  (B) es?kky; ds vfro`f"V okys {ks= rd
  (C) lryqt dh mitkÅ Hkwfe rd
  (D) Fkkj ds jsrhys vkSj iBkjh Hkw&Hkkx rd

51. x|ka'k esa fdl çdkj dh fofHkUurk dh ckr 
ugha dh x;h gS\ 

  (A) vkfFkZd  (B) lkekftd
  (C) ckSf¼d  (D) HkkSxksfyd
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52. Hkkjr esa vusd lkaLÏfrd mi/kkjk,¡ fodflr 
gksus dk D;k dkj.k gS\

  (A) blds Hkw&Hkkx dh fo'kkyrkA 
  (B) blesa ikbZ tkus okysh fofo/krk 
  (C) ns'kokfl;ksa dh fuiq.krk- 
  (D) tuleqnk; dh l`tukRedrk

53. ^es?kky;* 'kCn dk laf/k foPNsn gS&
  (A) es?kk + vky; (B) es?kky $ ;
  (C) es?k + vky; (D) es?k $ vy;

54. ^iYyfor vkSj iqf"ir gqbZ gSa]* js[kkafdr ls rkRi;Z 
gS&

  (A) le`¼ (B) cfy"B
   (D) foÏr (C) iSnk

55. ^lkaLÏfrd* 'kCn esa çR;; gS&
  (A) bd  (B) d
  (C) frd (D) dk

funsZ'k (iz'u la[;k 56 ls 63 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'uksa ds fy, lcls mi;qä fodYi dk p;u dhft,A

vkt ge vktknh dh ghjd t;arh euk jgs gSaA ij 
D;k ge dg ldrs gSa fd xqykeh vkSj ghurk dk Hkko 
gekjs esa ls fcYdqy nwj gks pqdk gS\ D;k ge nkok 
dj ldrs gSa fd O;fäxr] lkekftd ;k jk"Vªh; Lrj 
ij gekjs fopkj] gekjs QSlys vkSj gekjs dke ewyr% 
gekjs vius gSa vkSj geus nwljksa dh udy djuh NksM+ 
nh gS \ D;k ge Lo;a vius fy, QSlys ysdj mu ij 
vey dj ldrs gSa\ ;k fQj ge bl udyh Lora=rk 
dk udyh fn[kkok djrs jgsaxs\

eSa vkidk /;ku viuh fQYe baMLVªh dh rjQ ys 
tkuk pkgw¡xk] tgk¡ ls eSa vkrk gw¡A eSa tkurk gw¡ fd 
muesa ls T;knk fQYesa ,slh gSa ftudk ftØ lqudj 
vki g¡l iM+saxsA ,d i<+s&fy[ks vkneh ds fy, gekjh 
fQYesa rek'ks ls T;knk dqN ugha gSaA mudh dgkfu;k¡ 
cpdkuh vlfy;r ls nwj vkSj rdZghu gksrh gSa vkSj 
lcls cM+h [kjkch gS fd os if'pe dh fQYeksa dh va/kh 
udy gksrh gSaA esjs fy, mudk etkd mM+kuk vklku 
ugha gSA eSa muls viuh jksth dekrk gw¡A tc eSa vkidh 
rjg fo|kFkhZ Fkk] rc gekjs vaxzst vkSj fgUnqLrkuh 
çksQslj cM+h dksf'k'kksa ls gekjs vanj ;g ,glkl iSnk 
djuk pkgrs Fks fd dyk dk l`tu djuk flQZ xksjh 
peM+h okyksa dk gh fo'ks"kkf/kdkj gSA vPNh fQYesa] 
vPNs ukVd] vPNh peM+h okyksa dks gh fo'ks"kkf/kdkj 
gSA vPNh fQYesa] vPNs ukVd] vPNk vfHku;] vPNh 
fp=dyk vkfn lc ;wjksi vkSj vesfjdk esa gh laHko 
gSA ij vkt cgqr QdZ vk x;k gSA vktknh ds ckn 
Hkkjrh; dykvksa us cgqr çxfr dh gSA

[CTET (6 to 8) (Lang. 2) 06.01.2022]

56. ys[kd dh fpark dk fo"k; gS&
  (A) vkt ge xqyke gS
  (B) oSpkfjd Lora=rk ugha gS

  (C) geus udy djuk NksM+ fn;k gS 
  (D) ge Lora= QSlys ysrs gSa

57. ^udyh Lora=rk* dk vfHkçk; gS&
  (A) ghurk vkSj xqykeh dk Hkko gksuk 
  (B) lkekftd rkSj ij Lora= fu.kZ; ysuk 
  (C) Lo;a fopkj djds mfpr fu.kZ; ysuk 
  (D) mfpr fu.kZ;ksa dk vuqikyu djuk

58. ys[kd us fQYeksa dks rek'kk dgk gS D;ksafd&
  (A) mudh dgkfu;ksa esa okLrfodrk dk vHkko 

gksrk gSA 
  (B) mudh dgkfu;ksa ls thou thus dh çsj.kk 

feyrh gSA 
  (C) mudh dgkfu;ksa esa rdZ vkSj ;FkkFkZ Hkjiwj 

gksrk gSA 
  (D) mudh dgkfu;k¡ lHkh n'kZdksa dk Hkjiwj 

euksjatu djrh gSaA

59. ys[kd viuh fQYeksa dk etkd ugha mM+kuk 
pkgrk D;ksafd&

  (A) fQYesa vfHku; dks rjk'kus dk ek/;e gSa 
  (B) fQYesa csgrjhu vfHku; dk mnkgj.k gSa 
  (C) fQYesa vkthfodk dk lk/ku gSa 
  (D) fQYesa mRÏ"V funsZ'ku dk mnkgj.k gSa

60. ys[kd dks vius f'k{kdksa dh dkSu&lh ckr ilan 
ugha vkrh gS\ 

  (A) vfHku; dsoy vaxzstksa dk fo'ks"kkf/kdkj 
gSA 

  (B) dyk ij dsoy vaxzstksa dk fo'ks"kkf/kdkj 
gSA 

  (C) dFkk&ys[ku dsoy vaxzstksa dk fo'ks"kkfèkdkj 
gSA 

  (D) laokn&ys[ku dsoy vaxzstksa dk 
fo'ks"kkfèkdkj gSA 

61. vktknh ds ckn Hkkjr us ------------ ds {ks= esa 
cgqr mUufr dh gSA

  (A) fp=dyk (B) fQYeksa
  (C) dykvksa (D) ukVdksa

62. fdl 'kCn esa milxZ vkSj çR;; nksuksa dk ç;ksx 
gqvk gS\

  (A) vlfy;r (B) fgUnqLrkuh 
  (C) fo|kFkhZ (D) Lora=rk

63. ^ftØ* dk lekukFkhZ 'kCn ugha gS&
  (A) fuank  (B) mYys[k 
  (C) ppkZ (D) ckr

funsZ'k (iz'u la[;k 64 ls 70 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'uksa ds fy, lcls mi;qä fodYi dk p;u dhft,A

d#.kk] foosd vkSj /khjt cM+s lqanj xq.k gSaA bu xq.kksa 
dk fodkl lkspus ls ugha] bUgsa dke esa yxkus ls gksrk 
gSA thou esa d"V dc ugha vkrs gSa] fdlds ugha vkrs] 

rks bu xq.kksa dks dlkSVh ij dluk iM+rk gSA bUgsa thou 
esa mrkjuk iM+rk gS] rc bu xq.kksa dks ge viuk ldsa 
rks ;s gesa rkjrs gSaA bu xq.kksa dks viukus dk ;g volj 
dkSu miyC/k djokrk gS\ D;k gekjs fe=] th ughaA 
,sls volj rks gesa gekjs 'k=q nsrs gSaA blfy, ;fn ge 
lc lpeqp dqN lh[kuk pkgrs gSa rks vius bu 'k=qvksa 
dks viuk f'k{kd ekuks] viuk xq# ekuks] lcls vPNk] 
lcls cM+k xq# ekuksA lR;] çse vkSj d#.kk esa Mwcs ,d 
O;fä ds fy, /khjt ,d ,slk xq.k gS tks bUgsa Fkkerk 
gSA /khjt ugha rks D;k lR; D;k çse vkSj D;k d#.kk] 
/khjt gh bu lcdks 'kfä nsrk gSA vkSj ,sls esa 'k=q ds 
fcuk gekjk dke ugha pysxkA blfy, tc os vk tk,¡ 
rc gesa muds çfr vkHkkj çdV djuk pkfg,A gekjs 
'k=q dh ;g 'kfä gh gesa ,d 'kkar] ç'kkar] fLFkjfpÙk 
dh vksj ys tkus esa lgk;d cu ldrh gSA geus vuqHko 
ls ns[kk gS fd vius futh thou esa Hkh vkSj lkoZtfud 
thou esa Hkh gekjs 'k=q gekjs vius fe= cu tkrs gSaA 

[CTET (6 to 8) (Lang. 2) 06.01.2022]

64. x|ka'k esa 'k=qvksa dks fdl :i esa O;kf[;r 
fd;k  gSµ

  (A) ?kksj 'k=q ds :i esa 
  (B) cM+s xq# ds :i esa 
  (C) cM+s /kS;Zoku ds :i esa
  (D) ?kksj 'kkar O;fä ds :i esa

65. x|ka'k esa fdu xq.kksa dh ç'kalk dh xbZ gS\ 
  (A) d#.kk] foosd] fHk{kqd
  (B) foosd] /kS;Z] 'kfä'kkyh 
  (C) d#.kk] foosd] /kS;Z
  (D) d#.kk] foosd] lR;oknh

66. xq.kksa dh igpku dc gksrh gS\ 
  (A) vlQy gksus ij 
  (B) lQy gksus ij
  (C) lq[kn le; esa
  (D) nq[kn le; esa

67. x|ka'k esa fdl xq.k dks loksZifj ekuk x;k gS\
  (A) d#.kk dks  (B) çse dks 
  (C) lR; dks (D) /kS;Z dks

68. 'k=qvksa ds izfr vkHkkj O;Dr djuk pkfg,] 
D;ksafdµ 

  (A) varr% os Hkh euq"; gSa
  (B) os ckn esa fe= cu tkrs gSa
  (C) os cgqr dqN fl[kkrs gSa
  (D) os fLFkj fpÙk gksrs gSa

69. fuEu esa ls dkSu&lk lewg ls fHkUu gS\
  (A) çse  (B) d#.kk
  (C) /kS;Z (D) f'k{kd

70. fdl 'kCn esa ^rk* çR;; dk ç;ksx ugha gks 
ldrk\

  (A) fHkUu  (B) 'k=q 
  (C) fnO; (D) çse
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funsZ'k (iz'u la[;k 71 ls 79 rd)

fuEufyf[kr x|ka'k dks i<+dj iwNs x;s ç'uksa ds 
lcls mi;qä mÙkj okys fodYi dks pqfu,A

/kwy ds dkj.k çnw"k.k] çnw"k.k dk ,d vçR;kf'kr 
dkj.k Hkh gSA vkt ds orZeku le; esa euq"; ds }kjk 
çÏfr ds dk;ks± esa gLr{ksi fd;k tk jgk gSA ftlds 
dkj.k okrkoj.k esa vk¡/kh ds }kjk Qsadh tkus okyh /kwy 
c<+rh tk jgh gSA [kuu] lM+d fuekZ.k] Hkou&fuekZ.k 
tSls dk;Z Hkh blds fy, mÙkjnk;h gSaA ge Hkkjr esa Fkkj 
e#LFky esa mBus oky s /kwy ds rwQkuksa ls ifjfpr gSa 
tks fd fnYyh rd ds nwjLFk {ks=ksa dks çHkkfor djrs gSaA 
;g fo'okl fd;k tkrk gS fd ;g Hkwfe ds çkÏfrd :i 
esa euq"; }kjk fd;s tk jgs ifjorZu tSls fd pkjkxkgksa 
dks T;knk ls T;knk eosf'k;ksa ds }kjk pjkdj u"V 
djus ls gks jgk gSA

okrkoj.k esa /kwy bdëh djus esa xa/kd] lYQj 
Mkb&vkDlkbM vkSj gkbMªkstu lYQkbM tSlh xSlsa 
Hkh lgk;d gksrh gSa tks fd dkj[kkuksa dh fpefu;ksa ls 
yxkrkj fudy jgh gSaA ;s xSlsa ouLifr;ksa vkSj vU; 
tSfod rRoksa ds lM+us ls Hkh iSnk gksrh gSaA Hkys gh ;s 
xSlsa dqN gh ?kaVksa esa fc[kj tkrh gSa] ysfdu mrus gh 
le; esa veksfu;k fØ;k djds lYQj Mkb&vkDlkbM 
xSl veksfu;e lYQkbM ds lw{e d.k iSnk djus esa 
leFkZ gks tkrh gSA ;s d.k okrkoj.k esa dkQh yacs le; 
rd rSjrs jgrs gSaA bl çdkj ge ns[krs gSa fd euq"; 
çÏfr ds ekeys esa gLr{ksi djds ,d /kwlfjr Hkfo"; 
ds fuekZ.k esa lgk;d gks jgk gSA

[CTET (6 to 8) (Lang. 1) 21.12.2021]

71. ^vçR;kf'kr* dk laf/k foPNsn gksxk&
  (A) vçR;; + vkf'kr 
  (C) vçfr + vkf'kr
  (B) v + çR;kf'kr 
  (D) vçR;k + vkf'kr

72. ^[kuu* dk rkRi;Z gS&
  (A) [kku  (B) [kksnuk
  (C) [kkuk  (D) f[kykuk

73. /kwy c<+us ds vçR;kf'kr dkj.kksa esa 'kkfey ugha 
gS&

  (A) vk¡/kh vkSj rwQku
  (B) [kqnkbZ vkSj fuekZ.k dk;Z 
  (C) e#LFkyksa ls xqtjus okys rwQku 
  (D) pkjkxkgksa dh la[;k esa o`f¼

74. xa/kd vkSj lYQj Mkb vkDlkbM dh D;k 
Hkwfedk crkbZ xbZ gS\

  (A) dkj[kkuksa esa çnw"k.k
  (B) /kwy u"V djuk 
  (C) /kwy ,df=r djuk
  (D) vkWDlhtu ls çfrfØ;k djuk

75. ^tSfod* 'kCn esa ewy 'kCn vkSj çR;; D;k gS\
  (A) tSo + bd (B) tS + fod
  (C) tho + d (D) tho + bd

76. ^/kwy ds d.k okrkoj.k esa yacs le; rd rSjrs 
gSaA* 

  mi;qZä dkjd dk çdkj gS&
  (A) lky  (B) la;qä
  (C) feJ (D) tfVy

77. ^rSjrs jgrs gSa*µin fØ;k ds fdl Hksn ds varxZr 
vk,xk\ 

  (A) vdeZd (B) ldeZd
  (C) f}deZd (D) çsj.kkFkZd

78. x|ka'k ls mn~/k`r fuEufyf[kr okD; dks pkj 
Hkkxksa esa ck¡Vk x;k gSA buesa ls ,d Hkkx esa v'kqf¼ 
gSA mls igpkfu,A

  (A) vkt ds orZeku le; esa 
  (B) euq"; ds }kjk 
  (C) çÏfr ds dk;ks± esa 
  (D) gLr{ksi fd;k tk jgk gSA

79. fdlds d.k okrkoj.k esa dkQh le; rd rSjrs 
jgs gSa\ 

  (A) veksfu;k
  (B) veksfu;k lYQkbM  
  (C) lYQkbM
  (D) lYQj Mkb&vkDlkbM

funsZ'k (iz'u la[;k 80 ls 88 rd)

fuEufyf[kr x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi pqfu,A

ekr`Hkk"kk dk fo|ky;h ikB~;p;kZ esa egRoiw.kZ LFkku 
gSA ;g fo|ky; esa i<+k;k tkus okyk ,d fo"k; ek= 
ugha] vU; fo"k;ksa dks lh[kus dk ek/;e Hkh gSA Hkk"kk 
ds ek/;e ls tks ewyHkwr dkS'ky vftZr fd, tkrs gSa] 
os vU; fo"k; {ks=ksa dh ladYiukvksa dks le>us lh[kus 
esa Hkh lgk;rk djrs gSaA vDlj ns[kk x;k gS fd ftl 
ckyd esa ekr`Hkk"kk dh idM+ ftruh vf/kd gksrh gS] og 
mruh ljyrk vkSj 'kh?kzrk ls vU; fo"k;ksa dk KkuktZu 
dj ysrk gSA bl n`f"V ls ;g mi;qä gS fd ftl Hkk"kk 
esa ckyd cksyrk] lksprk vkSj dYiuk djrk gS ogh 
Hkk"kk mldh f'k{kk dk ek/;e Hkh gks rkfd v/;;u 
fd, tkus okys fo"k;ksa dks lgh <ax ls le>us] mu ij 
Lora= :i ls fparu djus rFkk mUgsa Li"V vkSj çHkkoh 
:i ls vfHkO;ä djus esa vklkuh gksA blh dkj.k lHkh 
f'k{kkfonksa us bl ckr ij cy fn;k gS fd f'k{kk dk 
ek/;e ekr`Hkk"kk gh gksuk pkfg,A ijUrq vDlj ns[kus esa 
vkrk gS fd fo|ky;ksa esa ekr`Hkk"kk ds v/;;u&v/;kiu 
ij visf{kr cy ugha fn;k tkrkA v/;kidksa dh lkjh 
'kfä foKku] xf.kr] lkekftd foKku vkfn fo"k;ksa 
ds f'k{k.k ij dsfUær jgrh gSA Hkk"kk ij iw.kZ vf/kdkj 
u gksus ds dkj.k ckydksa esa bu fo"k;ksa dh lw>&cw> 
Hkh v/kwjh gh jg tkrh gSA blds fy, vko';d gS fd 
ekr`Hkk"kk ds v/;;u&v/;kiu dks f'k{kk dk dsUæ fcUnq 
ekudj pyk tk, rkfd ckydksa esa Hkk"kk dkS'kyksa dk 
fodkl gks lds rFkk mudh vfHkO;fä esa Li"Vrk] Kku 
esa xaHkhjrk] dYiuk&'kfä esa ekSfydrk vkSj var%o`fÙk;ksa 
esa ltxrk vk,A

[CTET (6 to 8) (Lang. 1) 22.12.2021]

80. fo|ky;h ikB~;p;kZ esa ekr`Hkk"kk dk fo'ks"k egRo  
ekuk x;k gS] D;ksafd ogµ

  (A) cPpksa dks lokZf/kd fç; gksrh gS 
  (B) ,d fo"k; dh rjg i<+kbZ tkrh gS 
  (C) ekr`Hkwfe ls çse djuk fl[kkrh gS 
  (D) vU; fo"k;ksa dks lh[kus dk ek/;e gksrh gS

81. vU; fo"k;ksa dh ladYiukvksa dks le>us ds 
dkS'ky vftZr fd, tk ldrs gSa&

  (A) fdlh Hkk"kk ds ek/;e ls 
  (B) ekr`Hkk"kk esa dq'ky gksus ls 
  (C) çf'k{k.k çkIr djus ls 
  (D) oSKkfud n`f"V viukus ls

82. ^lw>&cw>* 'kCn gS&
  (A) lekl jfgr 'kCn 
  (B) iwjd 'kCn 
  (C) lekukFkhZ 'kCn
  (D) ;qXe 'kCn

83. ekr`Hkk"kk ds LFkku ij foKku] xf.kr vkfn ds 
f'k{k.k ij vf/kd cy nsus ds ifj.kkeLo:iµ 

  (A) ckydksa dh lw>&cw> v/kwjh jg tkrh gS 
  (B) ijh{kk ifj.kkeksa esa lq/kkj fn[kkbZ iM+rk gS 
  (C) cPpksa ds Kku esa o`f¼ gksrh gS 
  (D) cPps tkx:d ukxfjd curs gSa

84. ekr`Hkk"kk dks f'k{kk dk dsaæ fcanq ekudj pyus 
ds ykHkksa ds ckjs esa fuEufyf[kr abc dFkuksa ij 
fopkj dhft, vkSj lgh fodYi pqfu,µ

  (a) vfHkO;fä esa Li"Vrk vkSj Kku esa xaHkhjrk 
vkrh gS 

  (b) dYiuk'kfä esa ltxrk vkSj var%o`fÙk;ksa 
esa ekSfydrk fn[kkbZ nsrh gS

  (c) Hkk"kk dkS'kyksa dk fodkl gksrk gSA
  (A) dsoy a (B) a rFkk b
  (C) b rFkk c (D) a rFkk c

85. vuqPNsn esa lokZf/kd cy fdl ckr ij fn;k 
x;k gS\ 

  (A) f'k{k.k esa ikB~;p;kZ ds egRo ij
  (B) ekr`Hkk"kk dks f'k{kk dk ek/;e cukus ij 
  (C) foKku&xf.kr vkfn ds egRo ij
  (D) dYiuk'kfä vkSj ltxrk ij

86. vuqPNsn ds vuqlkj ^KkuktZu* 'kCn dk foxzg 
gksxkµ

  (A) Kku ls vtZu
  (B) Kku dk vtZu 
  (C) Kku esa vtZu  
  (D) Kku ds fy, vtZu

87. ^xaHkhjrk* 'kCn ds inµifjp; esa dkSu&lk 
dFku vuqi;qä gS\

  (A) Hkkookpd laKk  (B) L=hfyax
  (C) xq.kokpd (D) ,dopu



6  |  

88. ^ekr`Hkk"kk fo|ky; esa i<+k;k tkus okyk ,d 
fo"k; ek= gh ugha gSA*

  mi;qZä okD; dk vFkZ ds vuqlkj Hksn gksxkµ
  (A) fo/kkukFkZd okD;
  (B) ljykFkZd okD;
  (C) fu"ks/kkFkZd okD;
  (D) vkKkFkZd okD;

funsZ'k (iz'u la[;k 89 ls 96 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi dks pqfu,&

tc phtsa vkidh ethZ ls ugha gksrh] rks vki mls HkkX; 
dk uke ns nsrs gSaA bl çdkj vki [kqn dks lkaRouk 
nsdj foQyrk ds lkFk is'k vkrs gSaA euq"; cus jgus 
ds fy, vki ftu Hkh ifjfLFkfr;ksa esa jgrs gSa] mldk 
vFkZ gS fd vki ifjfLFkfr;ksa dks vius fglkc ls 
<ky ldrs gSa] ftlesa os jgrs gSaA ,slk dsoy blfy, 
gS D;ksafd os mu  ifjfLFkfr;ksa ds çHkko esa ftUnxh 
fcrkrs gSa] blfy, ;g ç'u mRiUu gksrk gS fd eq>s ,slh 
ifjfLFkfr esa D;ksa j[kk x;k\ D;k ;s esjk nqHkkZX; Fkk] 
;k ;g esjk HkkX; Fkk \ og lc tks vki Lo;a ds :i 
esa tkurs gSa] og dsoy ,d <sj  ;k laxzg gS] vkidk 
'kjhj dsoy Hkkstu dk <sj gSA vkSj ftls vki esjk eu 
;k fnekx dgrs gSa] og ik¡p bfUæ;ksa  }kjk bdëk fd;s 
x;s çHkkoksa dk laxzg gSA vkius&vius  thou dks bl 
vk/kkj ij thus dk ç;kl fd;k gS fd vkius  D;k 
bdëk fd;k gS] u fd vki D;k gSaA vkius vius }kjk  
bdëk fd, x, çHkkoksa ds çdkj ds vk/kkj ij dqN 
vknrsa  viuk yh gSaA bls cnyk tk ldrk gSA vkidh 
orZeku  vknrksa] vkids thou ds fiNys vuqHkoksa vkSj 
vkuqoaf'kdh  dh ijokg fd, fcuk] ;fn vki vius lkFk 
dqN phtsa djrs  gSa] rks vki bls cny ldrs gSaA vki 
pkSchl ?kaVs esa [kqn  dks iwjh rjg u;k dj ldrs gSaA 
tks dqN Hkh thou esa gksrk  gS] og ,d fuf'pr fu;e 
ds rgr gksrk gSA ;fn vki ;g tku ik,¡xs fd vkids 
thou dh çÏfr D;k gS] rks vki  iw.kZ:i ls mldh  
dk;Zç.kkyh dh ftEesnkjh ys ldrs gSaA

[CTET (6 to 8) (Lang. 2) 28.12.2021]

89. HkkX; uke gS&
  (A) bZ'oj çnÙk phtksa dk 
  (B) viuh ethZ dk u gksuk 
  (C) Lo;a dks lkaRouk nsuk
  (D) vdeZ.;rk dk

90. x|ka'k ds vuqlkj vknrksa dks&
  (A) cnyk tk ldrk gS 
  (B) ugha cnyk tk ldrk gS- 
  (C) cnyus ls HkkX; cnyrk gS 
  (D) cnyus dh t:jr ugha gS

91. vktdy vf/kdrj yksx ifjfLFkfr;ksa ds 
vuqlkj <y tkrs gSaA ;g ckr&

  (A) yksxksa dks cgqr tfVy yxrh gS 
  (B) yksxksa dks vdeZ.; cuk nsrh gS 
  (C) yksxksa dks çsj.kknk;d yxrh gS 
  (D) yksxksa dks HkkX;koknh cuk nsrh gS

92. thou esa tks gksrk gS] og ,d ---------- fu;e ds 
rgr gksrk gSA

  (A) dBksj (B) Lora=
  (C) vfuf'pr (D) fuf'pr

93. ik¡p bfUæ;ksa }kjk bdëk fd, x, çHkkoksa dks 
----------- dgrs gSaA

  (A) eu (B) efLr"d
  (C) laKku (D) vkRek

94. ^vknr* dk cgqopu :i gS&
  (A) vknrksa  (B) vknr,a
  (C) vknrsa (D) vknru

95. ^fuf'pr* 'kCn esa fdl milxZ dk ç;ksx fd;k 
tk ldrk gS \

  (A) vu (B) l
  (C) vi (D) lq

96. fo'ks"k.k& fo'ks"; dk mnkgj.k ugha gS&
  (A) dqN vknrsa (B) eu ;k foHkkx
  (C) pkSchl ?kaVs (D) ifjJeh O;fä

funsZ'k (iz'u la[;k 97 ls 103 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lcls mi;qä mÙkj okys fodYi dks pqfu,µ

gekjh laLÏfr esa ekuo thou ds pkj mís'; crk, 
x, gSa&

/keZ] vFkZ] dke] eks{k thou ds bu mís';ksa dks LoLFk  
'kjhj }kjk gh çkIr fd;k tk ldrk gS tc O;fä  Lo;a 
lq[kh ,oa larq"V gksrk gS] rks nwljksa dks Hkh lq[kh cukus 
dk  ç;kl djrk gS rFkk lekt ,oa jk"Vª ds fy, dqN 
dj ikus esa leFkZ gksrkA blfy, vPNs LokLF; dks 
egk ojnku dgk x;k gSA tks O;fä vPNs LokLF; dh  
mis{kk dj nsrk gS] og ekuks vius lHkh lq[kksa dh  mis{kk 
dj jgk gSA nqcZy] jksxh rFkk v'kä euq"; u rks Lo;a 
dh u vius ifjokj dh] u vius jk"Vª dh  vkSj u 
gh ekuork dh lsok dj ldrk gSA blfy, 'kjhj dks 
iq"V] pqLr ,oa cfy"B cukuk vko';d gSA vLoLF; 
O;fä ?kj cSBs nqcZyrk vkSj vleFkZrk ij ukS&ukS vk¡lw 
cgk;k djrs gSaA tcfd LoLFk O;fä vlaHko dks Hkh 
laHko esa cnyus dh {kerk j[krs gSaA blfy, çk;% ns[kk 
x;k gS fd nqcZy vkSj v'kä  O;fä fujk'kkoknh vkSj 
HkkX;oknh cu tk;k djrs gSaA

[CTET (6 to 8) (Lang. 2) 28.12.2021]

97. thou ds mís';ksa dks dSls çkIr fd;k tk ldrk 
gS \

  (A) ijksidkj ls 
  (B) LokFkZ ls 
  (C) lewg esa dk;Z djus ls
  (D) LoLFk jgdj

98. vPNs LokLF; dks egk ojnku dgk x;k gS] 
D;ksafd&

  (A) LoLFk O;fä gh le>nkj gksrs gSa 
  (B) LoLFk O;fä gh leFkZ gksrs gSaA 
  (C) LoLFk O;fä gh fujk'kkoknh gksrs gSaA 
  (D) LoLFk O;fä HkkX;oknh gksrs gSa

99. jk"Vª vkSj ekuork dh lsok djus ds fy, fdlh 
O;fä ds fy, LoLFk 'kjhj ds fy, vko';d gS&

  (A) LoLFk 'kjhj 
  (B) fucZy 'kjhj 
  (C) HkkX;oknh n`f"Vdks.k
  (D) detksj 'kjhj

100. nqcZy vkSj v'kä O;fä dSls cu tkrs gSa\
  (A) fujk'kkoknh  (B) vk'kkoknh
  (C) deZoknh (D) lektoknh

101. ukS&ukS vk¡lw cgkuk gS&
  (A) yksdksfä  (B) eqgkojk
  (C) lekl (D) vyadkj

102. ^LoLFk* dh Hkkookpd laKk gS&
  (A) LokLF;  (B) vLokLF; 
  (C) vLoLFk (D) LokFkZ

103. buesa ls dkSu&lk fo'ks"k.k ugha gSa\
  (A) nqcZy  (B) v'kä 
  (C) lq[kh (D) lq[k

funsZ'k (iz'u la[;k 104 ls 112 rd)

fn, x, x|ka'k dks /;kuiwoZd if<+, rFkk iwNs x, 
ç'uksa ds mÙkj ds :i esa lcls mi;qä fodYi dk 
p;u dhft,A

xaxk dh MkWfYQu ekSle ds vuqlkj çokl djrh gSA ;g 
ekulwu ds ekSle esa ufn;ksa esa Åij dh vksj p<+rh gS 
rFkk eq[; unh ls] bldh lgk;d ufn;ksa esa vk tkrh 
gSA o"kkZ ds lekIr gks tkus ij] ufn;ksa esa ikuh de gks 
tkrk gS] vr% ;g eq[; unh esa okil ykSV vkrh gSA

xaxk dh MkWfYQu viuh pksap tSlk yEck FkwFku] ikuh 
ds ckgj fudkydj rSjrh gS vFkok ikuh ds Hkhrj gh 
rst xfr ls rSjrh gqbZ vkxs c<+rh gSA ;g Lruik;h tho 
gS rFkk QsQM+ksa ls lkal ysrh gS] vr% bls lkal ysus ds 
fy, viuk FkwFku ikuh ds ckgj fudkyuk iM+rk gSA 
lkekU;r;k ;g 30 lsdaM vkSj 120 lsdaM ds e/; 
ikuh dh lrg ij lkal ysus ds fy, vkrh gSA blds 
lkal NksM+us ls lw------lw---- dh rst vkokt gksrh gSA 
blhfy, bls lwal dgrs gSA ;g ikuh dh lrg ij rSjrs 
le; dHkh&dHkh gok esa mNyrh gS vkSj fQj Nikd 
dh vkokt djrh gqbZ ikuh dh lrg ij fxjrh gSA 
blds bl O;ogkj dk v/;;u djus ij ;g dsoy gok 
esa mNy ldrh gSA lkekU; MkWfYQu vkSj cksryuqek 
ukdokyh MkWfYQu ds leku] xaxk dh MkWfYQu djrc 
ugha fn[kk ldrh gSA

[CTET (6 to 8) (Lang. 1) 30.12.2021]
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104. x|ka'k ds vuqlkj xaxk dh MkWfYQu dk çokl 
fdlds vuqlkj gksrk gS 

  (A) [krjs ds vuqlkj 
  (B) ekSle ds vuqlkj 
  (C) tyok;q ds vuqlkj
  (D) ufn;ksa ds vuqlkj

105. xaxk dh MkWfYQu dk lwal uke D;ksa j[kk x;k gS\ 
  (A) ;g lkal NksM+us esa lw----- lw---- dh vkokt 

fudkyrh gSA
  (B) ;g lkal ysus esa lw----- lw--- dh vkokt 

fudkyrh gSA 
  (C) ;g lhVh ctkrs gq, lw---- lw--- dh vkokt 

fudkyrh gSA 
  (D) ;g rSjus esa lw----- lw---- dh vkokt 

fudkyrh gSA

106. xaxk dh MkWfYQu ekulwu ds ekSle esa D;k 
djrh gS\

  (A) lgk;d ufn;ksa ls eq[; unh dh vksj tkrh 
gSA 

  (B) eq[; unh ls lgk;d ufn;ksa dh vksj tkrh 
gSA

  (C) eq[; unh ls leqæ dh vksj tkrh gSA
  (D) leqæ ls eq[; unh dh vksj tkrh gSA

107. x|ka'k ds vuqlkj xaxk dh MkWfYQu 30 lsdaM 
vkSj 120 lsdaM ds chp ikuh dh lrg ij lkal 
ysus ds fy, vkrh gS] D;ksafd 

  (A) blds fxy gksrs gSaA
  (B) ;g QsQM+ksa ls lkal ysrh gSA
  (C) ;g ikuh ds Hkhrj Hkh lkal ys ldrh gSA 
  (D) ;g ikuh ds Hkhrj lkal ysrh gS vkSj lkal 

dks NksM+us ckgj vkrh gSA

108. x|ka'k ds vuqlkj fuEufyf[kr esa ls dkSu&lk 
dFku lR; gS\

  (A) lHkh çtkfr;ksa dh MkWfYQu gok esa djrc 
fn[kk ldrh gSA

  (B) dsoy xaxk dh MkWfYQu gok esa djrc 
fn[kk ldrh gSA

  (C) xaxk dh MkWfYQu ds flok; MkWfYQu dh 
vU; çtkfr;k¡ gok esa djrc fn[kk ldrh 
gSA

  (D) MkWfYQu dh lHkh çtkfr;k¡ ikuh dh lrg 
ds vanj 'olu fd;k djrh gSaA

109. lrg ij rSjrs le; dHkh&dHkh gok esa mNyrh 
gSaA okD; esa js[kkafdr 'kCn gSa&

  (A) iqu#ä 'kCn 
  (B) lekukFkhZ 'kCn
  (C) foykse 'kCn
  (D) vusdkFkhZ 'kCn

110. buesa ls xaxk dk i;kZ;okph 'kCn dkSu&lk gS\ 
  (A) dkfyanh  (B) ;equk
  (C) HkkxhjFkh (D) lfjrk

111. ikuh ds Hkhrj gh rst xfr ls rSjrh gqbZ vkxs 
c<+rh gSA js[kkafdr 'kCn gS&

  (A) laKk  (B) fuikr
  (C) loZuke (D) fØ;kfo'ks"k.k

112. ^Kkr* dk foykse 'kCn gS&
  (A) vKkr (B) vKku
  (C) vK (D) vKkuh

funsZ'k (iz'u la[;k 113 ls 121 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, iz'uksa ds 
lcls mi;qä mÙkj okys fodYi dks pqfu,%

,ojsLV dh rjQ xkSj ls ns[krs gq,] eSaus ,d Hkkjh cQZ 
dk cM+k Iywe ns[kk] tks ioZr&f'k[kj ij ygjkrk ,d 
/ot&lk yx jgk FkkA eq>s crk;k x;k fd ;g n`'; 
f'k[kj dh mGijh lrg ds vkl&ikl 150 fdyksehVj 
vFkok blls Hkh vf/kd dh xfr ls gok pyus ds dkj.k 
curk Fkk] D;ksafd rst gok ls lw[kk cQZ ioZr ij mM+rk 
jgrk FkkA cQZ dk ;g /ot nl fdyksehVj ;k bl 
ls Hkh yack gks ldrk FkkA f'k[kj ij tkus okys izR;sd 
O;fä dks nf{k.k@iwohZ igkM+h ij bu rwQkuksa dks >syuk 
iM+rk Fkk] fo'ks"kdj [kjkc ekSle esaA ;g eq>s Mjkus 
ds fy, dkQh Fkk] fQj Hkh eSa ,ojsLV dh izfr fofp=  
:i ls vkdf"kZr Fkh vkSj bldh dfBure pqukSfr;ksa 
dk lkeuk djuk pkgrh Fkh tc ge 26 ekpZ dks iSfjp 
ig¡qps gesa fgeL[kyu ds dkj.k gqbZ ,d 'ksjik dqyh 
dh e`R;q dk nq%[kn lekpkj feykA [kqaHkq fgef'k[kj 
ij tkus okys vfHk;ku&ny ds jkLrs ds ckbZ rjQ 
lh/kh  igkM+h ds /kldus ls] YgksRls  dh vksj ls ,d 
cgqr cM+h cQZ dh pêku uhps f[kld vkbZ FkhA lksyg 
'ksjik dqfy;ksa ds ny esa ls ,d dh e`R;q gks xbZ vkSj 
pkj ?kk;y gks x, FksA bl lekpkj ds dkj.k vfHk;ku 
ny ds lnL;ksa ds psgjksa ij Nk;s volkn dks ns[kdj 
gekjs usrk duZy [kqYyj us Li"V fd;k fd ,ojsLV tSls 
egku vfHk;ku esa [krjksa dks vkSj dHkh&dHkh rks e`R;q 
dks Hkh O;fä dks lgt Hkko ls Lohdkj djuk pkfg,A 

113. x|ka'k ds vk/kkj ij dgk tk ldrk gS fd 
,ojsLV ij p<+kbZ djuk------------gSA

  (A) leL;k (B) fodV
  (C) ljy (D) nqxZe

[CTET (6 to 8) (Lang. 1) 03-01-2022]

114. ^volkn* dk foykse gSA
  (A) mRlkg (B) fo"kkn
  (C) izlUurk (D) cspSuh

[CTET (6 to 8) (Lang. 1) 03-01-2022]

115. ioZr&f'k[kj ij cQZ ds Iywe cuus dk eq[; 
dkj.k Fkkµ

  (A) ;s ioZr dh mGijh lrg ij gksrs gSa
  (B) vR;f/kd rhoz gokvksa dk pyuk
  (C) ioZrh; ;k=kvksa ds dkj.k
  (D) fujarj fgeikr gksus ds dkj.k

[CTET (6 to 8) (Lang. 1) 03-01-2022]

116. ^cQZ* dk i;kZ;okph 'kCn ugha gSA
  (A) ikyk (B) 'kSy
  (C) rq"kkj (D) fge

[CTET (6 to 8) (Lang. 1) 03-01-2022]

117. duZy [kqYyj ds vuqlkj ,ojsLV ij p<+kbZ 
djus ds nkSjkuµ

  (A) i;kZIr ek=k esa vkWDlhtu ysuh pkfg,A
  (B) e`R;q gks tkuk ,d lkekU; ckr gSA
  (C) ,d&nwljs dk gkFk idM+ dj pyuk 

pkfg,A
  (D) [krjksa ls cpdj pyuk pkfg,A

[CTET (6 to 8) (Lang. 1) 03-01-2022]

118. [kjkc ekSle esa fdl pqukSrh dk lkeuk djuk 
iM+rk Fkk\

  (A) cQZ ds Iywe dkA
  (B) rst gokvksa dkA
  (C) rwQkuksa dkA
  (D) vR;f/kd xgjkbZ dkA

[CTET (6 to 8) (Lang. 1) 03-01-2022]

119. ^vkdf"kZr* 'kCn esa ewy 'kCn vkSj izR;; gSµ
  (A) vkd"kZd $ r (B) vkdf"kZ $ r
  (C) vkd"kZ.k $ bZr (D) vkd"kZ $ br

[CTET (6 to 8) (Lang. 1) 03-01-2022]

120. ,d 'ksjik dh e`R;q dk dkj.k Fkkµ
  (A) cQZ dk rst rwQku vkuk
  (B) [kwc tksjnkj cQZckjh gksuk
  (C) cQZ dh pêku dk f[klduk
  (D) ,ojsLV ioZr dk /klduk

[CTET (6 to 8) (Lang. 1) 03-01-2022]

121. fuEu esa ls fo'ks"k.k] fo'ks"; fdlesa ugha gSµ
  (A) lh/kk igkM+h 
  (B) lw[kk cQZ 
  (C) lksyg 'ksjik
  (D) ioZr f'k[kj

[CTET (6 to 8) (Lang. 1) 03-01-2022]

funsZ'k (iz'u la[;k 122 ls 129 rd)

fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, iz'uksa dk mÙkj nhft,A

,d gkfy;k v/;;u ds vuqlkj] tgk¡ ,d vksj nqfu;k 
Hkj esa yksxksa dk vkSlr dn c<+ jgk gS] ogha vke 
Hkkjrh;ksa dk dn yxkrkj ?kV jgk gSA foKku if=dk 
vksiu ,Dlsl lkbal tuZy (Iyksl ou) esa Nis bl 
v/;;u esa dgk x;k gS fd Hkkjrh; iq#"kksa vkSj efgykvksa 
dh vkSlr yackbZ rsth ls de gks jgh gSA v/;;u esa 
15 ls 25 o"kZ dh vk;q ds chp vkSj 26 ls 50 o"kZ 
ds vk;q ds chp ds iq#"kksa vkSj efgykvksa dh vkSlr 
yackbZ vkSj mudh lkekftd o vkfFkZd i`"BHkwfe dk 
fo'ys"k.k fd;k x;k gSA blls lcls T;knk fparktud 
igyw ;g lkeus vk;k gS fd yackbZ de gksus ds ihNs 
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vkfFkZd o lkekftd i`"BHkwfe dh Hkh cM+h Hkwfedk gSA 
ns'k esa lqfo/kk&lEiUu yksxksa dk lkekftd dn ges'kk 
ls mG¡pk jgk gS] ysfdu vc ;g Hksn dn&dkBh esa Hkh 
>ydus yxk gSA tgk¡ lEiUu yksxksa dh vkSlr yackbZ 
esa dksbZ T;knk deh uT+kj ugha vkrh gS] ogha xjhcksa 
dh vkSlr yackbZ yxkrkj ?kV jgh gSA 

lcls T+;knk fxjkoV xjhcksa vkSj vkfnoklh efgykvksa 
esa ns[kh x;h gSA v/;;u ds eqrkfcd] ,d ik¡p lky 
dh vuqlwfpr tutkfr dh cPph dh vkSlr yackbZ 
lkekU; oxZ dh cPph ls yxHkx nks lsaVhehVj de 
ik;h xbZA iq#"kksa ds ekeys esa fdlh Hkh oxZ ds fy, 
fLFkfr vPNh ugha gS lHkh oxZ ds iq#"kksa dh vkSlr 
yackbZ djhc ,d lsaVhehVj de gqbZ gSA 

122. yackbZ de gksus ds ihNs--------o----------i`"BHkwfe 
dh Hkh cM+h Hkwfedk gSA

  (A) lkekftd] lkaLÏfrd
  (B) vkfFkZd] lkekftd
  (C) lkaLÏfrd] vkfFkZd
  (D) vkfFkZd] Hkkf"kd

[CTET (6 to 8) (Lang. 2) 03-01-2022]

123. ,d 'kks/k ds vuqlkj dn esa lcls T;knk deh 
dk gksuk-------------esa ns[kk x;k gSA

  (A) vkfnoklh cqtqxks±
  (B) vkfnoklh cPpksa
  (C) vkfnoklh efgykvksa
  (D) vkfnoklh iq#"kksa

[CTET (6 to 8) (Lang. 2) 03-01-2022]

124.  'kks/k esa 'kkfey Fksµ
  (A) 15 ls 25 o"kZ dh vk;q ds iq#"k o efgyk,¡
  (B) 15 ls 20 o"kZ dh vk;q ds iq#"k
  (C) 15 ls 25 o"kZ dh vk;q dh efgyk,¡
  (D) 26 ls 50 o"kZ dh vk;q ds iq#"k

[CTET (6 to 8) (Lang. 2) 03-01-2022]

125. 'kks/k ds vuqlkj fdu yksxksa ds dn esa fxjkoV 
gks jgh gS\

  (A) ftudk LokLF; [kjkc gSA
  (B) tks lk/ku foiUu gSaA
  (C) tks lqfo/kk laiUu gaSA
  (D) tks etnwjh djrs gSaA

[CTET (6 to 8) (Lang. 2) 03-01-2022]

126. yackbZ dk ,d lsaVhehVj de gksuk fdlls tqM+k 
gqvk gS\

  (A) lHkh oxZ ds iq#"kksa ds lkFk
  (B) ik¡p lky dh cPph ds lkFk
  (C) vkfnoklh iq#"kksa ds lkFk
  (D) vuqlwfpr tutkfr ds iq#"kksa ds lkFk

[CTET (6 to 8) (Lang. 2) 03-01-2022]

127. x|ka'k ds vuqlkj yackbZ esa fxjkoV ds izHkko 
ls eqä gSaµ

  (A) vuqlwfpr tutkfr ds O;fä

  (B) vkfFkZd :i ls fiNM+s yksx

  (C) vkfnoklh {ks=ksa esa jgus okyh efgyk,¡

  (D) vkfFkZd :i ls etcwr O;fä
[CTET (6 to 8) (Lang. 2) 03-01-2022]

128.  dkSu&lk 'kCn lewg ls fHkUu gS\

  (A) lkekftd  (B) vkfFkZd

  (C) ikfjokfjd (D) i`"BHkwfe
[CTET (6 to 8) (Lang. 2) 03-01-2022]

129. ^yackbZ* 'kCn gSµ

  (A) xq.kokpd fo'ks"k.k

  (B) Hkkookpd laKk

  (C) ldeZd fØ;k

  (D) tkfrokpd laKk
[CTET (6 to 8) (Lang. 2) 03-01-2022]

funsZ'k (iz'u la[;k 130 ls 136 rd)

fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 

x, iz'uksa dk mÙkj nhft,A

turk ds ikl yksdra= esa pquko gh og vL= 
gqvk djrk gS ftlds }kjk og 'kkld ny vkSj  

fojks/kh&ny nksuksa ij vadq'k vkSj fu;a=.k yxk, j[k 

ldrh gS] ij vius bl vpwd vL= ds iz;ksx ds fy, 
yksdra=h; O;oLFkk okys ns'kksa esa turk dk lHkh izdkj 
ls tkx:d rFkk lko/kku gksuk cgqr vko';d gqvk 
djrk gSA lkekftd] jktuSfrd vkfn lHkh igyqvksa ls 
tkx:d turk gh pquko ds ek/;e ls ns'k ;k izkarksa ds 
iz'kklu esa ,sls O;fDr;ksa dks Hkst ldrh gS tks okLro 
esa fufgr LokFkks± ls mGij mBdj tulsok ds dk;ks± esas 
#fp j[kus okys gksa] R;kx vkSj cfynku dh Hkkouk 
ls Hkjdj turk vkSj jk"Vªfgr dks gh loksZPp ekuus 
okys gksa vkSj muesa ,slk lc dj ldus dh 'kfä vkSj 
{kerk Hkh iw.kZ :i ls fo|eku gksA bl tkx:drk vkSj 
lko/kkuh ds vHkko esa pqukoksa dk ukVd vkSj yksdra= 
f[kyokM+ cudj jg tk;k djrs gSaA

130. tuizfrfuf/k dks D;k ugha gksuk pkfg,µ

  (A) tulsod 

  (B) jk"Vªfgr dks loksZPp ekuus okyk

  (C) LokFkhZ

  (D) fu%LokFkhZ
[CTET (6 to 8) (Lang. 2) 03-01-2022]

131.  pquko dk vpwd iz;ksx dkSu dj ldrk gS\

  (A) va/kHkä turk (B) tkx:d turk 

  (C) lks;h gqbZ turk  (D) ijs'kku turk
[CTET (6 to 8) (Lang. 2) 03-01-2022]

132. fdlds ek/;e ls 'kkld ny vkSj fojks/kh ny 

ij fu;a=.k yxk;k tk ldrk gS\

  (A) pquko (B) cfg"dkj 

  (C) leFkZu (D) izksRlkgu
[CTET (6 to 8) (Lang. 2) 03-01-2022]

133.  pquko ukVd dc cu tkrs gSa\
  (A) tc turk O;fä ds dk;Z o {kerk ls  

 izHkkfor gksdj viuk oksV ns
  (B) tc turk tkx:d rFkk lko/kku gks
  (C) tc turk tkx:d rFkk lko/kku u gks
  (D) tc turk vius oksV dk lgh iz;ksx djs

[CTET (6 to 8) (Lang. 2) 03-01-2022]

134. ^vadq'k* 'kCn dk foykse gSµ
  (A) fujadq'k  (B) yodq'k 
  (C) fu;a=.k (D) jksdFkke

[CTET (6 to 8) (Lang. 2) 03-01-2022]

135. tuizfrfuf/k;ksa esa dkSu&lk Hkko ugha gksuk 
pkfg,\

  (A) tulsok dk Hkko
  (B) R;kx dk Hkko
  (C) cfynku dk Hkko
  (D) LokFkZ dk Hkko

[CTET (6 to 8) (Lang. 2) 03-01-2022]

136. lkekftd 'kCn esa dkSu&lk izR;; gS\
  (A) br (B) bd
  (C) bZd (D) ftd

[CTET (6 to 8) (Lang. 2) 03-01-2022]

funsZ'k (iz'u la[;k 137 ls 145 rd)

fuEufyf[kr x|ka'k dks i<+dj rFkk iwNs x, iz'uksa 
ds lgh mÙkj fyf[k,A

Hkkjrsanqth ds thou dk mís'; vius ns'k dh mUufr ds 
ekxZ dks lkQ&lqFkjk vkSj yEck&pkSM+k cukuk Fkk mUgksaus 
blds dk¡Vksa vkSj dadM+ksa dks nwj fd;kA mlds nksukas 
vkSj lqUnj D;kfj;k¡ cukdj mleas euksje Qy&Qwyksa 
ds o`{k yxk,A bl izdkj mls lqjE; cuk fn;k fd 
Hkkjroklh ml ij vkuUniwoZd pydj viuh mUufr 
ds b"V LFkku rd igq¡p ldsaA ;|fi Hkkjrsanqth us vius 
yxk, gq, o`{kksa dks Qy&Qwyksa ls ynk ugha ns[kk fQj 
Hkh gesa ;g dgus esa fdlh izdkj dk ladksp ugha gksxk 
fd os thou ds mís'; esa iw.kZr;k lQy gq,A fgUnh 
Hkk"kk vkSj lkfgR; esa tks mUufr vkt fn[kkbZ iM+ jgh gS 
mlds ewy dkj.k Hkkjrsanqth gSa vkSj mUgsa gh bl mUufr 
ds cht dks jksfir djus dk Js; izkIr gSA

137. Hkkjrasnq th ds thou dk mís'; Fkkµ
  (A) ns'k dk fodkl djukA
  (B) ekxks± dks lkQ j[kukA
  (C) fgUnh Hk"kk vkSj lkfgR; dh mUufrA
  (D) Hkkjrh; laLÏfr dk fodklA

[CTET (6 to 8) (Lang. 1) 23-12-2021]

138. Hkkjrsanq th us vius thou eas D;k fd;k \
  (A) Qy&Qwyksa ds o`{k yxk,A
  (B) fgUnh Hkk"kk ,oa lkfgR; dh mUufr ds cht 

cks,A
  (C) jkLrksa dks lqUnj cuk;kA
  (D) Hkkjrh;ksa dks vkuUn iznku djus dk iz;kl 

fd;kA
[CTET (6 to 8) (Lang. 1) 23-12-2021]
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139. dk¡Vksa vkSj dadM+kas ls D;k vfHkizk; gS\
  (A) ekxZ dh #dkoVsa
  (B) lq[k vkSj nq%[k
  (C) vkl&ikl QSyh xUnxh
  (D) eu ds cqjs Hkko

[CTET (6 to 8) (Lang. 1) 23-12-2021]

140. ßbl izdkj mls lqjE; cuk fn;k fd -----------Þ 
mi;qZDr iafDr ds vuqlkj Hkkjrsanq th us fdls 
lqjE; cuk fn;k Fkk \

  (A) Hkkjrokfl;ksa ds mUufr ds ekxZ dksA
  (B) Hkkjroklh ds vkuUn dksA
  (C) fgUnh Hkk"kk ,oa lkfgR; ds ekxZ dksA
  (D) Lo;a ds thou ds mís'; dksA 

[CTET (6 to 8) (Lang. 1) 23-12-2021]    

141. ^euksje* dk vFkZ gSµ
  (A) nwj&nwj rd
  (B) fofHkUu vkdkjksa ds
  (C) cM+s&cM+s
  (D) eu dks jekus okyk

[CTET (6 to 8) (Lang. 1) 23-12-2021]   

142. ^cht dks jksfir djuk* ls vfHkizk; gSµ
  (A) dk;Z dk 'kqHkkjEHk djukA
  (B) ekxZ iz'kLr djukA
  (C) lgh lykg nsukA
  (D) Qly cksus dh rS;kjh djukA

[CTET (6 to 8) (Lang. 1) 23-12-2021]

143. ^b"V* dk 'kkfCnd vFkZ ugha gksxkµ
  (A) okafNr (B) bfPNr
  (C) nsork (D) vfHkykf"kr

[CTET (6 to 8) (Lang. 1) 23-12-2021]

144. lqUnj&lqUnj D;kfj;k¡ cukdj ------------mi;qZDr 
iafDr esa js[kkafdr 'kCn gSA

  (A) laKk (B) loZuke
  (C) fo'ks"k.k (D) fØ;k

[CTET (6 to 8) (Lang. 1) 23-12-2021]

145. ßyEck&pkSM+kÞ eas dkSu&lk lekl gS \
  (A) }U} (B) f}xq
  (C) deZ/kkj; (D) rRiq#"kA

[CTET (6 to 8) (Lang. 1) 23-12-2021]

funsZ'k (iz'u la[;k 146 ls 153 rd)

fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, iz'uksa dk mÙkj nhft,µ

fcnjh dyk dk fdyksa vkSj mldh feêh ls xgjk ukrk 
gSA ge tjk ihNs ykSVsa ml le; eas tc cM+s&cM+s 
fo'kky taxh fdys cuk, tkrs vkSj mueas ,d fo'ks"k 
txg ,dkar dksus eas ck:n[kkuk gksrk FkkA tgk¡ ck:n 
j[kk tkrk FkkA ck:n ds vUnj tks rRo gksrs gSaA os 
ck:n[kkus dh dPph tehu dh feêh esa Hkhrj xgjs rd 
tTc gksrs tkrs FksA bueas veksfu;k uke dk [kfut Hkh 
gksrk FkkA o"kks± ,d gh txg Hkkjh ek=k esa ck:n jgrk 
vkSj mldk vlj tehu ds vUnj QSyrk tkrk vkSj 

gtkjksa o"kks± rd dk;e Hkh jgrkA fcnjh odZ ds fy, 
bUgsa fdyksa dh feêh dks [kksn&[kksndj fudkyk tkrk gSA 
fdlh vU; izdkj dh feêh ls ;g dke ugha gks ikrkA 
ckr gSjr dh rks t:j gS fdUrq 'kr&izfr'kr [kjh Hkh 
gSA vusd 'kks/k gq,] iz;ksx fd, x, vkSj ifj.kke ;g 
jgk fd izkphu dky eas ck:n cukus dh i¼fr vkt 
dh i¼fr ls fcYdqy fHkUu Fkh bl dkj.k vc dksf'k'k 
djus ij Hkh oSlh feêh ugha cuk;h tk ldrh] D;ksafd 
fdlh ck:n[kkus ds uhps j[kdj fcnjh odZ ds ;ksX; 
feêh cuus eas tks oDr yxrk gS og vc fdl rjg 
lEHko gks ldrk gS \ vkSj [kksnrs&[kksnrs rks cM+s&cM+s 
[ktkus Hkh [kkyh gks tkrs gSaA ftl fnu ;g feêh fcnjh 
odZ ds fy, mi;qZDr ugha jgsxh rc ;g dyk Hkh yqIr 
gks tk,xhA bls dksbZ cpk ugha ik,xkA

146. fcnjh dyk dk lEcU/k fdyksa dh feêh ls D;ksa 
ekuk tkrk gS\

  (A) fdykas eas ck:n gksrk gS vkSj fcnjh dyk 
dk dk;Z ck:n ls gh lEHko gSA

  (B) fdyksa eas ck:n gksrk gS ftldh feêh ls 
gh fcnjh dk;Z lEHko gksrk gSA

  (C) fdyksa eas vklhe 'kkfUr gksrh gS tgk¡ fcnjh 
dk;Z 'kq: fd;k tk ldrk gSA

  (D) fdyksa dh feêh cgqr lqUnj gksrh gS vkSj 
fcnjh dk;Z ds fy, loZFkk mi;qZDr gksrh 
gSA

[CTET (6 to 8) (Lang. 2) 23-12-2021]

147. x|ka'k ds vuqlkj fcnjh dyk dks thfor j[kus 
ds fy,µ

  (A) fdyksa dk fuekZ.k djuk pkfg,
  (B) mi;qDr feêh dk izcU/k djuk pkfg,
  (C) ck:n [kkuksa dk fuekZ.k djuk pkfg,A
  (D) fcnjh dyk dks Å¡ps nke ij cspuk pkfg,A

[CTET (6 to 8) (Lang. 2) 23-12-2021]

148. ck:n[kkus dh tehu eas --------------
  (A) fpdukgV gksrh gS
  (B) veksfu;k gksrk gS
  (C) ukbVªsV gksrk gS
  (D) lksfM;e jgrk gSA

[CTET (6 to 8) (Lang. 2) 23-12-2021]

149. fdyksa esa ck:n[kkus ------------- eas gksrs gSaA
  (A) fdys ds chpksa&chp
  (B) fdys ds nkb± rjQ
  (C) ,dkUr LFkku
  (D) eq[; njokts

[CTET (6 to 8) (Lang. 2) 23-12-2021]

150. ck:n cukus dh izkphu vkSj orZeku i¼fr esaµ
  (A) vUrj gksrk gS
  (B) vUrj ugha gksrk gS
  (C) fpUru dk vUrj gS
  (D) dykdkjh dk vUrj gS

[CTET (6 to 8) (Lang. 2) 23-12-2021]

151. ^[kksnrs&[kksnrs rks cM+s&cM+s [ktkus Hkh [kkyh 
gks tkrs gSaA* x|ka'k eas vk, js[kkafdr va'k dk 
vFkZ gS fdµ

  (A) fcnjh dk;Z cgqr ifjJe dk dke gS
  (B) fcnjh dk;Z eas bLrseky gksus okyh feêh 

vf/kd [kqnkbZ ds dkj.k ,d fnu lekIr 
gks tk,xh

  (C) fcnjh dk;Z eas tehu [kksnuk gh ,dek= 
dk;Z gSA

  (D) fcnjh dk;Z ds fy, cgqr cM+h rduhd dh 
vko';drk gksxhA

[CTET (6 to 8) (Lang. 2) 23-12-2021]

152. ^[kksnrs&[kksnrs* dh rjg ,d vU; mnkgj.k gSµ
  (A) [kksnrs&Qksnrs (B) dfork&ofdrk
  (C) pyrs&pyrs (D) dadM+&iRFkj

[CTET (6 to 8) (Lang. 2) 23-12-2021]

153. ^;ksX;* dk foykse 'kCn gSµ
  (A) vlQy (B) fu;ksX;
  (C) vk;ksX; (D) v;ksX;

[CTET (6 to 8) (Lang. 2) 23-12-2021]

funsZ'k (iz'u la[;k 154 ls 160 rd)

fuEufyf[kr x|ka'k dks i<+dj fn, x, iz'uksa ds 
lgh mÙkj nhft,µ

egkRek xkaèkh /keZ dks loZ= LFkku nsrs gSaA os ,d ix 
Hkh /keZ ds fcuk pyus ds fy, rS;kj ugha ijUrq mudh 
ckr ys mM+us ds igys] izR;sd vkneh dk drZO; ;g 
gS fd og Hkyh&Hkk¡fr le> ys fd egkRek th ds èkeZ 
dk Lo:i D;k gS\ /keZ ls egkRek th dk eryc  
/keZ Å¡ps vkSj mnkj rRoksa gh dk gqvk djrk gSA muds 
ekuus ls fdls ,srjkt gks ldrk gSA

vtk¡ nsus] 'ka[k ctkus] uke nkcus vkSj uekt i<+us 
dk uke /keZ ugha gSA 'kq¼kpj.k vkSj lnkpkj gh èkeZ 
ds Li"V fpÊ gSaA nks ?k.Vs rd cSBdj iwtk dhft, 
vkSj ik¡p oDr dh uekt Hkh vnk dhft,] ijUrq 
bZ'oj dks bl izdkj fj'or ds ns pqdus ds i'pkr~ ;fn 
vki vius dks fnu Hkj csbZekuh djus vkSj nwljksa dks 
rdyhQ igq¡pkus] ds fy, vktkn le>rs gaS rks bl 
èkeZ dks vc vkxs vkus okyk le; dnkfi ugah fVdus 
nsxkA vc rks] vkidk iwtk&ikB ns[kk tk,xk] vkidh 
Hkyeulkgr dh dlkSVh dsoy vkidk vpkj.k gksxhA 
lcds dY;k.k dh n`f"V ls vkidks vius vkpkj.k dks 
lq/kkjuk iM+sxk vkSj ;fn vki vius vkpj.k dks ugaha  
lq/kkjsaxs rks uekT+k vkSj jksT+ks iwtk vkSj xk;=h vkidks 
ns'k ds vU; yksxksa dh vktknh dks jkSanus vkSj ns'k 
Hkj esa mRikrksa dk dhpM+ mNkyus ds fy, vkT+kkn u 
NksM+ ldsxhA

,sls /kk£ed vkSj nhunkj vknfe;ksa ls rks] os yk&etgc 
vkSj ukfLrd vkneh dgha vf/kd vPNs vkSj Å¡ps gSa] 
ftudk vkpj.k vPNk gS tks nwljksa ds lq[k&nq%[k dk 
[;ky j[krs gSaA
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154. yk&etgc vkSj ukfLrd vkneh dgha vf/kd 
vPNs vkSj Å¡ps gSaA okD; eas js[kkafdr 'kCn dk 
vFkZ gSµ

  (A) bZ'oj ij vlhe vkLFkk okys
  (B) ftldk dksbZ /keZ ugha gks
  (C) bZ'oj ij fo'okl j[kus okys
  (D) efUnj esa iwtk djus okys

[CTET (6 to 8) (Lang. 2) 23-12-2021]

155. xkaèkh th us /keZ dks ------------ ds :i eas 
O;k[;kf;r fd;k gSA

  (A) mikluk i¼fr (B) ân; dh mnkjrk
  (C) Å¡ps vkn'kks± (D) ijEijk fuoZgu

[CTET (6 to 8) (Lang. 2) 23-12-2021]

156. x|ka'k eas fdu yksxksa dks vPNk ekuk x;k gS\
  (A) tks lnk Hkkstu djrs gSa
  (B) tks nsj rd mikluk djrs gSa
  (C) tks Å¡ps ij dk;Z djrs gSa
  (D) ftudk vkpj.k vPNk gS

[CTET (6 to 8) (Lang. 2) 23-12-2021]

157. ßmuds ekuus easa fdls ,srjkt gks ldrk gS\Þ 
okD; esa js[kkafdr va'k dk rkRi;Z gSµ

  (A) vkuUn (B) vkifÙk
  (C) NwV (D) tfVyrk

[CTET (6 to 8) (Lang. 2) 23-12-2021]

158. ^vkidks* 'kCn gS--------------
  (A) laKk (B) loZuke
  (C) fo'ks"k.k (D) fØ;k

[CTET (6 to 8) (Lang. 2) 23-12-2021]

159. x|ka'k eas vkpj.k ds lUnHkZ esa fdl ckr ij 
cy fn;k x;k gS\

  (A) nwljksa ds vkpkj.k dk ewY;akdu
  (B) nwljksa dk vkpj.k lq/kkjuk
  (C) Lo;a dk vkpj.k lq/kkjuk
  (D) Lo;a ds vkpkj.k dh dfe;k¡ fxuuk

[CTET (6 to 8) (Lang. 2) 23-12-2021]

160. ^izR;sd* dk lfU/k foPNsn gS-------------
  (A) izfr $ ,d (B) izk $ ;sd
  (C) izfr $ ,sd (D) izfr $ ,d~

[CTET (6 to 8) (Lang. 2) 23-12-2021]

funsZ'k (iz'u la[;k 161 ls 169 rd)

fuEufyf[kr x|ka'k dks i<+dj iwNs x, iz'uksa ds 
lcls mi;qDr mÙkj okys fodYi pqfu,A

[ksy dh d{kk 'kq: gqbZ rks ,d nqcyh&iryh yM+dh 
f'k{kd ls vksyfEid fjdkWM~lZ ds ckjs esa loky iwNus 
yxhA bl ij d{kk esa lHkh Nk= g¡l iM+sA pkj lky dh 
mez esa gh mls iksfy;ks gks x;k FkkA f'k{kd us Hkh O;aX; 
fd;k] ̂ rqe [ksyksa ds ckjs esa tkudj D;k djksxh \ rqe 
rks Bhd ls [kM+h Hkh ugha gks ldrha] fQj vksyfEid ls 
rqEgkjk D;k eryc \ rqEgsa dkSu&lk [ksyksa esa Hkkx ysuk 

gS tks ;g lc tkuuk pkgrh gksA* mnkl gksdj yM+dh 
pqipki cSB xbZA lkjh Dykl ml ij nsj rd g¡lrh 
jghA ?kj tkdj mlus ek¡ ls iwNk] ^D;k eSa nqfu;k dh 
lcls rst+ /kkod cu ldrh gw¡ \* mldh ek¡ us mls 
izsfjr fd;k vkSj dgk] ^rqe dqN Hkh dj ldrh gksA 
bl lalkj esa ukeqefdu dqN Hkh ugha gSA*

vxys fnu tc [ksy ihfj;M esa mls ckdh cPpksa ls 
vyx fcBk;k x;k] rks mlus dqN lkspdj cSlkf[k;k¡ 
l¡Hkkyh vkSj n`<+ fu'p; ds lkFk cksyh] ^lj] ;kn 
jf[k,xk] vxj yxu lPph vkSj bjkns cqyUn gksa] rks 
lc dqN lEHko gSA* lHkh us bls Hkh etkd esa fy;k 
vkSj mldh ckr ij Bgkdk yxk;kA

vc og yM+dh rst+ pyus ds vH;kl esa tqV xbZ] 
og dksp dh lykg ij vey djus yxh] vPNh vkSj 
ikSf"Vd [kqjkd ysus yxhA dqN fnuksa esa mlus vPNh 
rjg pyuk] fQj nkSM+uk lh[k fy;kA mlds ckn og 
NksVh&eksVh nkSM+ esa fgLlk ysus yxhA vc dbZ yksx 
mldh enn ds fy, vkxs vkus yxsA os mldk mRlkg 
c<+krsA mlds gkSlys cqyUn gksus yxsA mlus 1960 ds 
vksyfEid esa 100 ehVj] 200 ehVj vkSj 4 × 100 

fjys esa oYMZ fjdkWMZ cukdj lcdks vk'p;Zpfdr dj 
fn;kA vksyfEid esa bfrgkl jpus okyh og ckfydk Fkh 
vesfjdk dh izfl¼ /kkfodk foYek :MksYQA

[CTET (6 to 8) (Lang. 1) 31-01-2021]

161. ^O;aX; fd;k* dk lcls mi;qDr vFkZ gksxk&
  (A) Mk¡V yxkbZ (B) rkuk ekjk
  (C) migkl fd;k (D) fudky fn;k

162. ^ikSf"Vd [kqjkd* esa nksuksa 'kCn gSa] Øe'k%
  (A) ns'kt&vkxr (B) rRle&vkxr
  (C) rRle&rn~Hko (D) rn~Hko&rRle

163. ^rqEgsa dkSu&lk [ksyksa esa Hkkx ysuk gS--------* HkkokFkZ 
dh n`f"V ls ns[ksa rks mi;qZDr okD; gS4

  (A) iz'ukFkZd okD; (B) fo/kkukFkZd okD;
  (C) fu"ks/kkFkZd okD; (D) foLe;kFkZd okD;

164. yM+dh ds loky iwNus ij Nk= g¡l iM+s] D;ksafd 
yM+dh&

  (A) [ksyuk ugha pkgrh FkhA 
  (B) cgqr NksVh FkhA
  (C) [ksyuk ugha tkurh FkhA 
  (D) [ksy ugha ldrh FkhA

165. vkids fopkj ls yM+dh dks lQyrk dh lcls 
cM+h izsj.kk fdlus nh \

  (A) mldh ek¡ us 
  (B) mlds izf'k{kd us
  (C) mlds f'k{kd us 
  (D) mlds lgikfB;ksa us

166. f'k{kd ds mÙkj ls mlds ckjs esa /kkj.kk curh 
gS fd og

  (A) dBksj FkkA (B) fgrS"kh FkkA
  (C) lR;oknh FkkA (D) izsjd FkkA

167. yM+dh ds vuqlkj lc dqN lEHko gS] ;fn gksµ

  (A) dBksj ifjJe vkSj lcy 'kjhj 

  (B) cqyUn gkSlyk vkSj bZ'oj dh Ïik

  (C) lPph izsj.kk vkSj vPNk izf'k{kd 

  (D) lPph yxu vkSj Å¡pk bjknk

168. x|ka'k esa fufgr eq[; lUns'k gsa..........

  (A) lQyrk ds fy, yxu vkSj ifjJe 

vko';d gSA 

  (B) 'kkjhfjd v{kerk okys yksxksa dks vf/kd 

ifjJe djuk iM+rk gSA

  (C) fdlh dk et+kd mM+kuk Bhd ughaA

  (D) f'k{kd dks n;kyq gksuk pkfg,A

169. ^vk'p;Z&pfdr* dk foxzg gksuk&

  (A) vk'p;Z ls pfdr 

  (B) vk'p;Z gS tks pfdr

  (C) vk'p;Z esa pfdr 

  (D) vk'p;Z vkSj pfdr

funsZ'k (iz'u la[;k 170 ls 178 rd)

uhps fn, x, x|ka'k dks i<+dj fuEufyf[kr iz'uksa 

esa lcls mfpr fodYi dks pqfu,A     

i;kZoj.k ds izfr xgjh laosnu'khyrk izkphudky ls 

gh feyrh gSA vFkoZosn esa fy[kk gS&Hkwfe ekrk gS] ge 

i`Foh dh lUrku gSaA ,d LFkku ij ;g Hkh fy[kk gS 

fd gs ifo= djus okyh Hkwfe] ge dksbZ ,slk dke u 

djsa ftlls rsjs ân; dks vk?kkr igq¡psA ân; dks 

vk?kkr igq¡pkus dk ;gk¡ vFkZ gS i`Foh osG ikfjfLFkfrdh 

rU= osG lkFk owzGj NsM+NkM+A gesa izko`Gfrd lalk/kuksa ds 

vizko`Gfrd vkSj vlhfer nksgu ls cpuk gksxkA vkt 

vko';drk bl ckr dh gS fd fo'o osG reke jk"Vª 

tyok;q ifjorZu osG xEHkhj [krjs dks ysdj vkilh 

erHksn Hkqyk nsa vkSj viuh&viuh ftEesnkjh bZekunkjh 

ls fuHkk,¡] rkfd le; jgrs loZuk'k ls mcjk tk losGA 

fo'o&fouk'k ls fuiVus ds fy, lkewfgd ,oa O;fDrxr 

iz;klksa dh t:jr gSA bl fn'kk esa vkUnksyu gks jgs 

gSaA vj.;&jksnu osG cnys vj.;&laj{k.k dh ckr gks 

jgh gS] lpeqp gesa vkRej{kk osG fy, i`Foh dh j{kk 

djuh gksxhA Hkwfe ekrk gS vkSj ge mldh lUrku&bl 

dFku dks pfjrkFkZ djuk gksxkA 
[CTET (6 to 8) (Lang. 1) 22-02-2015]

170. ^ge i`Foh dh lUrku gS*&^ge* ls rkRi;Z gSµ 

  (A) lalkj osG lHkh yksx 

  (B) ge lHkh ukxfjd 

  (C) ,d [kkl ns'k osG yksx

   (D) ge Hkkjroklh 

171. ^i;kZoj.k* dk lfU/k&foPNsn gksxkµ

  (A) ij~ +  vkoj.k  (B) ij~ + ;koj.k 

  (C) ifj + vkoj.k   (D) ifj + ;koj.k 
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172. ge izo`Gfr osG ân; dks vk?kkr igq¡pkrs gSa ;fn 

geµ   

  (A) ikfjfLFkfrdh ls NsM+NkM+ djrs gSa
  (B) i`Foh dh [kqnkbZ djrs gSa
  (C) lalk/kuksa dk nksgu djrs gSa
  (D) i`Foh ls cqjk O;ogkj djrs  gSa

173. ^loZuk'k ls mcjk tk losG*&^mcjk* dk vFkZ gSµ
  (A) gVk  (B) cpk 
  (C) fuiVk  (D) rSjk 

174. x|ka'k esa ̂ pfjrkFkZ djuk* dk mYys[k gSA bldk 
vk'k; gSµ  

  (A) cgl djuk  (B) fl¼ djuk 
  (C) viukuk  (D) p f j = & f p = . k 

djuk 

175. fo'o osG lHkh ns'kksa ls vis{kk dh xbZ gS fd osµ
  (A) i;kZoj.k dh j{kk djsa
  (B) vius mÙkjnkf;Ro bZekunkjh ls fuHkk,¡
  (C) O;fDrxr iz;kl djsa 
  (D) feytqy dj dk;Z djsa 

176. ^vj.;&laj{k.k* dk vFkZ gSµ  

  (A) ouksa dh j{kk
  (B) izo`Gfr dh j{kk 
  (C) i;kZoj.k dh j{kk
   (D) lHkh dh j{kk 

177. tks lEcU/k ek¡ vkSj mldh lUrku esa gS] ogh 
lEcUèk gSµ 

  (A) i`Foh vkSj i`Foh fuokfl;kssa esa 
  (B) ekrk vkSj iq= esa 
  (C) /kjrh vkSj lHkh ns'kksa esa 
  (D) izo`Gfr vkSj i;kZoj.k eas

178. ^ozwwGj* 'kCn gSµ  

  (A) loZuke  (B) fozG;k 
  (C) fo'ks"k.k  (D) laKk 

funsZ'k (iz'u la[;k 179 ls 186 rd)

fuEufyf[kr x|ka'k dks i<+dj iwNs x;s iz'uksa ds 
lcls mi;qDr mÙkj okys fodYi pqfu;sA

vkt f'k{kk ds {ks= esa Hkh cktkjhdj.k gks tkus ds dkj.k 
f'k{kk eg¡xh vkSj xjhcksa dh igq¡p ls ckgj gks pqdh gSA 
,d vksj rks #fp vkSj mi;ksfxrk ds vuqlkj mi;qDr 
f'k{kk ikus ds fy, xjhcksa ds ikl èku miyCèk ugha gS] 
rks ogha tks lEiUu gSa muds ikl le; dk vHkko gSA 
,sls esa vkWuykbu f'k{kk O;oLFkk ,d csgrj fodYi 
ds rkSj ij mHkjh gSA fiNys o"kZ ns'k ds xjhc vkSj 
Ldwy u tk ldus okys cPpksa ds fy, ljdkj dh 
vksj ls izHkkoh dne mBkrs gq, bZ&f'k{kk O;oLFkk dh 
'kq#vkr djrs gq, ^Lo;a MkWV thvksoh MkWV bu* osc 
iksVZy dh 'kq#vkr dh xbZ gSA blls cPps vkWuykbu 
f'k{kk ik ldsaxs vkSj mUgsa fdlh Hkh rjg dk 'kqYd ugha 
nsuk gksxkA bl iksVZy dh fo'ks"krk ;g gS fd blls 
Nk= eSustesasV] bathfu;fjax lfgr reke ikB~;Øeksa dh 

i<+kbZ ?kj cSBs dj ldsaxsA blls Nk=ksa dks ?kj cSBs gh 
lfVZfQdsV vkSj fMxzh Hkh gkfly gksaxs] tks fdlh Hkh 
fo'ofo|ky; esa ekU; gksaxsA

vkWuykbu ,tqds'ku ds izfr yksxksa dk c<+rk mRlkg 
ns[kdj dgk tk ldrk gS fd Hkkjr esa bldk Hkfo"; 
mTToy gSA ;gh dkj.k gS fd vc vf/kdrj f'k{k.k 
laLFkku bl O;oLFkk dks viuk jgs gSaA i<+kbZ dk c<+rk 
[kpZ vkSj fdlh Hkh izksQs'kuy dkslZ dh fMxzh izkIr djus 
ds fy, dkWystksa dk pquko] izos'k ijh{kk vkSj fQj ,d 
lkFk eksVh Qhl pqdkuk ;qokvksa dh c<+rh la[;k ds 
fy, dkQh eqf'dy lkfcr gks jgk gSA Hkkjr esa dsoy 
ckjg izfr'kr Nk=ksa dks fo'ofo|ky; esa izos'k feyrk 
gSA ,sls esa vkWuykbu f'k{kk nsus okyh dEifu;ksa ds 
fy, Hkkjr ,d cgqr cM+k cktkj cu x;k gSA vkt 
,d&nwljs dks le>us&tkuus dh ftKklk Hkh yksxksa 
esa c<+h gqbZ ns[kh tkrh gSA ,sls esa fdlh ns'k dh Hkk"kk 
lh[kuk vko';d gks tkrk gS] D;ksafd Hkk"kk lh[kus ls 
ml ns'k dh laLÏfr rFkk vU; ckrsa le>h tk ldrh 
gSaA blhfy, Hkkjr ds izfr Hkh #fp c<+h gS vkSj fgUnh 
lh[kus&fl[kkus dh ek¡x Hkh c<+h gSA ;g Hkkjr ds fy,] 
fo'ks"kdj fgUnh Hkk"kk ds fy, 'kqHk ladsr gSA 

CTET (Lang.-II)  7-July-2019 (VI-VIII)

179. Hkkjr esa vkWuykbu f'k{kk esa fujUrj #fp c<+us 
dk mi;qDr dkj.k ugha gSµ

  (A) vf/kdrj f'k{k.k laLFkku vkWuykbu 
O;oLFkk viuk jgs gSa

  (B) eg¡xh gksus ds dkj.k i<+kbZ esa [kpZ c<+rk 
tk jgk gS

  (C) fo'o ds vusd ns'kksa dh Hkkjr esa #fp c<+ 
jgh gS 

  (D) vf/kdrj Nk=ksa dks fo'ofo|ky;ksa esa izos'k 
ugha feyrk 

180. Hkkjr vkWuykbu f'k{kk nsus okyh dEifu;ksa ds 
fy, cgqr cM+k cktkj cu x;k gS] D;ksafdµ

  (A) vkt ,d&nwljs dks le>us dh ftKklk 
c<+h gS

  (B) vkWuykbu f'k{kk ikus dk QS'ku ;qod& 
;qofr;ksa dks vkdf"kZr djrk gS

  (C) yksxksa dks dksbZ d"B mBk, fcuk fMxzh fey 
tkrh gS

  (D) vf/kdka'k ;qod fdUgha dkj.kksa ls 
fo'ofo|ky;h f'k{kk ls oafpr jg tkrs gSa

181. x|ka'k esa iz;qDr fuEufyf[kr okD; dks pkj 
Hkkxksa esa ck¡Vk x;k gS ftuesa ls fdlh ,d Hkkx 
esas v'kqf¼ gSA v'kq¼ Hkkx dks igpkudj fpfÊr 
dhft,A

  (i) vkt ,d&nwljs dks 

  (ii) le>us&tkuus dh ftKklk Hkh

  (iii) yksxksa esa c<+h gqbZ  

  (iv) ns[kh tkrh gSA

  (A) (ii) (B) (iii)
  (C) (iv) (D) (i)

182. mRifÙk dh n`f"V ls ^vkWuykbu* vkSj ^f'k{kk* 
'kCn gSa Øe'k%µ

  (A) rn~Hko] vkxr (B) vkxr] rRle
  (C) rn~Hko] rRle (D) rRle] rn~Hko

183. ^mi;ksfxrk* 'kCn esa milxZ vkSj izR;; Øe'k% 
gSaµ

  (A) mi] brk (B) m] fxrk
  (C) mi] rk (D) rk] mi

184. vkt f'k{kk xjhcksa dh igq¡p ls ckgj gksrh tk 
jgh gSA bldk dkj.k gSµ

  (A) xjhc vkj{k.k dk ykHk ugha mBk ikrs
  (B) mi;qDr O;oLFkk dk ljdkjhdj.k gks x;k 

gS
  (C) cktkjhdj.k ds dkj.k f'k{kk eg¡xh gks xbZ 

gS
  (D) xjhc vf/kd xjhc gksrs tk jgs gSa

185. ^vkWuykbu f'k{kk O;oLFkk* dk rkRi;Z gSµ
  (A) ?kj cSBs baVjusV ds ek/;e ls f'k{kk
  (B) eSustesaV] bathfu;fjax vkfn dh f'k{kk
  (C) xjhc vkSj lk/kughu yksxksa ds fy, f'k{kk
  (D) fdlh Hkh izdkj ds 'kqYd ls eqDr f'k{kk

186. Hkkjr ds fy, 'kqHk&ladsr gSµ
  (A) f'k{kk dk cktkjhdj.k
  (B) fgUnh lh[kus&fl[kkus dh ek¡x c<+uk
  (C) fu%'kqYd f'k{kk O;oLFkk
  (D) vkWuykbu f'k{kk

funsZ'k (iz'u la[;k 187 ls 193 rd)

fuEufyf[kr x|ka'k dks i<+dj iwNs x, iz'uksa ds lcls 
mi;qDr mÙkj okys fodYi dks pqfu,A

f'k{kk euq"; dks efLr"d vkSj 'kjhj dk mfpr 
rkyesy djuk fl[kkrh gSA og f'k{kk tks ekuo dks 
ikB~;&iqLrdksa ds Kku ds vfrfjDr dqN xaHkhj fparu 
u nsA ;fn gekjh f'k{kk lqlaLÏr] lH;] lPpfj= ,oa 
vPNs ukxfjd ugha cuk ldrh] rks mlls D;k ykHk \ 
lân;] lPpk ijarq vui<+ etnwj ml Lukrd ls dgha 
vPNk gS] tks funZ; vkSj pfj=ghu gSA lalkj ds lHkh 
oSHko vkSj lq[k&lk/ku Hkh euq"; dks rc rd lq[kh 
ugha cuk ldrs] tc rd fd euq"; dks vkafRed Kku 
u gksA gekjs dqN vf/kdkj vkSj drZO; Hkh gSaA f'kf{kr 
O;fDr dks drZO;ksa dk mruk gh /;ku j[kuk pkkfg,A 
ftruk fd vfèkdkjksa dkA

[CTET (6 to 8) (Lang. 2) 08-12-2019]

187. og vf'kf{kr f'kf{kr O;fDr ls vPNk gS] tksµ
  (A) xaHkhj fparu nsA
  (B) vius vf/kdkj turk gksA
  (C) efLr"d dk lgh mi;ksx djrk gksA
  (D) n;kyq vkSj lPpfj= gksA

188. vPNh f'k{kk dh fo'ks"krk ugha gSµ
  (A) lqlaLÏr cukukA
  (B) vuqÙkjnk;h cukukA
  (C) vkfRed Kku nsukA
  (D) lPpfj= ukxfjd cukukA
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189. vf/kdkjksa vkSj drZO;ksa ds fo"k; esa lqf'kf{kr 
O;fDr µ

  (A) drZO;ksa ds izfr lpsr jgrk gSA
  (B) nksuksa dk cjkcj /;ku n[krk gSA
  (C) bUgsa fo'ks"k egÙo ugha nsrkA
  (D) vf/kdkjksa dh tkudkjh j[krk gSA

190. ^gekjs dqN vf/kdkj vkSj drZO; Hkh gSaA* mi;qZDr 
okD; fdl izdkj dk gS \

  (A) la;qDr okD; (B) feJ okD;
  (C) eq[; okD; (D) ljy okD;

191. dkSu&lk 'kCn vuq milxZ ls ugha cuk gS \
  (A) vui<+ (B) vuqi;ksxh
  (C) vuqidkj (D) vuqie

192. euq"; rHkh lq[kh dgk tk ldrk gS] tcµ
  (A) mlds ikl lq[k ds lk/ku gksaA
  (B) mls mÙkjnkf;Ro fuHkkuk vkrk gksA
  (C) mls vkfRed Kku gksA
  (D) og f'kf{kr gksA

193. ^lq[k&lk/ku* dk foxzg vkSj lekl gSµ
  (A) lq[kksa ds lk/ku & rRiq#"k
  (B) lq[kksa ds lk/kuksa dk lewg & n~foxq
  (C) lq[k ls l/ks tks lk/ku & deZ/kkj;
  (D) lq[k vkSj lk/ku & n~oan~o

funsZ'k (iz'u la[;k 194 ls 200 rd)

uhps fn, x, x|ka'k dks i<+dj iwNs x, iz'uksa ds 
lgh@lcls mfpr mÙkj okys fodYi dks pqfu, %

f'k{kk vkt nqfo/kk ds vtc nksjkgs ij [kM+h gSA ,d 
jkLrk pdkpkSa/k dk gS] e`xr`".kk dk gSA cktkj dh 
e`xr`".kk f'k{kkFkhZ dks yksHk&ykyp nsdj viuh rjQ 
nkSM+krs jgus dks foo'k djus dks mrk: [kM+h gSA cktkj 
ds bu yypkus okys jkLrksa ij vkd"kZ.k gS] pdkpkSaèk 
gS vkSj lEeksfgr dj nsus okys lius gSaA nwljh rjQ 
f'k{kk dk lk/kuk ekxZ gS tks 'kkafr ns ldrk gS] larks"k 
ns ldrk gS vkSj gekjs vkRerRo dks izcy djrk gqvk 
foey foosd ns ldrk gSA fuf'pr gh og ekxZ Js;Ldj 
gS] exj viuh vksj vkdf"kZr djus okys cktkj dk 
ekxZ izs;Ldj gSA bl nksjkgs ij [kM+k f'k{kkFkhZ cktkj 
dks pqu ysrk gSA yk[kksa&djksM+ksa yksx vkt blh jkLrs 
ds ykyp esa vk x, gSa vkSj f'k{kk ds Hk¡ojtky esa 
Q¡l x, gSaA cktkj dh [kwch ;gh gS fd og Q¡lus dk 
vglkl fdlh dks ugha gksus nsrk vkSj euq"; yxkrkj 
Q¡lrk pyk tkrk gSA fdlh dks ;g eglwl ugha gksrk 
fd og nyny esa gS cfYd eglwl ;g gksrk gS fd 
cktkj }kjk fn, x, iSdst ds dkj.k og lq[kh gSA 
vc ;g vyx ckr gS fd lPpk lq[k D;k gS \ vkSj 
lq[k dk Hkze D;k gS \ t:jr fopkj djus dh gSA 
loky ;g gS fd cktkj fopkj djus dk Hkh vodk'k 
nsrk gS ;k fd ughaA

[CTET (6 to 8) (Lang. 2) Sept., 2016]

194. ys[kd us f'k{kk ds lanHkZ esa fdl ckr dks egRo 
fn;k gS \

  (A) lk/kuk dks  (B) foosd dks
  (C) f'k{kkFkhZ dks (D) cktkj dks

195. ßnwljh rjQ f'k{kk dk lk/kuk ekxZ gSÞµrks igyh 
rjQ D;k gS \

  (A) ,d vPNk iSdst vkSj lq[k&'kkafr 
  (B) nyny esa Q¡ls gksus dk vglkl
  (C) nqfo/kk dk nksjkgk vkSj HkVdko
  (D) cktkj dh pdkpkSa/k] lEeksgu vkSj liu

196. fuEu esa ls dkSu&lh fo'ks"krk cktkj dh ugha  
gS \

  (A) cktkj lq[kh gksus dk Hkze iSnk djrk gSA
  (B) cktkj yksxksa dks lq[k&'kkafr nsrk gSA
  (C) cktkj yksxksa dks vius vkd"kZ.k ls ck¡èkrk 

gSA
  (D) cktkj ,d nyny dh rjg gSA

197. x|ka'k ds vuqlkj yksx cktkj dks pqurs gSa] 
D;ksafdµ

  (A) yksxksa ds ikl /ku laifÙk dh deh gS
  (B) yksx cktkj ls izse djrs gSa
  (C) lHkh yksx ykyph gSa
  (D) cktkj eas vkd"kZ.k gS

198. x|ka'k ds vk/kkj ij dgk tk ldrk gS fdµ
  (A) yksx lkalkfjd thou thuk ilan djrs gSa
  (B) yksx nwljksa dks Bxus esa vkuafnr gksrs gSa
  (C) HkkSfrdrkoknh lksp gkoh ugha gks jgh gS
  (D) HkkSfrdrkoknh lksp gkoh gks jgh gS 

199. ^vkd"kZ.k* dk foykse 'kCn gSµ
  (A) mRd"kZ (B) fod"kZ.k
  (C) xq#Rokd"kZ.k (D) la?k"kZ.k

200. ^e`xr`".kk* dk rkRi;Z gSµ
  (A) nsj ls yxh gqbZ I;kl dk ,glkl
  (B) fdlh dks Q¡lkus dk "kM~;a=
  (C) fgjuksa dh I;kl dk lkewfgd uke
  (D) nwj ls yypkus okyh oLrq dk Hkze 

funsZ'k (iz'u la[;k 201 ls 206 rd)

uhps fn;s x;s x|ka'k dks i<+dj fuEufyf[kr iz'uksa 
esa lcls mfpr fodYi pqfu,µ

gekjs fo'kky ns'k esa fgeky; dh vuUr fgejkf'k okys 
Xysf'k;jksa us ftu ufn;ksa dks tUe fn;k gS] muesa xaxk 
vkSj ;equk uke dh ufn;k¡ gekjs thou dh /kefu;ksa dh 
rjg jgh gSaA mudh xksn esa gekjs iwoZtksa us lH;rk osG 
izkax.k esa vusd u;s [ksy [ksysA muosG rVksa ij thou dk 
tks izokg izpfyr gqvk] og vkt rd gekjs Hkwr vkSj 
Hkkoh thou dks lhap jgk gSA Hkkjr gekjk ns'k gS vkSj 
ge mlosG ukxfjd gSa] ;g ,d lPpkbZ gekjs jkse&jkse 
esa fca/kh gqbZ gSA ufn;ksa dh vUrosZnh esa iuius okys vkfn 
;qx osG thou ij ge vc ftruk vf/kd fopkj djrs 
gSa gedks vius fodkl vkSj o`f¼ dh lukru tM+ksa dk 
i`Foh osG lkFk lEcU/k mruk gh vf/kd ?kfu"B tku 
iM+rk gSA gekjs /kkfeZd ioks± ij yk[kksa yksx unh vkSj 
tyk'k;ksa ds rVksa ij ,d= gksrs gSaA i`Foh ds ,d&,d 
tyk'k; vkSj ljksoj dks Hkkjrh; Hkkouk us Bhd izdkj 

ls le>us dk iz;Ru fd;k] muosG lkFk lkSgknZ dk Hkko 
mRiUu fd;k tks gj ,d ih<+h osG lkFk u;s :i esa c¡/kk 
jgk] fdUrq vkt fLFkfr cM+h fofp= vkSj ,d lhek rd 
fpUrktud gks xbZ gSA gekjh vkS|ksfxd ØkfUr us bUgsa 
iznwf"kr dj fo"kSyk cuk fn;k gSA thounkf;uh ufn;k¡ 
vkt izk.k/kkfruh gksrh tk jgh gSaA fey&cSBdj lkspus 
dh vko';drk gS fd D;k djsa fd ;s iqu% thounkf;uh 
gksa vkSj mu lksph gqbZ ;kstukvksa dks vey esa ykus dh 
Hkh vko';drk gSA

[CTET (6 to 8) (Lang. 2) 22-02-2015]

201. xaxk&;equk dks ty dgk¡ ls feyrk gS\ 

  (A) ekuljksoj ls
  (B) vuUr tyjkf'k ls
  (C) Xysf'k;jksa ls 
  (D) fgeky; ls 

202. ys[kd osG vuqlkj gekjh lH;rk dk tUe gqvk 
gSµ

  (A) xaxk&;equk esa 
  (B) ufn;ksa dh xksn esa  
  (C) izo`Gfr osG izkax.k esa 
  (D) fgeky; esa 

203. fLFkfr fpUrktud D;ksa gks xbZ gS\
  (A) ufn;k¡ osx ls cgus yxh gSa 
  (B) ufn;k¡ de gks xbZ gSa
  (C) ufn;k¡ ck<+ ykus yxh gSa
  (D) ufn;k¡ iznwf"kr gks xbZ gSa

204. ^thounkf;uh* dk foykse gSµ 

  (A) vthounkf;uh 
  (B) izk.k?kkfruh 
  (C) izk.kkUrd okfguh
  (D) thoiznkf;uh 

205. ^vkS|ksfxd* 'kCn dk ewy 'kCn gSµ 

  (A) vkS|ksx  (B) mn;ksx
  (C) m|ksx  (D) ;ksfxd 

206. ftldk dksbZ vUr u gks mls dgrs gSaµ 

  (A) vuUr (B) vkuUn 
  (C) v[k.M  (D) vlhe

funsZ'k (iz'u la[;k 207 ls 213 rd)

uhps fn;s x;s x|ka'k dks i<+dj lcls mfpr fodYi 
dk p;u dhft,%

cky&efLr"d dh izo`Gfr dh ;g ek¡x gksrh gS fd 
cPps dk ckSf¼d fodkl fopkjksa osG òksr osG ikl gksA 
nwljs 'kCnksa esa] ;g Bksl] okLrfod fcacksa osG chp vkSj 
loZizFke izo`Gfr dh xksn esa gks] tgk¡ cPpk Bksl fcac 
dks ns[ks] lqus vkSj fQj mldk fopkj bl fcac osG ckjs 
esa izkIr lwpuk osG ̂ lalkèku* osG dke esa yxsA tc cPps 
dks izo`Gfr ls nwj j[kk tkrk gS] tc cPpk i<+kbZ osG 
igys fnu ls gh osGoy 'kCn osG :i esa lkjk Kku vkSj 
cksèk ikrk gS] mlosG efLr"d dh dksf'kdk,¡ tYnh gh 
Fkd tkrh gSa vkSj vè;kid }kjk izLrqr dke dks fuHkk 
ugha ikrhaA vkSj bu dksf'kdkvksa dks rks vHkh fodflr] 
l'kDr] lqn`<+ gksuk gSA ;gha ij ml ckr dk dkj.k 
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fNik gS] tks izkFkfed d{kkvksa esa vDlj ns[kus esa vkrh 
gSaµ cPpk pqipki cSBk vè;kid dh vk¡[kksa esa vk¡[ksa 
Mkys ns[krk gS] ekuksa cM+s è;ku ls lqu jgk gks] ysfdu 
okLro esa og ,d 'kCn Hkh ugha le> ikrk] D;ksafd 
cPps dks fu;eksa ij lksp&fopkj djuk iM+rk gS] vkSj 
;s lc vewrZ lkekU;ho`Gr ckrsa gksrh gSaA

[CTET (6 to 8) (Lang. 2) 15-02-2014]

207. ^^---- okLro esa og ,d 'kCn Hkh ugha le> ikrk 
---** bldk laHkkfor dkj.k D;k gS\

  (A) cPpksa osG ikl dksbZ ltho fcac ugha gksrk
  (B) cPps eancqf¼ gksrs gSa
  (C) cPpksa osG ikl cgqr lhfer vuqHko gksrs gSa
  (D) f'k{kd cPpksa dh ckr ugha lqurs

208. cPpksa dks izo`Gfr osG fudV j[kus dh ckr D;ksa 
dh xbZ gS\

  (A) izo`Gfr esa 'kq¼ vkWDlhtu feyrh gS
  (B) izo`Gfr dk gjk&Hkjk okrkoj.k cPpksa dks 

vkdf"kZr djrk gS
  (C) cPps viuh bafæ;ksa osG ekè;e ls fcac cukrs 

gSa
  (D) cPps dks lcls T+;knk fopkj izko`Gfrd 

okrkoj.k esa gh vkrs gSa

209. osGoy 'kCnksa osG :i esa lkjk Kku nsuk %
  (A) cky&efLr"d dks iz[kj cukrk gS
  (B) cky&efLr"d dh izo`Gfr osG fo#¼ gS
  (C) cky&efLr"d dh dksf'kdkvksa dks fodflr 

djrk gS
  (D) cky&efLr"d dh izo`Gfr osG vuqowGy gS

210. bl x|ka'k osG vkèkkj ij vki viuh d{kk esa 
D;k djsaxs\

  (A) cPpksa dks eSnku] ou&ckx dh lSj djk,¡xsA
  (B) cPpksa ij lh[kus dk cks> ugha Mkysaxs
  (C) cPpksa osG efLr"d dks iz[kj cukus osG fy, 

dBksj ifjJe djsaxs vkSj cPpksa ls djok,¡xs
  (D) ,sls vuqowGy okrkoj.k dk fuekZ.k djsaxs] 

tgk¡ cPpksa dks bafæ; vuqHko osG volj 
fey losaG

211. ^^;gha ij ml ckr dk dkj.k fNik gS] tks 
izkFkfed -------------------------------------------------- 
vkrh gSaA** okD; esa fdl ckr dh rjQ b'kkjk 
fn;k x;k gS\

  (A) cPps dk d{kk esa lnSo Mj osG dkj.k 
pqipki cSBuk

  (B) vè;kid dk lnSo cksyuk 
  (C) cPps }kjk vè;kid dh ckrksa dks u le> 

ikuk 
  (D) cPps }kjk fujUrj lksp&fopkj djuk

212. fdl 'kCn esa ^bd* izR;; dk iz;ksx ugha fd;k 
tk ldrk\

  (A) izo`Gfr (B) Kku
  (C) okLro (D) cqf¼

213. ^^tc cPps dks izo`Gfr ls nwj j[kk tkrk gS ---A** 
okD; osG js[kkafdr va'k esa dkSu&lk dkjd gS\

  (A) drkZ dkjd (B) lEiznku dkjd
  (C) deZ dkjd (D) viknku dkjd

funsZ'k (iz'u la[;k 214 ls 221 rd)

x|ka'k dks i<+dj fuEufyf[kr ç'uksa esa lcls mfpr 
fodYi pqfu,A

,d laLo`Gr O;fä fdlh u;h pht dh [kkst djrk gS] 
fdUrq mldh larku dks og vius iwoZt ls vuk;kl 
izkIr gks tkrh gSA ftl O;fä dh cqf¼ us vFkok mlds 
foosd us fdlh Hkh u, rF; dk n'kZu fd;k] og O;fä 
gh okLrfod laLo`Gr O;fä gS vkSj mldh larku ftls 
vius iwoZt ls og oLrq vuk;kl gh izkIr gks xbZ gS] og 
vius iwoZt dh Hkk¡fr lH; Hkys gh cu tk,] laLo`Gr 
ugha dgyk ldrkA ,d vk/kqfud mnkgj.k ysaA U;wVu 
us xqjGRokd"kZ.k ds fl¼kar dk vkfo"dkj fd;kA og 
laLo`Gr ekuo FkkA vkt ds ;qx dk HkkSfrd foKku dk 
fo|kFkhZ U;wVu ds xqjGRokd"kZ.k ls rks ifjfpr gS gh] 
ysfdu mlds lkFk mls vkSj Hkh vusd ckrksa dk Kku 
izkIr gS] ftuls 'kk;n U;wVu vifjfpr gh jgkA ,slk 
gksus ij Hkh ge vkt ds HkkSfrd foKku ds fo|kFkhZ dks 
U;wVu dh vis{kk vf/kd lH; Hkys gh dg ldsa] ij 
U;wVu ftruk laLo`Gr ugha dg ldrsA
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214. ^laLo`Gr* dk vFkZ gS %
  (A) Hkk"kk dk uke
  (B) lH; 
  (C) vkfo"dkj djus okyk
  (D) mi;qZDr esa ls dksbZ ugha

215. okLrfod laLo`Gr O;fä og gS tks
  (A) u, vkfo"dkj djs
  (B) u, vkfo"dkjksa dk iz;ksx djrk gS
  (C) laLo`Gr Hkk"kk tkurk gS
  (D) rF;ksa dks ;kn djrk gS

216. lH; O;fä og gS tks %
  (A) tks vkfo"dkjksa dk Kkrk gks
  (B) vPNs diM+s igurk gks
  (C) f'kf{kr gks
  (D) u, vkfo"dkj djrk gks

217. ^fo|kFkhZ* 'kCn dk laf/k&foPNsn gS %
  (A) fo $ |kFkhZ (B) fo|k $ FkhZ
  (C) fo|k $ Fkh (D) fo|k $ vFkhZ

218. ^U;wVu us xqjGRokd"kZ.k cy dh [kkst dh*A okD; 
dks deZokP; esa cnfy,A

  (A) U;wVu ds }kjk xqjGRokd"kZ.k cy dh [kkst 
dh xbZ

  (B) xqjGRokd"kZ.k cy U;wVu us [kkstk 
  (C) U;wVu us xqjGRokd"kZ.k cy dh [kkst dh
  (D) mi;qZDr esa ls dksbZ ugha

219. ^iwoZt* dk foykse 'kCn gS %
  (A) vxz.kh (B) iwokZ
  (C) iwoZ (D) vxzt

220. ^vuk;kl* dk vFkZ gS %
  (A) dfBukbZ ls (B) ljyrk ls
  (C) ifjJe ls (D) fcuk iz;kl ds

221. ^vk/kqfud* dk lekukFkhZ 'kCn gS %
  (A) izoh.k (B) izkphu
  (C) uohu (D) 'kk'or

mÙkjekyk
 1. (C) 2. (A) 3. (D) 4. (B) 5. (C) 

 6. (D) 7. (D) 8. (A) 9. (C) 10. (B) 

 11. (C) 12. (A) 13. (C) 14. (D) 15. (B) 

 16. (C) 17. (A) 18. (D) 19. (B) 20. (C) 

 21. (C) 22. (C) 23. (B) 24. (B) 25. (A)

 26. (C) 27. (D) 28. (C) 29. (C) 30. (D)

 31. (B) 32. (A) 33. (B) 34. (A) 35. (A)

 36. (C) 37. (B) 38. (D) 39. (B) 40. (A)

 41. (B) 42. (C) 43. (B) 44. (A) 45. (D)

 46. (B) 47. (B) 48. (C) 49. (D) 50. (A) 

 51. (C) 52. (B) 53. (C) 54. (A) 55. (A)

 56. (B) 57. (A) 58. (A) 59. (C) 60.  (B)

 61. (C) 62. (D) 63. (A) 64. (B) 65. (C) 

 66. (D) 67. (D) 68. (C) 69. (D) 70. (D)

 71. (C) 72. (B) 73. (D) 74. (C) 75. (D)

 76. (*) 77. (A) 78. (A) 79. (B) 80. (C) 

 81. (B) 82. (D) 83. (A) 84. (D) 85. (B) 

 86. (B) 87. (C) 88. (A) 89. (B) 90. (A)

 91. (B) 92. (D) 93. (A) 94. (C) 95. (D)

 96. (B) 97. (D) 98. (B) 99. (A) 100. (A)

 101. (B) 102. (A) 103. (D) 104. (B) 105. (A)

 106. (B) 107. (B) 108. (C) 109. (A) 110. (C) 

 111. (B) 112. (A) 113. (B) 114. (C) 115. (B) 

 116. (B) 117. (B) 118. (C) 119. (D) 120. (C) 

 121. (D) 122. (B) 123. (C) 124. (A) 125. (B) 

 126. (A) 127. (D) 128. (D) 129. (B) 130. (C) 

 131. (B) 132. (A) 133. (C) 134. (A) 135. (D)

 136. (B) 137. (C) 138. (B) 139. (A) 140. (C)

 141. (D) 142. (A) 143. (C) 144. (C) 145. (A)

 146. (B) 147. (B) 148. (B) 149. (C) 150. (A)

 151. (B) 152. (C) 153. (D) 154. (B) 155. (B)

 156. (D) 157. (B) 158. (B) 159. (C) 160. (A)

 161. (B) 162. (B) 163. (C) 164. (D) 165. (A)

 166. (A) 167. (D) 168. (A) 169. (A) 170. (A)

 171. (C) 172. (A) 173. (B) 174. (B) 175. (B)

 176. (A) 177. (A) 178. (C) 179. (C) 180. (D)

 181. (D) 182. (B) 183. (C) 184. (C) 185. (A)

 186. (B) 187. (A) 188. (C) 189. (B) 190. (B)

 191. (C) 192. (C) 193. (D) 194. (B) 195. (D)

 196. (B) 197. (D) 198. (D) 199. (B) 200. (D)

 201. (C) 202. (B) 203. (D) 204. (B) 205. (C)

 206. (A) 207. (A) 208. (C) 209. (B) 210. (D)

 211. (B) 212. (B) 213. (C) 214. (C) 215. (A)

 216. (A) 217. (D)218. (A) 219. (D) 220. (D)

 221. (C)

qq


